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ABSTRA(T
THIS PROGRAM TESTS THE LSI-1 2AS NSTRUCTION SET

IC 1
IN A.L MODES. THE DJAGNOSTIC IS DESIGNED TO RUN UNDER
BOTH APT. AND A(T. SYSTEMS

REQUIREMENTS

EQUIPMENT

Loi=11 STANDARD (OMPUTER
AND 4< OF MEMORY

STORAGE
PROGRAM STORAGE = THE ROUTINES USE MEMORY 0 - 17500

PREL IMINARY PROGRAMS
NONE

LOADING PROCEDURE
USE STANDARD PROCEDURL FOR ABS TAPES.

STARTING PROCEDURE

STARTING ADDRESS

AFTER [QADING THE PROGRAM IT SHOULD ALWAYS BE STARTED AT 200.

IF 1T IS DESIRED TO SAVE THE PASS COUNTER THEN CLEAR THE

LOCATION $TFSTN [1.E. LOCATION 102] AND RESTART FROM 450 OTVHERWISE
THE PROGRAM (AN BE RESTARTED AT 200. IF IT IS DESIRED TO GO YO A TEST
OTHER THAN TEST # O THEN PLALE THE TEST NUMBER IN LOCATION STESTN
AND RESTAR™ THE PROGRAM AT 450, IN WHICH CASE THE PROGRAM WILL HALT
Al LOCATION 464 AND wiLL wAll FOR THE OPERATOR Ty PLACE THE

STARTING ADDRESS Of THE DESIRED TEST IN PC {(R7) AND TYPE A &,

SEQ 00L?
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PROGRA¥ AND/OR OPERATOR A(TION

OLACE LTC SWITCH IN OFF POSITION.

L OAD PROGRAM INTO MEMORY USING ABS LOADER.

TVPE 200G [ THERE ARE NO SWITCH SETTINGS AND THIS DIAGNOSTIC

DOES NOT USE SOFTWARE SWITCH LOCATION $SWREG ]

&) THE PROGRAM WILL LOOP AND "END PASS'' WILL BE TYPED AFTER
THE FIRST PASS AND THEN EVERY 377 PASSES. HOWEVER TYPE OUT
WILL BE SUPPRESSED IF BIT 5 OF LOCATION SENVM [S HIGH

S) A MINIMUM OF TWO PASSES SHOULD ALWAYS BE RUN.

AN -2
N Nt

UPERATING PROCEDURE

OPERAT ING MODE :

AN 8 BIT BYTE $ENWM [].E. LOCATION 117] HAS BEEN USED TO DEF INE
THE OPERATING MODE. ALL TYPEOUTS (AN BE SUPPRESSED BY MAKING
BTEA?ISL B:éE $ENVM HIGH, IN OTHER WORDS BY PLACING A 20000 IN
LJ 11€.

TRAP (ATCHER

A ''.+2"" = "MALT'' SEQUENCE IS REPEATED FROM 0-776 TO CATCH
ANY UNEXPECTED TRAPS, THUS ANY UNEXPECTED TRAPS OR
INTERRUPTS WILL HALT AT THE VE"TOR +2.

ERRORS

ERRGR REPORTING

ON FINDING AN ERROR THE PROCESSOR WILL COME TO A HALT AFTER
PLACING THE ERROR NUMBER IN LOCATION S$FATAL [I.E. LOCATION 1001].
IN MOST CASES THE COMMENTS BESIDES THE MALTS TELL WHAT WAS BEING
CHECKED. IN SOME CASES THE TEST CAN GE™ TO A HALT VIA 2 WAYS:

") WRONG TEST SEQUENCE
2) ERROR IN ACTUAL TEST

WHEN A HAL™ DOES OCZUR IT 15 RECOMMENDED THAT THE TEST SEQUENCE
JOCATION [1.E. LOCATION 1027 BE CHECKED TO VERIFY THAT IT MATCHES
THE PRESENT TEST NUMBER. IF IT DOESN'T, THEN THE HALT OCCURED
RECAUSE THE TEST SEQUENCE WAS NOT CORRECT OTHERWISE THE WALT I5

D F "O AN ERROR IN THE TEST,

SEQ 000«
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CYKAAC.P11 09-0{"-78 OB SEQ 00C
gg% €.2 ERROR RECOVERY
582 RESTART AT 200 OR 450 (SEE SEC &4.1)
206
207 7. RESTRICT IONS
208
209 NONE
210
21
21%
21 2. MISCE_LANEOUS
214
25
26
Szg 2, EXECUTION TIME
216 EXECUTION TIME OF THE DIAGNQSTIC IS LESS THAN A SECOND, FIRST
229 "END PASS'® WILL BE TYPED QUT WITHIN A SECOND AND EVERY COSECUTIVE
gs; "END PASS'* WILL BE TYPED OUT WITHIN 20 SECONDS (SEE SEC 4.2)

wHEN RUNNING UNDER APT I[N A SCRIPT, THE FIRST PASS RUN TIME
AND SUBSEQUENT PASS RUN TIMES ARE ONE (1) SECOND.

g.¢ STACr POINTER
STACK 1S INITIALLY SET TG 450

§.3 PASS (OUNT

A 16 BIT LOTATION "$PASS'' (I.E. LOCATION 104) IS USED TO KEEP
PASS COUNT. IT CAN BE CLEARED BY RESTARTING THE PROGRAM AT 200

8.4 TEST NUMBER

A 16 BIT LOCATION "STES™M'' (]1.E. LOCATION 102) IS USED TO KEEP TRACK
OF THE TEST NUMBER, UPPER BYTE OF THIS _OCATION GIVES THE ITERATION
NUMBER AND "HE LOWER BYTE THE TEST THAT WAS BEING EXECUTED

8.5 POWER FAIL

THE D]AGNOSTIC CAN BE POWER +AILED WITH NO ERRORS. TO USE,

START THE CIAGNOST.( AS LSUAL AND POWER DOWN THEN UP AT ANY TIME.
THE PROGRAM SHOULD TYPE ‘POWER'' AND RESTART AT 450 WITH TEST &
HOWEVER THE DJAGNOSTIC wiLL NOT RECOVER IF IT [S STORED IN A
MEMORY NOT CAPABLE OF HOLDING DATA WITH POWER DOWN

«. FROGRAM DESCRIPTION
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258
253 TH]S PROGRAM TESTS ALL THE BASIC INSTRUCTIONS OF THE LSI=11 (EXCEPT
26C TRAF-TYPE) WHICH INCLUDES CONTROL CHIP, DATA (HIP, MICROMS, PLA,
2¢! AND OTHER CIRCUJTRY ON THE LSI=11 CPU MODULE. TRAP DIAGNOSTIC
262 SHOULD &L SO BE RUN ~U MAKE SURE THAT THE BASIC LSI=11 IS FUNCTIONAL
2e? THi> DIAGNOSTIC DOES NOT MAKE A PASS WITH T-BIT SET.
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263 :; LSI=11 MACRO INSTRUCTION EXERCISER
270 NLIST MC,MD,CND
221 LLIST  ME

27; LTITLE  CVKAAC

;*COPYRIGHT (() 1975, 1978
276 :*DIGITAL EQUIPMENT CORP.
275 'MAYNARD MASS. 01754

277 E-DROGRAM BY PERVEZ ZAKI
j-r~1s PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC
28C : +PATKAGE (MAINDEC~ -11=DZQAC-C3), JAN 19, 1977.

28¢ L S'N-
283 e . $SWR-16000C ;:“ALT ON ERROK, LOOP ON TEST, INHIBIT ERROR TYPQUT
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.=0

;;tttﬁ...t.itttttﬁttt'.’.".'itttﬁtttt.lttﬁtltt'lttittﬁttttQ‘tttt'

LSRTTL  ACT11 HOOKS

TRAP CATCHERS OF .+2 AND HALT IN LOCATIONS O THRU 776 [T IS NLISTED]

. 'Q’t!..t..ﬁl’iﬁttt‘tﬁt!t'ili.'tﬁﬁﬁt‘ﬁ‘ﬁt.iti'ittt.itttl’itl"tt'Qtt

THOOKS REQUIRED BY ACT11

$SVP(=.
. =46
$ENDAD
.=52
.WORD
. $SV3(

. 76

TKAA{  MATY'1 30A(1052)
O ANAAL P 09=-0r1=78 08:58

Al

291

55

53

0%

29¢

297

298

295

300 Q010 ¢

301 0000Le,

302 (0C04E Q74734

303 C'OOD&:

304 000052 C00000

305 0C* 000

30¢

307

208

309

110

211

312

213

314

315

316

117

318

319 000G76

320 000000

221 000001

122 000002

323 000003

224 000004

3¢5 000005

324 000006

327 000006

328 000007

226 000254

3% 000001

=N 000260

LEN 000263

277 000273

3¢ Q00000

57 000004

0

:SAVE PC
::13SET LOC.46 TO ADDRESS OF SENC -0 IN .$tOP

;c2)SET LOC.52 TO ZERO
;s RESTORE PC

SEQ 000k
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APT MAILRBOX-E"ABLE SEQ 0009

.SBTTL APT MAILBOX-ETABLE

N 'ttt.'tt'itttttiﬁi“t‘t't'lt'.ﬁﬁ“...'t..i'it"tt.Iit.ttt!iQtttnn.t‘tttt TN

.EVEN

SMSGTY: .WORD  AMSGTY ;;MESSAGE TYPE CODE

$FATAL: .WORD AFATAL ;:FATAL ERROR NUMBER

STESTN: .WORD  ATESTN ;TEST NUMBER

$PASS: .WORD  APASS ; ;PASS COUNT

$OEVCT: .WORD  ADEVCT ;;DEVICE COUNT

SUNIT: .WORD AUNIT ;2170 UNIT NUMBER

$MSGAD: .WORD AMSGAD ; :MESSAGE ADDRESS

$MSGLG: .WORD AMSGLG :;MESSAGE LENGTH

$ETABLE: ;;APT ENVIRONMENY TABLE
SENV: BYTE AENV ::ENVIRONMENT BYTE

$ENVM: _BYTE AENVM : :ENVIRONMENT MODE BITS
SSWREG: .WORD ASWREG ;;APT SWITCHY REGISTER

SUSWR: .WORD AUSWR :JUSER SWITCHES

$CPUOP: .WORD ACPUQP ;;CPU TYPE,OPTIONS

M BITS 15-11=CPU TYPE
11/04=01,11/05-02.,11/20=03,11/460=04,11/45=05
11/70=06,PD0=07,0-10

M BIT 10=RCAL TIME CLOCK

.t B1T 9=FLOATING POINT PROCESSOR
o ® BIT B-MEMORY MANAGEMENT
$ETEND:

MEXIT

.SRTTL APT PARAMETER BLCOCK

. 'ﬁ'ttﬁ*l’ttttQ*‘t.ttitiiiittttti**ttt'.i‘i‘ttittttt'titttttﬁt't'l'ltttttt.ttt

:SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
Lt L e bttt b A LA R AL AL LSS AL S bbb bbb bbbk
LX=. ::SAVE (URRENT LOCATION
=24 ::SET POWER FAIL TO POINT TO START OF PROGRAM
200 ;;FOR APY START UP
.=béb ;:POINT TO APT INDJRECT ADDRESS PNTR.
$APTHDR ;;POINT TQ APT HEADER BLO(K
.= 8X ;2RESET LOCATION COUNTER
R T T b et b idababeeilalainfaiafaluiuialeibialuinfabiidiobedioiiisiiniahobialab bbb
:SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=-PDP11 DIAGNOSTIC
; INTERFACE SPEC.

$APTHD:

$HIRTS: .WORD 0 ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

$MBADR: .WORD MATL : :ADDRESS OF APT MAILBOX (BITS 0-15;

$TSTM:  _WORD 1 ::RUN TIM GF LONGEST TEST

$PASTM: WORD 17 ::RUN TIME éN SECS. OF 1ST PASS ON ' UNIT (QUICK VERIFY)
SONITM: _WORD <:ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADD: TIONAL UNITY

LWORD  SEEND=$MAIL/? ;: ENGTH MAILBOX-ETABLE (WORDS)
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000126
000130
000132
000134
000136
000140
000142
000144
000146
000150
000152
000160

000166
000174

000176

000020
000022

CO0* 26
100730
000132
000134
00013¢
000149
000142
000144
177564
177566
006402
005015
050040

005015
000122

000023
006020

017004
000000

09-0(1-78 08:59 PAGE 11

MARKZ :
064246460 T4 "€ ENDPAS:
051501 Q00123

067520 042527 POWER:

APT PARAMETER BLOCK

~SAPTHD
ADR:
.=ADR+?
ADR1:
.=ADR1+?2

ADRZ:
.=ADR2+2

DUMMY :

2
<15><12>'" END PASS''
<15><12>/POWER/

‘BLkW  19.

; OUTPUT TTY STATUS REGISTER
; OULTPUT BUFFER

SEQ 0010
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P V9~0C"=-78 08:58 STARTING OF THE PROGRAM SEQ 001"

:STARTING OF THE PROGRAM

TO START AT THE PROPER TEST NUMBER

00200 .=200
000200 012;37 016754 000024 MOV #PWRDN , a# 24 . SERVICE POWER DOWN ROUTINE ON ANY FUTURE POWER DOWN
000206 012700 5001'¢ MOV #SETABLE ,RO
000212 005040 2%: (LR -(R0) :START CLEANING THE STACK
000214 020027 00076 (MP RO, #SMA]L :FOR INITIALIZATION
000220 107374 BHI 2%
000222 0001¢7 GJ022¢ IJMP START

000450 . 450
000450 012706 000450 START: MOV #START,SP : SET THE STACK POINTER
000454 012705 000102 MOV #STESTN,RS : PLACE THE ADDRESS OF LOCATION STESTN IN RS
000460 005715 TST (RS) : CHECK THE SEQUENCE COUNTER
000462 001401 BEG NOBI™ : IF THIS IS THE STARTING OF THE TEST THEN

: GO TO NOBIT TEST

000464 000000 HALT : OTHERWISE HALT AND WAIT FOR THE OPERATOR




CJRAAL
T AAC

462
6463
L44
L45
L6
447
(48
649
450
451
452
£5%
&5

455
456
457
498
LH9
460
L6

MAT v
P11

2838388388s
FRIER

g
ViV AWV

WNh
ERNSE RO RRS

2

QOO
8383

=lele
VLV V)
AN UNANAN
oo

000544
000544
000550
00055¢

301(1052)
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021527 00000C
061017
005215

000001

000001

00000«
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CHECK BRANCH INSTRUCTIONS WITH ZERO CONDITION (ODES

M1

"ttt"...Ittttt.tt.Qﬁt‘ttittitﬁittttﬁtt.tt.ttittitttﬁtt'tltt..t't.ttlQt..t.'

CHECK BRANCH INSTRUCTIONS WITH ZERQ (ONDITION CODES

E;TEST: 0

::tttttlttitit..ﬁﬁtl‘**ﬁ'*iitiiiiﬁt'tﬁt*.tt'tt‘i'ttittttttt‘tttltttt'ﬁ"ttt.!

NOBI " :

1%:

CCO:

P
BNE
INC
CcC
BCS
BYS
BEQ
BM]
NOP1
BCS
BVS
BEQ
8MI]
BLT
B.E
BLOS
BHI

MOV
INC
HALT

ENDCLO: BVC

(RS) ,#0
cCo
(RS)

CAIIIENCID YNV
CICYICIOITYTY Y
OOV OOOO OO0OO00O

C
ENDCCO

#1,-(R5)
~-{(R5)

NBIT

IF IN WRONG SEQUENCE GO TO HALT AT END OF THE TEST
ZERQ CONDITION CODES, NZv(=0000

- (HECK NOP1 INSTRULCTION ].E. OP-{ODE 260

- ONE OF THE AROVE BRANCHES FAILED OR WRONG SEQUENCE

-'t'i*tlﬁt*ttttttﬁﬂtttit‘*i*tt*titt*t'ttttﬁtttﬁi*tttttttttitttﬁttﬁlttttttt*tt

CHECK BRANCH INSRUCTIONS WITH N BIT SET

SwTEST: 1

;:ttilttt*t*titiﬁ******it*i*‘*ii*Q*QQtt'ttﬁt*i*ttttt*t**ttttitiitt*tlt'ittt"

NBIT:

1%:

c:

CMP
BNE
INC
SEN
BPL
BEQ
BGE
BGY
BCS
BLOS
BLO
BLE

MOV
INC
HALT

ENDI(Y: BNE

(RS) ,#1

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THETEST

; NBIT IS SET, NZv(C=1000

ONE OF THE ABOVE BRANCHES FAILED OR WRONG SEQUEN(E

SEQ 0012
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¢ /AAC, P11 09=-0CT1-78 08:58 12 CHECK BRANCH INSRUCTIONS wITH NRV BITS SET SEQ 0013
1,93 ;:ttttﬁttttttttttttttttttttttttittttttttttttttt'tttttttttl'ttttttttlttttttttt
494 -«TEST: 2 CHECK BRANCH INSRUCTIONS W]ITH Ngv BITS SET
‘.95 ‘-:ttttttttttttttttttttt'tttttttttttttttttttttttttttiti!tt"‘t'ttttttt'ttttttt
496
497 000k vBIT1:
498 000610 (021527 00000 (MP (RS) ,#2
499 Q00614 001014 BNE cce - IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
500 000616 005215 B ¥ INC (RS)
501 000620 000270 SEN
502 000622 000262 SEV : V AND N BIT SET, N7/C - 1010
503 000624 102010 BV( cc2
506 000626 001407 BEQ cce
505 0006 100006 BPL cce
506 000632 103405 BCS cce
507 000634 002404 8L cce
508 000636 (03403 BLE cce
SO% 000640 101402 BLOS “Ce
51G 000642 103401 BLO cce
511 000644 003004 RGT ENDCC2
512 000646 Ce:
513 000646 012745 000003 MOV #3,-RS)
514 000652 005245 INC -(RS)
515 000654 000000 HAL T : ONE OF THE ABOVE BRANCHES FAILED OR WRONG S JUENCE
516 000656 002000 ENDCC2: BGE (RIT
2
519 ::ttttt*tttt'tt*ttttttt*tttttwttt*ttﬁttttttttttwiittttttit*t*tt‘iitttttiitttt
520 :«TEST: 3 (HECK BRANCH INSRUCTIONS WITH N,V&( BITS SET
52“ :'-tttlttttttk**l’tttttttitttttttt ttttttttttttttitttttttttitttttttttttttﬁtttttt
522
52% 000660 (BIT:
524 000660 021527 000003 MP (R5) ,#3
525 000664 001013 BNE €z s IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
526 000666 005215 1%: INC (R5®
527 000670 000270 SEN
528 000672 000267 SEV
509 000674 000261 SEC : (, V, AND N BITS ARE SET, NZv(=1011
530 000676 001406 BEQ cC3
531 000700 100005 BPL €c3
532 0007202 102004 8v( CC3
53¢ 000704 002403 BLT €C3
53¢ 000706 003402 BLE €C3
%5 000710 101001 BHI (3
57¢, 000712 002004 BGE IBIT
55 000714 €c3:
538 (000214 012745 000004 MOV #4 , -(RS)
39 000720 005245 INC -(R5"
540 000722 000000 HAL T ; UNt OF THE ABOVE BRANCHMES FAILED
! : OR WRONG SEQUEN(E
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(UKAAC.P1T 09-0CT-78 08:58 CHECK BRANCH INSRUCTIONS WITH N,Z,VEC BITS SET SEQ 0014
5,2 :;ttttttttttttttttttttttttttttﬂtttttttttttttt‘Qttitttttiitttttttttttt.tQQtttt
543 S*TEST: & CHECK BRANCH INSRUCTIONS WITH N,Z,VEBC BITS SET
544 ;:ttttttttttﬁttttttttttttttttﬁttttﬁttﬁtttttttttttttﬁttt'ﬁt‘tii‘tt!ttitittttﬁt
545
546 000724 Bl1:

5647 000724 021527 000004 (mP (R5) ,#4

568 0007 001015 BNE CCé : IF IN WRONG SEQUENLE GO TO HLT AT THE END OF THE TEST
549 000732 005215 INC (RS

550 000734 000270 SEN

551 000736 000262 SEV

552 000740 000261 SEC

553 000742 000264 SEZ ; ALL BITS SET, NZv(=1111

554 000744 001007 BNE e

555 000746 100006 8PL CCé

556 000750 102005 Bv({ CCé

557 000752 103004 BCC cCé4

558 000754 002403 BLT “Cé

559 000756 003002 BGT CCé

560 000760 101001 BHI CC4

561 000762 001404 BEQ YESCC

562 000764 (La:

563 000764 012745 000005 MOV #5,=-(RS>

564 000770 005245 INC -(RS)

565 000772 000000 HAL T ; ONE OF THE ABOVE BRANCHES FAILED

566 ; OR WRONG SEQUENCE

57

568

569 e L T R R R R R AR SR L A A L Lt bletoteiabiodoboldodoloiooodofoloiufdololoiuialolniuialndalnioloiiloi
570 ;*'e3T7: 5 CHECK BRANCH INSRUCTIONS WITH ALL THE CONDITION (ODES SET
YA :;tttttttl*ltttt.t.tttit'ttttﬁtﬁttttttttttttttﬁﬁtttttﬁt'titttittititttt.ﬁtitt
572

573 000774 YESCC:

574 000774 021527 000005 (MP (RS) ,#5

575 001000 001014 BNE Cce ; IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
576 001002 005215 INC (RS)

577 001004 000277 SCC : NZC-T

578 00100¢ 100011 BPL cco

579 001010 001010 BNE cco

580 001012 102007 Bv( €%

581 001014 103006 8C( €5

582 001016 000240 NOP ; CHECK NOP INSTRUCTION

587 00102C 100004 BPL {5

586 001022 001003 BNE (6

585 001024 102002 BVl ccé

58¢ 001026 103001 BCC (6

587 001030 101604 BLOS NCT(f

<88 (01032 ((6:

580 001032 012745 00000¢ MOV #6,='R5)

590 001036 005245 INC =(R5)

£8* 00060 000000 HAL ' ; (. Ok A BRANCH FAJ ED, OR WRONG SEQUENCE
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562

593

594

595

596 001042

567 001042 021527
€98 001046 001012
599 001050 005215
600 001052 000277
601 001054 000241
602 001056 103407
603 001060 000247
604 001062 102405
605 007064 0002446
606 001066 001403
607 001070 000250
608 001072 1004G1
609 001076 101004
610 001076

611 001076 012745
612 001102 005245
613 001106 Q00000
614 001106 100000
615

A€

617

618

619

620

621

622 001110

623 001110 (21527
626 001114 001404
625 001116 012745
026 001122 005245
627 001124 000000
628 001126 005215
629 001130 000416
530 001132 012745
631 001136 005245
63 00114C 000000
2,3, 00171l 000404
3% 00 w6 012745
=S 201150 005245
o3~ 0)i'52 000000
37 W I8¢ 00417
I8 Jul18¢ Q12745
0¥ 001162 0.5245
¢ udited 00000
bt (=6 N00765
a2 0OC1 0 012745
%3 U0 7« 005245
rae 00776 000000
~ S 01200 000400

08:58

000006

000007

00006~
000010

000011

000012

000013

000014

09-0(T-"8 08:59 PAGE 16
:5 16 CLEAR THE CONDITION (ODES

¢ 2

SEQ 0015

"ttt’tti..ttﬁitt‘i'ﬁti“tt.!ltttttﬁtttttttiﬁt‘ﬁk!‘titttittttQt'ﬁ..‘it..t'iil

CLEAR THE CONDITION CODES

::tt-titttﬁﬁt‘ttitiittttitﬁt‘tt‘.iti'ttttttttttt‘t‘tt‘ititi.tt.'.i.'..t‘.ltt‘

LATEST: 6

NOT{ :
c(MP
BNE
INC
SCC
CLC
B{S
rLy
BVS
Lz
BEQ
CLN
8M]
BH]

MOV
INC
HALT
END((CS5: BPL

CC5:

(R5) ,#6
cC5
(RS)
ccS
€C5
€S

“C5
ENDCC5

#7,-(R5S)
-(R5)}

BRANCH

-

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

; NZvC-1111
; NZv(=1110

; NZV(=1100
; NZv(=1000
; NZv(=0000

: ONE OF THE ABOVE CLEARS FAILED OR WRONG SFOUENCE

"t*itft“tttttittttitttittﬁtt**!iﬁtiit*tttti*t*t**k*tt*tﬁttttttittttti'iit‘t

CHECK FORWARD AND BACKWARD BRANCHES.

SRTEST: 7

BRAN(CH:
(MP
BEQ
MOV
INC
HALT
*$: INC
BR
MOV
INC
HALT
’%: B8R
MOV
INC
RALT
1%: BR
MOV
INC
HALT
L% BR
MOV
INC
HALT
£s: 8R

(RS) &7
1%
#10,~(R5)
-(RS)

(RS)
4%

#11, (RS}
-(RS)

33
#12,-(RS)
-(R5)

5%
#13,-(RS)
-(Rk5)

2%
#14 «(RS
-(RE)

M=

';l‘*..iﬁtﬁt.ttt*ittiﬁtttt"ttﬁ‘ttiit**t*ttttiﬁﬁtﬁi'ttﬁi‘ﬁitﬁﬁﬁit.'itQ'tiitqt

L

'
: IF IN WRONG SEQUENCE GO TO HLT !
. CHECK BRANCH FORWARD AND BA(KWARD
: FORWARD BRANCH FAJLED
: FORWARD BRANCH FAILED
; FORWARD BRANCH FAILED

; BACKWARD BRANCH FAILED




D ¢
( JXAAC  MACY1T 304(1052) 09-0(T-78 08:5? CAGE 17

( /RAAC.PT 09-0C =78 0B:58 10 CHECK JMP INSTRUCTIONS FOR MODE 1 SEQ 0016
&6 .':ttttttttlttttttttttttttttittttttttﬁttttﬁ“ttttlttttttt*ttttQ.tﬁttlttttttti'
647 ;aTEST: 1C CHECK JMP INSTRUCTIONS FOR MODE 1
&.8 '-'-tttttttttttttttttttttititiﬁ'tttttitttt*tttttﬁtttttQtttttttttttttt.tttt...ti
649
650 00102 MR ;

651 001202 (21527 00001C cMP (RS) ,#10

652 001206 001032 . BNE ENDJUP1 s IF IN WRONG SEQUENCE GO TO HALT AT THE END OF THE TEST
653 001210 005215 1%: INC (RS)

654 001212 012700 00123%2 MOV #2%,R0O : TEST JUMP INSTRUCTION MODE 1

655 001216 000277 SCC

656 001220 000110 JMP (RO)

657 001222 012745 0COC1S MOV #15,-(RS)

€58 001226 005245 INC -(R5)

659 001230 000000 HALT ; JUMP INSTRUCTION FAILED

660 001232 2%:

661 001232 100003 BPL 3$

662 001236 001002 BNE 3¢

663 001236 102001 BV( ¢

664 001240 103404 BCS 4t

665 001242 3%

066 001242 012745 000016 MOV #16,~(R5)

667 001246 005245 INC -(R5)

668 001250 000000 HAL T : WRONG CC

669 001252 020027 001232 4%: CMP RO, 4#2%

670 001256 001404 BEC 5% ; CONTINUE IF RO IS OK

671 001260 012745 000017 MOY #17,-(RS)

672 001264 005245 INC -(R5)

673 001266 000000 HAL T

674 001270 012700 001306 5¢: MOV #JMP2 RO : TEST JUMP INSTRUCTION MODE 1

675 001274 000110 JMP (RO)

676 001276 ENDJPT :

677 001276 012745 000020 MOV #20,~(R5}

678 001302 005245 INC -(rS)

ggg 0013G4 000000 HALT : JUMP INSTRUCTION FAILED OR WRONG SEQUENCE
&£81

68) ;;ittttttttttttlttttttttttttttttitl-tt'ttttttttttt*ttttttttttttttttttttttttttt
683 ;«TEST: 1 rHECK JMP INSTRUCTIONS FOR MODES 2 AND 3

68(. ;;ttttttttt-ttttittttﬁtltttttttt'ititttttttttttt!ttttt’ttttittttttttttttttt't
685

686 001306 IMPY ;

687 (01306 021527 00001° cMP (RS) &1

688 001312 001073 B8NE ENDUP3 : IF IN WRONG SEQUENCE CO TO HALT AT THE END OF TEST
689 001314 005215 INC (R]5)

690 001316 012700 001336 MOV #3$.R0 ; TEST JUMP INSTRUCTION MODE 2

691 001322 000277 <CC

692 001324 000120 MP (RQ)+

693 001326 012745 000021 MOV 827 =(RS)

694 001332 005245 INC -(R5)

695 00133 000000 HALT : JUMP INSTRUCTION FAILED

9% 001336 3%:

697 001336 100003 BPL 4%

698 00130 001002 BNE 4%

699 00132 102001 BV’ 4%

7200 00°34 103406 B( S 55

707 00 3¢ «$:




MACY?1 30A(1052)
78 08:58

P11

SRS

srnooon O

Pl ol o F ol ofF SN oF & 8 N
WIWANNONY —

Y
o

442

2333223835 333383333338

o3

— ok
Pl L o8
(UL IV 7 o
o0

001462

09-0CT=~

012745
005245
000000
020027
001406
012745
005245
000000
012700
000120
012745

005245
000000

012767
012767
012700

012790
000130

012745
005245
000000

E 2

C9=-0C7-78 O08: 59 PAGE 18

000022

V01340
000023

001472
000024

00144¢€
007466
000136

000025

000000
00006

001512
000134

000027

006G*2

176442

CHECK JMP INSTRUCTIONS FOR MODES 2 AND 3
MOV #22,-(R5)

INC -(RS)

HAL T : WRONG
5% g?g no #3842 ;IS THERE ALTO INC.?

MOV x23 -(RS)

INC -(R5)

HAL T . MODE 2 FAILED FOR JMP INSTRUCTION
6%: MOV #JMP3,R0 * TEST JUMP INSTRUCTION MODE 2

JMP (RO) +

MOV #24 ,-(RS)

INC -(R5)

HAL T . JUMP INSTRUCTION FAILED
JMP3: MOV #3%. TEMP : TEST JUMP INSTRUCTION MODE 3

MOV #4% . TEMP+2 :

MOV #TEMP,RO

SCC

JMP A(R0)+ :

MOV #25,-(R5)

INC -(R5)

HAL T : JUMP INSTRUCTION FAILED
b1 ¥ g?g acRo> 4% > 1S THERE AUTO INC.?

MOV 496 -(RS)

INC -(R%)

HAL T : JMP INSTRUCTION FAILED IN MODE 2
4%: MOV #JMP4 , TEMP Y TEST JUMP INSTRUCTION MODE 3

MOV #TEMP,RO

JMP (RO) +
ENDJPS3:

MOV #27 .~ (RS}

INC -{R%)

HAL T . JUMP ERROR OR WRONG SEQUENCE

SEQ 0017




CvCAAC
CVKAAC

740

745
766

MACY'1 30A(1052)

LN

VALV ARV TV TV, LU, W LV IV LV
WNLAINORUNR) — —
OO

— e el iy D D e D ed bl =) —d el D D i i e D e e wd b
O ONON AT VT A UTWLUWN
SyDCrﬂ\rv8$>0wnunﬁ:~bd\:}g

S OO0NNOONNIOSNO SN0

8838 8832883333538 83353333383

09=-0(T~78 08:58

021527

012745
005245

000000
022700
001404
012745
005245
000000
012700
000140
012745
005245
000000

012767
012700
012767
000150
012745
005245
000000

012745
005245
000000
022700
001404
012745
005245
000000
012767
0°2700
012767
000750

013745
005245
(000000

000012

001544

0C0030

000031

001542
000032

001672
000033

001642
000140
00652

000034

000035

000136
000636

001642
000140
G01722

000037

09-0(T1-78 08:5? PAGE 19

176322
176306

176242
176226

T12

F 2
TEST _UMP INSTRUCTION FOR MODE 4, 5

SEQ 001k

* 't"t..tt.tl*"'tﬁtt“tt‘iiitﬁttttk*itﬁtiﬁttttt'ﬁttttttttttttt."ttt.tii.'ttt

TEST JUMP INSTRUCTION FOR MODE 4, 5

:"ttitttttttttttﬁ*"tttﬁﬁ‘it*t“.i“ttt*ttﬁttttiltlit*kttt'tttttttttt..-tii..'i

TRTEST: 12

IJMPS :
(MP
BNE
INC
MOV
SCC
JMP
MOV
INC
HALT
BR

MOV
NC
HALT
4% (MP
BEQ
MOV
INC
HALT
5%: MOV
_MP
MOV
INC
HALT

MOV
MOV
MOV
JMP
MOV
INC
HALT

MOV
INC
HALT
4%: CMP
BEQ
MOV
INC
HALT
5%: MOV
MOV
MOV
JMP

MCv
INC
HALT

3%

JMPS :

\5-
PR

ENDJPS:

(R5) M2
ENDJPS
(RS)

#3% ,RO

-(R0O)
#30,-(R5)
-(R5)

4%

431,-(R5)
=(R5)

#3%$-2,R0
$

5
#32.-(RS)
-(R5)

RIMPS+2 RO
-(R0Q)
#33,-(RS)
-(R5)

#3%,TEMPY
STEMPT RO
NeS , TEMP1=2
a-(R0)

#34 ,-(R5S®
-(R5)

#35,~(RS)
-(RS)
#TEMP1=2 RO

5%
#36,-(RS5)
-(R%)

+#3%, TEMP
#TEMP1 RO

#JIAP6E, TEMPI =2

a~(R0O)

#37 . =(R5)
- (RS

LX)

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

: TEST JUMP INSTRUCTION MODE 4

JUMP INSTRUCTION FAILED
JUMP SHOULD LAND HERE

NO AUTC DECREMENT FROM JMP4
CHECK RO

TEST JUMP [NSTRUCTION MODE -
JUMP INSTRUCT]ION FAILED
TEST JUMP INSTRUCTION MOD. 5
JUMP INSTRUCTION FAILED

ERROR, NO AUTQO DECREMENT
(HECK RO

JUMP ONSTRUCTION FAILED IN MODE 5
TEST JUMP INSTRUCTION MODE 5

: JJMP ERROR OR WRONG SEQUENCE

::Ott"Q‘i""".ﬁﬂ.ﬁt..'!'l.‘iltr....‘.....l“......"‘.""l.‘..‘.".t."..
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P

838883883388
NN

002022
002024

09-0C7-78 08:5? PAGE

09-yr 1-78 08:58

021527
001071
005215
012703

000060

000167
012745
005245
000000
012703
000163
012745
005245
000000

012703
012713
000173
012745
005245
000000
012713
012700
000170
012745
005245
000000
012767
012700
000170

012745
005245
000C00

000013

001760
177772

200040

001760
000041

000010
000042

0020¢4
000000
000043

000136
002050
00000C
000044

002074
000132
000004
000045

002122
000136
000000

000046

176C34

113
;«TEST:

6 2
20
TEST JMP INSTRUCTION FOR MODE 6 AND 7
13 TEST JMP INSTRUCTION FOR MODE 6 AND 7

SEQ 0019

.'."ﬁtt!ttttlttttttl’tttﬁﬁtttittttﬁtlttﬁ.ﬁ'iﬁ‘ittttttﬁttttlttlt.ttttttttilQQ..I
v

JMP6:

1%:

2%:

7%:

IMP7:

1%

%

ENDIPTY :

MP
BNE
It
MOV
JMP
MOV
INC
HALT
(MP
BEQ
MOv
INC
HALT

JMP
MOV
INC
HALT
MOV
JMP
MOV
INC
HALT

MOV
MOV
JMP
MOV
INC
HALT
MOV
MOV
JMP
MOV
INC
HALT
MOV
MOV
JMP

MOV
INC
HA_T

(R5) ,#13
ENDJP7
(RS)
#18+6,R3
-6(R3%)
#40,-(RS)
-(RS)

R3, #18+6

2%
#41,-(RS)
-(R5)

3$-.~4(PO)
#42,-(R5)
-(RS)

#IMP7 R3
0(R3)
#43,-(RS)
-(R5)

#TEMP R3
#1$, (R3)
(R
#44 - (R5)
-(R5)

#3$, (R3)
#TEMP-4 RO
a4 (RO)
#45,=(R5)
-(RS)

#ISRTST, TEMP
#TEMP R
30 (RO)

#46,-(RS)
-(R§

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

; JUMP INSTRUCTION FAJLED
; (HECK R3

: WRONG VALUE IN REGISTER AFTER JUMP MODE 6
: OR JUMP INSTRUCTION FAILED IN MODE 6
; TEST JUMP [NSTRUCTION MODE 6

; JUMP INSTRUCTION FAJLED

; JUMP SHOULD LAND HERE

; JUMP INSTRUCTION FAI{ED

: JUMP INSTRUCTION FAILED
: TEST JUMP INSTRUCTION MODE 7

; JUMP INSTRUCTION FAILED
: CONTINUE

: JUMP ERROR OR SEQUENCE ERRCR




JXAA(C

MACY1 30A(105 )

r /KAAC.P1Y

002202
007202
002206
002210
002212
002216
002229
002224
002226
002230

J023e(

09=0C 1-7

000000

00003
001002
102001
103404

012745
005245
000000
022706
001404
012745
005245
000000
022716
001404
012745
005245
000000

012716
000207
012745
005245

012745
005245
000000

08:58

00014

00045C
000026
0C0047

000450
000050

000051

000446
000052

002144
00005%

002154
200054

175642
175634
17564¢€
000130

000055

09-0(1-78 O08: 59‘ PAGE 21

H 2
CHECK JSR AND MARK INSTRUCTIONS

SEQ 0020

.'.'....i.t."lttttt.it."ii.ii‘t."ll.'tt.ttiitttttttt'ttt.ttttiitt'i't.l’..

CHECK JSR AND MARK INSTRUCTIONS

tﬁt".ﬁ"ﬁtt'..'lﬁ.Iﬁt‘l't"ititttt‘ttllﬁ..’!litiittit'tttﬂtlt.tt.tllttlit"ﬁ‘

tTEST 14

JSRIST:
(MP

BA\F
IN,
MUV
SC(
JSR

MOV
INC
HALT
2%: CMP
BEQ
MO
INC
HALT

BPL
BNE
Bv(
B(S

MOV
INC
HALT
5%: (MP
8EQ
MOV
INC
HALT
6% CMP
BEQ
MOV
INC
HALT

7¢: MOV
RTS
MOV
INC
HALT

JSRIM: MOV
MOV
MOV
MOV
MOV
JSR

MoV
INC
HALT

's:

3%:

4%:

1¢:

(R5) ,#714

#START,SP
PC,3%

#47,-(R5)
-(R5)

#START SP
!50 -(R5)
-(c5)

4%
L%
4%
5%

#51,-(R5)
-(R5)

#START=2,SP

5%
#52,-(R5>
-{(R5)

#1$,(SP)
7%

#53 ,~(R5)
-(R5)
2%, (SP)

PC
¥54 -(RS)
-(RS)

R5,=(SP)
DUMMY =(5P)

#55,~(R5}
-(R5)

:+ IF IN WRONG SEQUENCE GO TO HALT AT THE END OF THE TEST
: SET UP STACK POINTER.

: JSR INSTRUCTION FAILED
: HAS SP BEEN RESTORED?

: S© WAS NOT RESTORED BY RTS INSTRUCTION

; WRONG (
. WAS THE SP EFFECTED?

: WRONG SP AFTER EXECUTION OF JSR INSTRUCTION
: 1S THE RETURN ADDRESS =1%

; SP DID NOT HAVE CORRECT RETURN ADDRESS
; AFTER EXECUTION OF JSR INSTRUCTION
: SET 2% AS THE RETURN ADDRESS

; RTS INSTRUCTION FAILED
: MOV RS TO STA(K

; STORE MARK 2 ON THE STA(K,
: SAVE K5 IN R3

SR INSTRUCTION FAILED




MACY1T 30A(1052)

L1

002374
002400
002402
002402
002406
002410
002412
002416
002420

002422
002426
002430
0024 34
002436

002440
0024446
002446
002452
002454
002456
002460

002500
002502

202506
002510
002514
002516
002520
202524

09-0CT-78 08:58

100003
001002
102001
103404

012743
005243

000000
022705
001404
012763
005243
000C 0
022/ V6
001404
012745
005245
000000
012701
004011

012745
005245
000000
012745
0052« .
000000

022706
001443
012745
C0O5245
00000C

020427
001404
012745
005245
000000
010605
005725
012716
000277

020027

001404
012745
005265

000000
012700
000200

000056

0001GC2
000057

000659
000060

002502

000061

000062

000450
000063

002310
000064

002320

000065

002402

00006¢

002422

09-0(7-78 08:5‘1?4 PAGE

T

3%:

4L%:

5%:

6%:
7%:

8%:

10%:

1°$:

12%:

1’$:

22

CHECK JSR AND MARK INSTRUCTIONS

8PL
BNE
8v(
8CS

MOV
INC
HAL T
mP
BEQ
MOV
INC

HAL T

HAL T
TST
RTS
MOV
INC
HAL
(0
BEQ

INC
HALT

HTC

I

#56,-(R3)
-(R%)

#gTESTN,RS

5
#57,-(R3)
-(R%

#START,SP

6%
#60,-(RS)
-(R5)

#1°% R
RO, (R1)

#61,=(RS)
-(RS)

#62,-(R5S)
-(R5)

#START, SP
REGS
#63,-(RS)
-(rRS)

R4, 41$
11§

#64 ,-(RS)
-(R5)

SP,RS
(R§)+
#2%, (SP)

R5
#65 ,~(RS)
-(R5?

RO, #7%
138
#66,-(R5)
-(R5)

#c¢ RO
~C

; WRONG C(

; MARK INSRUCTION FAILED

; MARK INSTRUCTION FAILED
: PLACE THE ADDRESS OF 12% IN R1
: GO TO TAG 12%

; JSR INSTRUCTION FAILED

- RTS BROUGHT THE PROGRAM BA(K IN WRONG
; PLACE

: STACK POINTER WAS NOT RESFT
: 1S THE RETURN ADDRESS -1% ?

: WRONG RETURN ADDRESS IN UNKAGE REGISTER R4

: SET UP ADDRESS IN RS AT MARK 2 INSTRUCTION
; SET RETURN ADDRESS =2%

: RETURN USING RS AND IN=TURN USING MARK INSTRUCTION

; RTS INSTRUCTION FAILED
- DOES RO (ONTAIN THE RETURN ADDRESS?

; JRONG RETURN ADDRESS IN o INKAGE REGISTEW RO
: SFT RETURN ADDRESS AT 8%

SEQ 0021




MACYTT 30A(1052)

LN

Q0s35e

012745
005245
0G000¢

22222229
PONOPONY

82
(alaV
3
&

060006
060106
060206
060306
060406
060506
022706
001003
016706
000406
016706

012745
005245
000000

09-0CT-78 08:59 PAGE
09-0. =78 08:58 1

000067

000627
175310
176302
000G70

114
ENDJSR:

23

J 2

CHECK JSR AND MARK INSTRUCTJONS SEQ 0022
MOV #67,-(RS)

INC -(R5)

HAL T : RTS INSTRUCTION FAILED OR SEQUENCE ERROR

- 'tttttt*ttit't‘.'ti‘iitiiit‘.'ﬁﬁtt't.tttttttttlﬁtit.tl‘tt.!ttttl‘ttttttt'i...ﬁ

CHECK REGISTER SELECTION

SwTEST:

REGS:

EREGS:

15

C
BNE
INC
MOV
MOV
MOV
MOV
MOV
MOV
(LR
ADD
ADD
ADD
ADD
ADD
ADD
(MP
BNE
MoV
BR
MoV

MOV
INC
HALT

(RS) ,#15
EREGS
(RS)

R6, TEMP
#1 ,R0O

#4 R
#20,R2
#100,R3
#L50,R6
R6
RO,RS
R1.R6
R2.R6
R3,R6

R4 ,R6
RS .Rb
1§TESTN**25.R6
TEMP R6
TSTRO
TEMP,R6

#70,-(RS)
-(RE)

':'tili.tttttttt‘ti..tiitittiiiﬁtti‘ﬁ".t‘ttttttttttttﬁtt.ﬁttttilittiﬁ.'ttl’"

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

SAVE THE STA(CK PQINTER
LOAD THE REGISTERS

ADD UP THE REGISTERS

(HECK IT

FAILED

RESTORE STACK POINTER
CONT INUE

RFSTORE STACK POINTER

REGISTER SELECTION FAJLURE OR SEQUENCE ERROR
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P11

002720
002720
002724
002726
002730
002732
002736
002742
002746
002750
002754
002756
002760
002764
002766
002770
002774
002776
003000
003002
003004
003010
003012
003014
uC3020

00-0(T1-78

021527
001404
012745
005245
000000
005215
000277
105000
004737
105700
004737
112701
004737
10570
004737

021527
00105°
005215
000277
152702
004737
122702
0014OH
012745
005245
000000
112700
120002

09-0C1-78 08:
08:58

200016
080071

017150
017150
000377
01723

017236

000017

000377
017256
000377
000072
000077

000073

00007«

200377
0037~

K 2
59 PAGE 24
CHECK BYTE INSTRUCTIONS, DESTINATION MODE O ONLY

CHECK BYTE INSTRUCTIONS, DESTINATION MODE O ONLY

"tttttt*tttttttttt*t*t*t*ttttiiﬁttitittttttt*tittiﬁii’ltttlttitttttttt't!t!Q

SeTEST: 16 NEW INSTRUCTIONS USED IN THIS SECTION ARE TSTB, (LRB, MuvB

;;ttttttﬁtitt***tkt*tttttttttiiitittktttttttt*t*ttittttttt*tﬁiitttttttttttttt

TSTRO:

cMP (RS) 416

BEQ 2% . IF [N WRONG SEQUENCE GO TO HLT BELOW

MOV #71,-(RS)

INC -(R5)

HAL T : PROGRAM IS IN WRONG SEQUENCE
2%: é?g (RS)

CLRB RO : CLEAR THE REGISTER

JSR PC,aNsCCl * CHECK FOR CC = 4

TSTB  RC * CHECK IT

JSR PC,ars(Cé * CHECK FOR (C = 4

MOVB  #377.R1 : LOAD THE REGISTER

JSR PC,aNsCC10 * CHECK FOR CC = 10

ISTR R : CHECK 17

JSR PC.aNsCC10 " CHECK FOR (£ = 10
:;tt*ltttttitttttttttt**tﬁ‘t*ttiiiitttttt**tttttﬁ!tttttittttttittﬁ'tlﬁtttt!tt
LeTEST: 17 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MPB, BISB

::'!itﬁtttttttt*tﬁﬁﬁiﬁiiiiiiitiﬁittQt!tititti*tittt*tt!tttttttttttttittttttt.

(MPBO:

CMP (RS) 417

BNE ECMPR0 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1$: é?% (RS)

BISB  #377.RZ . LOAD REGISTER

JSR PC,a#8(C11 T CHECK FOR CC = M

(MPB  #3P7.R? * CHECK COMPARE

BEO 2% . CONTINUE IF OK

MOV 872.,~(R%)

INC -(R5)

HAL T : BISB OR CMPB INSTRUCTION FAILED
2¢: MOVB  #77,R0

(MPB  RO,R2 : CHECK 1T AGAIN

BPL 3¢ * CONTINUE IF O

MOV #73,-(RS5)

INC -(RS)

HALT . (MPB INSTRUCTION FAILED [WRONG ((]
3% (MPB  R2.RO © ONCE MORE

BM] 4% * CONTINUE IF OK

MOV 874~ (A )

INC -(R5) ,

HAL T ) ; CMPB INSTRUCTION FAILED [WRONG (17
L1: MOVR  #277,R2 * L0AD REGISTER, SIGN EXTEND

‘MPR  #377.R2 * C(HECK IF BYTE INSTRU(TION




r KAAL MACY'1 30A(1052)

C /AAC.PTT

1062 003024
104 0030%6
1044 Q03032
1045 003034
1046 003036
1047 Q03042
1048 003046
1049 003050
1050 00305C
1057 003054

00305¢

W
O

09-0CT1~78 08:58

0014604
012745
0052645

000000
112702
120227
001404

012745
005245
0oCCO(

000075

000377
000377

006076

09-0C1-78 08:59_ PAGE
I

T

.8

ECMPR(:

25

L 2

NEwW INSTRUCTIONS USED IN THIS SECTION ARE (MPB, BISB

BEQ
MOV
INC
HALT
Mova

5$ ; CONTINUE IF OK
#75,-(RS)
-(R5)

: CMPB BECAME (MP INSTRUCTION
#377.R2 * LOAD REGISTER, SIGN EXTEND
R2,#%77 * CHECK IF BYTE INSTRUCTION
81 CRO * CONTINUE IF OK
#76.,~(RS)
-(R5)

; WRONG CC OR WRONG SEQUENCE

SEG 0LZG
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. vKAAC MACYTT 304.10G5¢) 09-0CT=-78 08:59 PAGE 26

CURAAC.PTT 09-0" r~78 08:58 120 NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(B, BITB SEQ 0025

053% ;:ttttttttttttttttttttttttttttttttttttttttttttttﬁﬁttttttttttttttttttttt!ttttt
1054 s«TEST: 20 NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(B, BIT8B
1055 ::ttt.ttttttttttttttttttt*ttttttttttttttttttttttﬁtlttttttttt'ittttttttttttttt
1056

1057 003060 ‘ BICED:

1058 003060 (21527 000020 (MP (R5) ,#20

1059 003064 Q01404 BEQ 2% ; IF IN WRONG SEQUENCE GO TO HLT BELOW
1060 00 012745 000077 MOV #77 ,~(R5)

1067 003072 005245 INC =R

1062 003074 000000 HALT ; PROGRAM IS IN WRONG SEQUENCE

1063 003076 005215 2%: INC (RS)

1064 003100 112703 Q00277 MOVB #377 .R3 ; LOAD REGISTER

1065 003104 112700 000252 MOVB #252,R0 ; PLACE #252 IN RO

1066 003110 000277 oCC

1067 003112 140003 BICB RO,R3 ; CLEAR EVERY OTHER BIT

1068 003114 004737 017066 JSR PC,a4%((1 ; CHECK FOR CC =1

1069 00312y 130003 B1TR RQ,R3 ; CHECK IT

1070 003122 007,04 8E0 48 ; CONTINUE [F OK

1071 003124 012745 000100 MOV #100,-(R5)

1072 003130 005245 INC -(R5)

1073 003132 0000C0 HAL T ; BICB OR BITB INSTRUCTION FAILED

1074 0031364 132703 000125 3 ¥ BITB #125,R3 ; CHECK IT

1075 003140 004737 017066 JSR PC,a¥8C(1 ; CHECK FOR (C = 1

1076 003144 150003 B]SB RO,R3 ; SET ThE BI1S THAT WERE CLEARED

1077 003146 100404 BMI 6%

1078 003150 Q12745 000101 MOV #101,-(R5)

1079 003154 005245 INC -(R5)

1080 003156 000000 HALT ; BISB INSTRUCTION FAILED

1081 003160 142703 000177 6%: BICB #177 ,R3 ; CLEAR ALL THE BITS EXCEPT FOR SIGN

1082 003164 004737 017256 JSR PC,a#$C (11 : (HECK FOR CC = 1

1083 003170 132703 000377 BITA 4377 ,R3 : CHECK IT

1832 003174 004737 017256 JSR PC,a#8C("" ; CHECK FOR CC - M

1086

1087

1088 ;;ttttitttttttttttttttttttttttttttttttitittttttittiﬁttt*it!tttttttttttttttt't

1089 .*TEST: 21 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DE(B
1090 :;*ttttttttttttttttt*tttttitttttttttttttttt*ti'tk*tttttttttttttt*tttttttttwtt
1091

1092 003260 INCBO:

1093 003200 021527 000021 CMP (R5) 421

1094 003204 001404 BEQ 1% ; IF IN WRONG SEQUENCE GO TO HLi

1095 003206 012745 000102 MOV #102,-(R5)

109¢ 003212 005245 INC -(R5)

1097 003214 Q00000 HALT ; PROGRAM IS IN WRONG SEQUENCE

1094 003216 005215 1%: INC (RS)

1099 (003220 112704 000177 MOVR #177,R4 ; R6 - 177

1100 003224 009261 SEC

1101 003226 105204 INCB R4 : ADD ONES INTO REG. &

1102 003c30 004737 Q17320 JSR PC a#8C(13 . CHECY FOR CC = 13

103 003234 112704 000376 MOVB  #376.R4

1106 003240 105¢04 INCB R4

T105 003242 004737 017256 JSR PC,a#8C("1 ; (HE(K FOR (C = 17

‘106 003246 105204 INCB Ré4

107 003250 04737 017172 JSR F..oa8(05 ; (HECK FOR CC = 5

T8 00308 0504 INCB R4
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CJCAAC  MACY11 30A(1052) 09-0CT-78 08:59 PAGE 27
r KAAL P11 09~0( T=78 08:58 121 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DECB SEQ 0026
1109 003256 004737 017066 JSR PC,aasCC1 : CHECK FOR CC = 1
1119 003262 122704 000007 (MPB  #1.R4 * CHECK IT
1111 Q03266 (001404 8EC 2% : CONTINUE IF OK
1112 003270 012745 000103 MOV #103,~(RS)
1113 003274 005245 INC ~-(RS)
1114 003276 000000 HALT : INCB INSTRUCTION FAILED
1115 003300 000261 2% : SEC
1116 003302 105304 DE(CB R& : SUBTRACT ONES FROM REG. 4
1117 003304 004737 017172 JSR PC,a#$CCS * CHECK FOR CC = S
1118 003310 105304 DECR  Ré
1119 003312 004737 17256 JSR PC.o#$CC11 : CHECK FOR CC = 11
1120 003316 012706 000200 MOV #200.R4
1121 003322 105304 ) DECR R4
1122 003324 004737 Q1712% JSR PC,a#$((C3 ; CHECK FOR CC = 3
103 003330 105304 DECR  R&
1124 003330 0(4727 C1706€ ,$R PC, a1 : CHECK FOR CC = 1
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122 NEW INSTRUCTION IN THIS SECTION IS (OMB

09-0(T=-78 08:58

021527
001404
012745

N01404

000022
000104

000252
017066
000" 2%
000105

017256
000252

000106

000377

01717¢

000023

000001

017256
000377

000107

000200

017320
30020

8 3

--ttttttQtttttttttttttttﬁtttttttﬁttttttttttttttttttttttnQttitt~tttt---ntttttt

NEW INSTRUCTION IN THIS SECTION IS (OMB

;:tttﬁttﬁﬁittﬁltttt*t**tt'ttttﬁﬁ‘t"ttti*tiittitittlttﬁttiiltttti'tttt"ttttt

TRTEST: 22

(oMB0:
cMP
BEQ
MOV
INC

HALT

1%: INC

MovAa

SCC

COMB

JSR

CMPB

8EQ
MOV
INC

HALT

% SCC

coMB

<SR

(MP

BEQ
MOV
INC

HALT

3t MOV
SCC

comB

JSR

(RS) 422

1%
#104.-(R5)
-(R5)

(RS)
#252.R3
R3
PC,aN8((C1
#125,R3
°$

#105,-(R5.
-(25)

R3
PC,a#$CC11
pgéz,nz

3
#106,-(R5)
-(R5)

#3777 ,R3

R3
PC,a¥$C(5

; IF IN WRONG SEQUENCE GO TO HLT

PROGRAM IS IN WRONG SEQUENCE
LOAD EVERY OTHER BIT

1'S COMPLEMENT

CHECK FOR CC - 1

CHECK IT

CONTINUE IF OK

COMB INSTRUCTION FAILED
COMPLEMENT BA(K

C(HECK FOR CC = T

CHECK IT
CONTINUE IF OK

COMB INSTRUCTION FAILED

CHECK FOR (C = 5

"'tt"tw'tttkﬁ*ﬁ'Qtl‘ﬁt'i'fﬁiﬁﬁlfitttttﬁtt'**tittttﬁtt'tttt‘it“t“tti'itt't

NEW INSTRUCTION IN THIS SECTION IS NEGB

:;ittittt*tt't*tttttt*itltttttttﬁiQtt'tttiﬁtt*lﬁtﬁﬁ“tt'ttittitttttﬁtﬁt'it"'

TRTEST: 23

NEGRO:
CMP
BNE
1%: INC

MOVB
NEGB

JSR

(MPR

BEY
MOV
INC

HALT

’%: MCv

NEGR

'SR

(MPR

BEG

(RS) 423
ENEGRO
(RS)

#1,RC

RO
PC,a¥$CC1?
#377 R0

’$
#157,-'RS:
-{R5)

#200,R(
RO
PC,aN8C(135

# A0, RC
oL BE

B, Wy B e,

SEQ 0027

IF IN WRONG SEQUENCE GO TO HLT AT THF END OF THE TEST

LOAD THE REGISTER
2'S COMPLEMENT
(HECK FOR CC = 11
(HECK 7

(ONTINUE [F OK

NEGB INSTRUCTION FAILED

2'S COMPLEMENT
(HECK FOR (C 13
(HECK |T

CONTINUE [Ff Ok




c 3
r AAL MACY'1 30A(°052) Q7-0(T1-78 08:59 PAGE 29

r NAAC.P11  08-0CT1-78 08:58 123 NEW INSTRUCTION IN THIS SECTION IS NEGB SEQ 0028
18" 003532 ENEGBO:
118, 003532 012745 000110 MOV #110,~(RS)
1183 00353 105245 INC ~(R5)
1184 004N FL000¢ HAL T : WRONG RESULT IN RO OR WRONG SEQUENCE
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CVRAAC  MACY!T 30A(1052) 09-0(T-78 08:59 PAGE 30

CYKAAC.P11  09-0(T-78 08:58 124 NEW INSTRUCTION IN THIS SECTION IS ROLB SEQ 0029
1188 ;:tttttttltttttttttttttttttitlttttttttttttttt.tttttttttttttttttttt-tttlttttit
1186 ;*TEST: 24 NEW INSTRUCTION IN THIS SECTION IS RULB
1187 ;:tttttttttttttttttttttttttt!ttttttttttttnttt‘tQttttttttttttttttttttttttttttt
1188
1189 0035472 ROLBO:

1190 003542 021527 000024 (MP (R5) 424

1191 003546 00102¢ BNE ERQOLRO : IF IN WRONG SEQUENCE GO TO WLT AT THE END OF THE TEST
1192 003550 005215 INC (R5)

1193 003552 112701 000040 MOVB #40,R1 ; LOAD REGISTER

1194 003556 000257 ccce ; CLEAR FLAGS

1195 003560 106101 ROLB R1 ; SHIFT

1196 0063562 106101 ROLB R1 ;

1197 003564 004737 917300 JSR PC,a#$CC12 . CHECK FOR CC = 12

1198 003570 122701 000200 (e #200,R1 : CHECK IT

1199 003574 001404 BEOQ 1% ; CONTINUE IF OK

1200 Q03576 012745 000711 MOV #111,-(R5)

1201 003602 005245 INC -(R5)

1202 003604 000000 HAL T ; ROLB INSTRUCTION FAILED

1203 003606 106101 1%: ROLB R1 ; SHIFT

1204 003610 004737 017214 JSR PC,a#$(CC7 ; CHECK FOR (CC = 7

1205 003614 106101 ROLB R1 s SHIFT

1206 003616 122701 000001 CMPB #1,R1 ; CHECK [T

1207 003622 001404 8EC RORBO . CONTINUE IF OK

1208 003624 EROLBO:

1209 003624 012745 000172 MOV #112,-(R5)

1210 003630 005245 INC ~-(R5)

151; 003632 000000 HALT : WRONG RESULT IN R1 OR WRONG SEQUENCE
1213

1214 ;:tttttttttttttttttttttiitttit!t*tlittttt*tttttttttttttttttittttttttttttitttt
1215 ;*TEST: 25 NEW INSTRUCTION IN THIS SECTION IS RORB

1216 ;:tﬁtttttttittttttttttttt!tttiiit&titttttttttttitttttttittttttttttttttttttttt
1017

1218 003634 RORRO:

1219 003634 021527 000025 CMP (R5) 425

1220 003640 001026 BNE ERORBC : iF IN WRONG SEQUENCE GO TO WiLT AT THE END OF THE TEST
1221 003642 005215 INC (R5)

1222 003644 112702 000004 MOVB #4 R2 s LCAD REGISTER

1223 003650 000257 g9 ; CLEAR FLAGS

1226 003652 106002 RORB R2 : SHIFT

1225 003654 106002 RORB RZ :

1226 003656 122702 0000C! (MP8 #1,R2 ; CHECK IT

1227 003662 001404 BEQ 1% ; CONTINUE IF OK

1228 003664 012745 0001173 MOV #113,-(RS)

1229 003670 005245 INC -(RS}

1230 003672 000000 HALT ; RORB INSTRUCTION FAJLED

1231 003674 106002 1%: RORR RZ ; SHIfFTY

1232 003676 004737 01724 JSR PC,ans(C7 . CHECK FOR (C = 7

1233 003702 106002 RORB  R2 . SHIFT

123 003704 004737 017300 JSR PC,aN$(("2 ; CHECY FOR (C = 2

1235 003710 122702 000200 cmes #200,R2 : CHECK IT

123 003714 001404 BEQ  ASLRD : CONTINUE [F Ok

1237 003716 ERORRO:

238 003716 012745 000114 L Y #1714 ,=(RS,

1239 003722 005265 INC -.75)

1260 003724 000000 CLTI
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MACY'1 30A(°052) 09-0(T-78 08:59 PAGE 31
PN 09-0(1-78 08:58 126 NEW INSTRUCTION IN THIS SECTION IS ASLB SEQ 0030

--tttttttttttttttttttttttttttttttttﬁﬁttttﬁtttttttttttt-ttttt.t.wowtnttttttttt

STEST: 26 NEW INSTRUCTION IN THIS SECTION 1S ASLB

;;tttttttttttttt.tttt*tttttttt!ttttttlttttttttttttittttttttltttnt.ﬁ.‘ttttt'tt

003726 ASLRO :

003726 021527 000026 (MP (RS) ,#26

003732 001404 8EQ 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW

003734 0712745 000115 MOV #115,-(RS)

003740 005245 INC -(R5)

003742 Q00000 HALT : PROGRAM IS IN WRONG SEQUENCE

003744 005215 2% : INC (RS)

003746 112703 00004C MOVB #40,R3 : LOAD REGISTER

003752 000257 cce * CLEAR FLAGS

003754 106303 ASLB  R3 L SHIFT

003756 106303 ASLB  R3 ;

003760 004737 017300 +SR PC,aN8(C12 : CHECK FOR CC - 12

003764 12273 000200 ctmes #200,R3 * CHECK IT

003770 001404 BEQ 4$ * CONTINUE If OK

003772 012745 000116 MOV #1:6,-(RS)

003776 005245 INC -(RS)

004000 0 HALT : ASLB INSTRUCTION FAJLED

004002 106303 o$: ASLB  R3 * SHIFT

004004 004737 017214 JSR PC.,ansCC? * CHECK FOR CC = 7

004010 106303 ASLR R3 : SHIFT

004012 004737 (Q1775¢C JSR PC,a#$(C4 : CHECK FOR CC = 4
:.-ttt't.tt!tt’itittttttttt*ttttlttttt*tt*ttﬁttt&ttttttttttttttttttttttt!tnttt
;*TEST: 27 NEW INSTRUCTION IN THIS SECTION IS ASRB
."-tttttttttt'tttttttttttttttttt&ttttittttttt*tttttttttttttttttttttttttt'tt'tt

004016 . ASRBO:

006016 021527 000027 CMP (RS),#27

004022 001034 BNE EASRRO : 1F IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

006024 005215 1% INC (RS"

004026 112704 000004 MOvVB #4 R4 ; LOAD REGISTER

004032 000257 (ccC ; CLEAR FLAGS

004034 106204 ASRRB R4 > SHIFT

004036 106204 ASRB R4 :

006040 122704 000001 CMPB  #1.Ré P OCHECK IT

004044 001404 BEQ 2$ 1 CONTINUE IF OK

006046 012745 000117 MOV #117,-(R5)

004052 005245 INC -(RS)

004054 000000 HAL T : ASRB [NSTRUCTION FAILED

0046056 106204 2%: ASRB R4 ; SHIFT

004060 004737 017274 JSR PC,aNs (7 * CHECK FOR (C = 7

A04L0646 106204 ASRB Ré4 ; SHIFTY

006066 004737 017150 J5R PC,a¥$CC4 1 CHECK FOR (C - &

004072 112703 000202 move  #202.R3 * LOAD REGISTER

006076 106203 ASRB  R3 * SHIFT

004100 106203 ASRB  R3 :

006102 004737 0172%6 JSR PC,a#$CC" : CHECK FOR CC - "1

004106 122703 000340 tmPB  #340,R3 . CHECK 1T

004112 001404 . BEQ ADCB0 © CONTINUE IF Ok

004114 £ ASRAL :

006114 012745 000120 MOV 8°20,=(R5)

006120 005245 INI -(R5}
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CYKAAC MACY1 30A(105 ) 09-0(7-78 08: 59 PAGE 3¢
CYKAAC,. P11 09=-0C =78 08:58 127 NEW INSTRUCTION IN THIS SL TION IS ASRB SEQ 00%

1297 006122 (GO0 HAL T
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004256
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004270
004272
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09-0(T-78 08:58

021527
001404
012745
005245
000000
005215
105000
000257
105500
004737
00026 1
1055G0
000261
105500
004737
122700
001404
012745
005245

—ld ) md
23828

WONI N
NN
WOWNO —
N == N =

00003C
000121

0171590

017046
000002
000122
000177
017300
000200
000123
000377

017172

000031
000124

000003

077046

09=0CT=-78 08:59 PAGE 33
: 130

G 3

NEW INSTRUCTION iN THIS SECTION IS AD(B

"'ﬁit.tlttﬁﬁiﬁ'ttlt.‘titttttﬁt.ttﬁ.‘ﬁtttttttiitttttittt&tﬁtttttt!tttttttt..t

NEW INSTRUCTION IN THIS SECTION IS AD(B

::‘ttttttttﬁﬁttti'ttt*ittititttﬁiQﬁilﬁii*itt*ttittttttttttQtiQtt'wtttittt.t't

SRTEST: 30

AD(CRO:

{MP
BEOQ
MOV
INC

HALT

2%: INC

CLRAB

cCC

AD(CB

JSR
SEC

AD(CB

SEC

ADCB

JSR

CMPR

BEQ
MOV
INC

HALT
4% MOVR

SEC

ADCR

JSR

CMPR

BEQ
Mov
INC

HALT
6%: MOVB

SEC

ADCR

JSR

(RS) 430

2%
#121,~(R5)
-(RS)

(RS)

RO

RO
PC.a#8CC4
R0

RC
PC,a48CC0
#2.RO

L%

# 7,-(RS)
-(K5)

#177 .,RO

RO
PC,a#$CC12
#200,R0

6%
#123,-(RS)
-(R5)

#377 RO

RO
PC,a#8CC5

Ve Ve Wy Ve NN,y N,

: IF IN WRONG SEQUENCE GO TO HLT BELOW

PROGRAM IS IN WRONG SEQUENCE

CLEAR THE REGISTER
CLEAR FLAGS

ADD C BIT O
EH%CK FOR CC = 4
ADD C BIT-1

C=1

GAIN

(HECK FOR CC - O
CHECK IT

CONTINUE IF OK

ADCB INSTRUCTION FAILED
IEO?D LARGEST POSITVE NUMBER
ADD C BIT=1

(HECK FOR CC = 12

CHECK IT

CONTINUE IF OK

ADCB INSTRUCTION FAILED
LOAD =i

=1

ADD € BIT=1

CHECK FOR CC - 5

--ittttttittlt'tﬁ.t!*tttt.itt*ﬁﬁ*ﬁ*ﬁﬁ‘*‘*itttttttti*ﬁ*kﬁittttitttit*tttttt'tt

NEW INSTRUCTION IN THIS SECTION IS SB(B

::ttittt"i*.*'tittitttiﬁii**ti‘tii**t*‘*ﬁtt.i*tttttti*ttttt*tttiitit‘tttti.i

E;'ESY: N

SB(RO:
(MP
BEQ
MOV
INC
HAL
1%: INC

MOVB

cCC

SB(A

ISK

(RS),#31
1%

#1c6 ,-(RS®
-(R%)

(RS)

#3,R1

R
PC,ans(

[F IN WRONG SEQUENCF GO TO HLT BELOW

PROGRAM IS IN WRONG SEQUENCE
TEST IS IN WRONG SEQUENCE
LOAD REGISTER

CLEAR FLAGS

SUBTRA(T C BIT=0

CHECK FOR CC O

SEQ 0032
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122701

000003
700125

217046
0C0001

000126

17150
017256
000377
000127
000200

7706

T3

2%:

1%

4%:

34

CMPB
8EQ
MOV
INC
HALTY
SEC
SB(B
SEC
SB(R
JSR
{MPB
BEQ
MOV
INC
HALT
SEC
SBCR
JSR
SEC
SR(R
JSR
CMPR
BEQ
MOV
INC
HAL T
MOVR
SEC
SB(R
JSR

H 3
NEW INSTRUCTION IN THIS

#3.P1

2%
#125,-(RS)
-(R5)

R1

R1
PC,a#$CC0
#1.R

3%
#126,-(R5)
~-(R5)

1
PC,ads$CC4
R1
PC.ar$CCT"
#377 .R1

48
#127,-(RS)
~(R5)

#200 ,R?

R1
P, an8C(2

SECTION IS SB(B

CHECK [T
CONTINUE IF OK

gsgs INSTRUCTION FAILED
gﬁ?rnAcr C BIT=1

CHECK FIR CC = O
CHECK IT
CONTINUE IF OK

SB%B INSTRUCTION FAILED

(=

SUBTRACT C BIT=1
EH%CK FOR CC = 4
SUBTRACT € BIT =1
CHECK FOR CC = 11
CHECK IT

CONTINUE IF OK

SBCR INSTRUCTION FAILED
LOAD R1
SUBTRACT ¢ 8I

=1
CHECK FOR (C = ¢

SEQ 0033




CvKAAC MACY1) SOA(‘IOSE')

CVKAAC,.PTT

004434
G044 36
00~ ¢40
004442
004446
004450
004452
004454
004456
004460
004464
004466
004472
004476
004500
004504
004506
004512
004514
004516
004522
004524
004526
004530
006532

09-0(T-78

021527
001404
012745
005245

021527
001126
005¢15
012700
050002
004737
027002
001404
012745
005245
00G000

09-0CT-78 08:59 PAGE 35
08:58 CHECK WORD INSTRUCTIONS, DESTINATION MODE O ONLY SEQ 003«

000032
00030

017150

017150
177777

G17236
017236

000131

0124634

000033

177777
017236

00013¢

I 3

(HECK WCRD INSTRUCTIONS DESTINATION MODE O ONLY

. tttttttiittiit**ﬁtttﬁ“'itttti**ttttﬁ‘ﬂtﬁtttttitttt*tﬁtttttlt!t'ttttttttttt

TeTEST:

32

NEW INSTRUCTIONS USED IN THIS SECTION ARE TST, (LR, MOV

. tttttttttttt‘*il*ﬁttt*ti‘ittl*ttiiiittt*ttitﬁ'ttttttttt.ttttt*ttti"tt"ttt

TSTO:

Qs:

2%:

(MP
BEQ
MOV
INC
HALT
INC
SCC
(LR
JSR
TST
JSR
MOV
MOV
JSR
ST
JSR
(MP
BEQ
MoV
INC
HALT
SEV(
MOV
JSR

(R5) ,#32
1 : IF IN WRONG SEQUENCE GO TO HLT
#130,-(RS)
-(RS)
. TEST IS IN WRONG SEQUENCE
(RS)
RO : CLEAR THE REGISTER
PC,aNs(C4 > CHECK FOR CC =
RO : CHECK IT
PC,aN$C (4 > CHECK FOR ({ = 4
51?5:77 R&4 * LOAD THE REGISTER
PC.a#sCC10 : CHECK FOR CC = 10
R1 : (HECK IT
PC,a#$CC10 * CHECK FOR CC - 10
94 ‘R * CHECK R1 TO CONTAIN PROPER DATA
#131 -(R%)
-(RS)
: SET v & C BITS
RO,RO
PC.$CC5

- t*ttlﬁtt't'ilt'iiﬁttﬁ*t'*tttittt*ttit*tt'tiltit**ttt*tttt*tttt*t!itt!it**t*

-TEST

33

NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS

ﬁttttttitttttl**“i‘i.iﬁitttﬁQ‘Qtﬁtﬁiili'tﬁttﬁt*ttt*t**t“t*tttttfitttttttt

{MP( :

1%:

{MP
BNE
INC
MOV
BIS
JSR
cMP
BEQ
MoV
INC

HA[ T

(RS) ,#33

Eg@fo - IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
#177777 ,R0 ; LOAD REGISTER

RO,R? ; CHECY THE BIS INSTRUCTION

PC.a4$CC10 ; CHECK FOR (C 10

RO.R2 : CHECK COMPARE

2% ; CONTINUE IF Ok

#132,-(RS)

-P5)

; BIS OR CMP INSTRUCTION FAILED




JAR  MACYTY 3GAC1052)
09-0(1-78 08:58

r.xaaC P

640
AR
1442
1443
1444
1445
1646
1447
4648
14469
1450

006574
600

022702
* 00004

012745
005245

G00000
020227
100404
012745

005265
0GOCO0

09-0

000077
700133

000077

000" 34

(1=-78 0B:59_ PAGE 36
133

2%:

3$:
ECMPO:

J 3

NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS

(mP
8PL
MOV
INC
HALT

BMI
MOV

INC
HAL T

877 ,R2

33
#133,-(R5)
-(RS)

R2 ,A77
BICO

213 ,-(RS)
-{(RS)

; CHECK IT AGAIN
; CONTINUE IF Ok

: (MP INSTRUCTION FAILED [WRONG (C]
; ONCE MORE
: CONTINUE IF OK

; WRONG (C OR WRONG SEQUENCE

SEQ 0035




CVRKAAC
CVKAAC.P1?

1651
1452
1453
1454

1455 004630
1456 004630
1457 006634
1458 004636
1459 004640
1660 004644
1461 004650
1462 004654
1467 004656
1464 0046660
1465 006664

1466

004
1467 0064670
1468 004674
1463 004676
1470 004700
1471 0C4704
1472 004710
1473 0046716
1474 004716
1475 Q04722
1476 Q04724
1477 004726
1478 004732
1479 004736
1480 004742
1481 004744
1482 004750
1483 004752

MACY11 30A(105

09=-0( 1=/

100404
012745
005245
000000
042703
004737
012700
030603
004737
000263
040000
004737
005700
001404

012745
005245
0G000C

2)
8

08:58

077777
017256
177777

017256

017172

000137

09-0C1-78 08:59 PAGE 37
134

K 3

NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC(, BIT

- "tiﬂtt.l.t-tttttt'ttl‘ﬁ'..t"itﬁiitﬁ't.'tﬁ!tti'ti‘iitttti*Q*litﬁt'.t.ttttt..t

NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(, BIT

;:ttttittttﬁtQittiliittiiitt.ttﬁi."iti.titi*tﬁl‘&l’ltﬁ‘itii“ﬁtt.t.t-tt.tlnttt

STEST: 34

BICO:

BNE
INC
MOV
MOV
MOV
SCC
BIC
+SR
BIT
BEC
MoV
INC

HALT

%: BIT
JSR
BIS
BM]
MOV
INC

HAL T

2%: BIC
JSR
MOV
BIT
JSR

SEV(

BIC
JSR
TST
BEQ

MOV
INC

ERICO:

HALT

(RS) ,#34
EBICO

(RS)
#177777 ,R3
#TEMP RO

#125252. (RO)

(RO) ,R3
PC,aN$(C1
(RO) ,R3
1%
#135,-(R5)
-(R5)

#52525,R3
PC,8CC1
x;észse.ns

2
#136,-(R5)
-(R5

#7?7/77 R3
PC,a#$C{" 1
#177777 ,RC
RO,R3

PC, a8

RO,RO
PC,M8((CS
RO

INCO

#137,-(RS)
«(RS)

TR TPRETYRE

IF IN WRONG SEQUENCE GO TO HLT ABOVE

LOAD REGISTER
PLACE THE ADDRESS OF LOCATION TEMP [N RO
SET (RO)

CLEAR EVERY OTHER BIT
(HECK FOR CC = 1
CHECK IT

CONTINUE [F OK

BIC OR BIT INSTRUCTION FAILED
CHECK IT

CHECK FOR CC = 1

SET THE BITS THAT WERE CLEARED
CONTINUE IF OK

BIT OR B8!S INSTRUCTION FAILED
CLEAR ALL THE BITS EXCEPT FOR SION
(HECK FOR (C

CHECK IT
CHE(K F
SET v &

CHECK CC =
CHE(K RO TC CONTAIN O

n
-l
ot

BIC FAILED OR SEQUENCE ERROR

SEQ 003¢




L 3

CURAAC MACYT1 304:1052) 09-0CT-78 0B:59 PAGE 38
CYKAAC P11 (1=78 08:58 134 NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(, BIT SEQ 0037

1492




+KAAL
{ R AA(

453
1494
1495
1496
1497
1498
1499
1500
1501
1502
1503

150

MACY'1 30a(1052)
06-G"1-78 08

LN

V21527
007 &0
012745
005245
00060

U9=-0(T-78
:58

QOCO3S
000140

I

08:59 PAGE
T34

39

m 3

NEW INSTRUCTIONS USED N THIS SECTION ARE BI(, BIT

° 't't’tt.iittt.ﬁ!’ﬁ*ittit*!tﬁi‘tﬁtﬁtﬁi.*iﬁiﬁttﬁtittittttttti'tlttttt.t.ttti.lt

E;YEST:

35

NEW INSTRUCTIONS USED IN THIS SECTION ARE INC, DE(

'.'.ttl‘ﬁttll.tt.titi‘ﬁﬁ*ttttt*ttt‘iﬁiitit*iitlttil‘ttttttttl!"tt"ttilitttttti

INCO:

2%:

(MP
BEQ
MOV
INC
HALT
INC
MoV

(R5) ,#35

2% ; IF IN WRONG SEQUENCF GO TO HLT BELOW
#140,-(R5)

-(R5)

(RS) ; PROGRAM IS IN WRONG SEQUENCE

#77777 R4 ; R&-77777

SEQ 0038




T I T T U RS S N JEIe" S GRS S Y Qs S Y
YU UV LA o o i o v A LA

NROPNUPORDNIPONONONONG =3 — 3 b b b b o —d

N3

MACY11 30A(1052) 09-0CT~78 08:59 PAGE 40
8 08: 135 NEW

P11 09-0CT-78 08:58 INSTRUCTIONS USED IN THIS SECTION ARE INC, DEC SEQ 0039
005020 000261 SEC
005022 005204 INC R& : ADD ONES INTO REG. &
005024 004737 917320 JSR PC,a#$CC13 * CHECK FOR (C = 13
005030 012704 177776 MOV #177776 .R
00503% 005204 INC R4
005036 004737 017256 JSR PC.a#sCC11 : CHECK FOR CC = 11
005042 005204 i INC R4
005044 004737 017172 JSR PC,a¥$CCS ; CHECK FOR CC = S
005050 005204 INC R4
005052 004737 017066 JSR PC,aa$CC . CHECK FOR CC = 1
005056 022704 Q0001 iMP #1.R4 * CHECK IT
005062 001404 BEQ 4% - FAILED
005064 012745 000141 MOV #141.-(R5)
005070 005245 INC -(RS)
005072 000000 HAL T . INC INSTRUCTION FAILED
005074 000261 L$: SEC
005076 005304 DEC R4 : SUBTRACT ONES FROM REG. 4
005100 004737 017172 JSR PC,a¥%CC5 © CHECK FOR CC = S
005104 005304 DEC R
005106 004737 017256 JSR PC,a#$CC1] . CHECK FOR CC 11
005112 012704 100000 MOV #100000, R4
005116 005304 ) DEC Ré ;
005120 004737 017126 JSR PC,a#$CC3 * CHECK FOR (C = 3
005124 005304 DEC R4 .
005126 004737 017066 JSR C,aNeCC1  CHECK FOR (C - 1
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42

e o el vl e el il
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b YV IV IV IV IV, TV, T,
DO N NN

ol

MACY11
P11

005240
305242

005245

30A(105

%

021527
001025
005215
012700
005400
004737
022700
001404
012745
005245
0000

000036
000142

125252

1.17(ll
560 -

ey el

017256
125252

000144

177777

01717¢

000037

000001

01725¢
177777

000145

10000C

012320
100000

2) 09-0(T-78 08:59 PAGE
09-0C7-78 08:58 136

41

B &
NEW INSTRUCTION IN THIS SECTION IS (CM

SEQ 0040

"ttttttttttttttt*ttti&tttttttttttttt****i..ti"tt'ti!tl'.t‘..t'...tt't'ititt

S«TEST: 36

COMO:

1%:

2%:

3%

M
BEQ
MOV
INC
HALT
INC
MOV
SCC
am
S
v
2]
. Y
N
HALT
SCC
CoM
JSR
CMP
BEG
MOV
INC
HALT
MOV
SCC
(oM
JSR

NEW INSTRUCTION IN THIS SECTION IS COM

:;tﬁﬁt*tittttttttttttttttittt*itt*iﬁﬁﬁi*'i.iti.t*'titilﬁ.i"**"t.itttttttttQ

(R5) ,#36

1%
#142,-(R5)
-(R5S)

(RS)
8125252 ,R3

R3

PL ¥

P
1

& ﬁﬁ -k

-\"R.

R3
PC,a#8CC11
8125252 ,R3

3s
#1464 ,-(RS)
-(R5)

#177777 ,R3

R3
PC,a¥$CC5

LS L O Y

IF IN WRONG SEQUENCE GO TO HLT BELOW

TEST IS IN WRONG SFQUENCE
LOAD EVERY OTHER BIT

1'5 COMPLEMENT /
CHE(K FOR (( =1
THEK [T

NTIWE T

PIMOINS Tk 8,
LOMPLEMENT BA(KX
(HECK FOR (C - 1V

CHECK 17
CONTINUE IF OK

COM INSTRUCTION FAILED

; CHECK fOR CC = 5

"tt*.'tttttﬁti*ttit*titi*t'*.ﬁNQ'itttt*ttﬁﬁ*t*Q**lttttttitittttttttttt‘t"tt

TeTEST: 37

NEGO:

1%:

cMpP
BNE
INC
MOV
NEG
JSR
{MP
BEO
MOV
INC
HALT
MOV
NEG
JSR
(MP
E G

NEW INSTRUCTION IN THIS SECTIJON IS NEG

::'itltlﬁtttittﬁ**'t‘iii*ttiittt'tttt‘titiitt*ttﬁitt*tﬁtitttt‘i‘tittttttttﬁ‘t

(RS) .#37
ENEGO
(RS)
#1.R0

RO
PC,aN8CC1?
177777 R0

2%
#145,=(RS®
=(RS)

#100000C,R0
RO
PC a8 (13

#°ACO0C ,RC
ROLC

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD THE REGISTER
2'S COMPLEMENT
CHECK FOR (C 1
FHECK 1Y

(ONTINUE [F OK

NEG INSTRUCTION FAILED

2'S (OMPLEMENT
(HECK FOR 1 (173
CHECK [T

CONTINUE TR K




( /XAAC  MACY1? 30A(1052) (09-0(T-78
(VKAAC.P11 09-0CT~78 08:58
587 005326

|
B BB apy e

08:59_ PAGE 42 ¢ 4
137

NEW INSTRUCTION IN THIS SECTION IS NEG

ENEGO:
MOV #146,-(RS)
INC -(R5)
HALT

SEQ UL«

; WRONG RESULT IN RO OR wWRONG SEQUENCc




CVRAA(L

MACY11 30A(1052)
09=0C71-78 08:58 140

CVKAAC,.P11

1610

ocooorororor OO ONOONONON
PPN =t b 2
NN OV NN Wi =

— el D ol e e B e o d b ) o — D
IR

[epye)
ron
o

005360
005 364
002370
005372
005376
005400
005402
005404
005410
005412
005416
005420
005420
005424
005426

005430
0054 30
0054 34
005436
005440
005444
005446
605450
005452

021527
001026
005215
012701
000257
006101
006101
004737
022701
001404
012745
005245
000000
006101
004737
006101
022701
001404

012745
005245
000000

021527
001026
005215
012702

012745
005245

09-(CT~78 08:59 PAGE 43

D &
NEW INSTRUCTION IN THIS SECTION IS ROL

SEQ 0047

"tt!tﬁ.tltiti'iittﬁt'tiﬁ.i‘tt...iﬁtitittﬁttt‘til‘tttttl!tttttt'ttlt'tﬁttt'tt

NEW INSTRUCTION IN THIS SECTION IS ROL

::iittttﬁ.ttti'iitit'tti‘!l.'t‘i.ltitiittﬁtlﬁﬁtﬂt!itttt‘tttttttt!tttttllitttt

TRTEST: 40

ROLO:
000040
BNE
INC
MOV
CCC
ROL
ROL
JSR
CMP
BEQ
MOV
INC
HALT
1%: ROL
JSR
ROL
(MP
BEQ

MOV
INC
HALT

020000

017300
100000

000747

017214
000001

FROLO:
00015C

(RS5) ,#40
ErROLO
(RS)
#20000,R1

R1
R1
PC.aN$CC12
1160000.R1

$

#1467 ,-(RS)
-(RS)

R1
PC,a¥sC(7
R1

#1,R1

RORO

#150,-(R%)
-(RS)

By W, % % 80,

BaWeg B, B, ", %,

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK FOR (C = 1¢
CHECK T
CONTINUE IF OK

ROL INSTRUCTION FAILED
SHIFT

CHECK FOR €C = 7

SHIFT

CHECK IT

CONTINUE IF OK

WRONG RESULT IN R1 OR WRONG SEQUENCE

"ttitt**tﬁtt*t*‘ﬁ*ti!ittffittﬁﬁtt*t**ﬁQttittttt*tttttti*tt!tiit*titt**ittttt

NEW INSTRUCTION IN THIS SECTION IS ROR

::Qttlittttttt*ttﬁﬁﬁt.titi'tttt*tt*tiﬁttit‘ﬁtﬁttitttt***Ritittttitttititiiﬁii

SWTEST: 41

RORO :

000041 (MP
BNE

INC

MOV

ccC

ROR

ROR

(MP

BEQ

MOV

INC
HALT

1% ROR
JSR

ROR

JSR

cMP

BEQ

MOv
IN

000004

000001
000151

017214
017309
100000

000152

(R5) ,#41
ERCRO
(RS)

#6 ,R2

R2
R2
#1,Re

1%
#151,-1RS)
-(RS*

R
PC,a#$CC7
R2?
PC,a#$CC12
#100000,R2
ASLO

8 C2,=(R5)
-(RS)

: 1IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

Wy Wewy Ny

s %a Wy, 0,

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK IT
CONTINUE [F OK

ROR INSTRUCTION FAIIED
SHIFT

CHECK FOR CC - 7
SHIFT )
CHECK FOR CC - 12
CHECK IT

CONTINUE IF Ok




E 4

CvkAAL  MACY'Y 30A(1052) 09-0(T-78 08:39 PAGE 44
CVKAAC, P11 09-0(1=78 08:58 141 NEW INSTRUCTION [N THIS SECTION IS ROR SEQ 0047

1667 005520 (10000 HALT : WRONG RESULT IN RZ OR WRONG SEQUENCE




CvKAAC MACY1Y 30A(1052)
CVKAAC . P11 09-0(T~78

021527

006303

1672 005606 004737

1678 005612
1679 005612
1680 00%616
1681 005620
1082 005622
1683 005626
1684 005630
1685 (005632
1686 005634
1687 005640
1688 005642
1689 005646
1690 005650
1691 005652
1692 005654

021527
001034
005215
012704
000257
006204
006204
022704
001404
012745
005245

012745
005745

09-0CT~78 08:59_ PAGE 45

08:58

000042
000153

020000

017300
100000

000154

017214
017150

000043

000004

000001
000155

01724

017150
100002

0172%6
160000

000156

142

F &
NEW INSTRUCTION IN THIS SECTION IS ASL

SEQ 0044

"tttttttttttttttiittt*tttt**t‘titﬂﬁit*tﬁttﬁtiiit‘llittt'*t*ittﬁtttttt.tttt't

NEW INSTRUCTION IN THIS SECTION IS ASL

::itttt*titit‘*ti‘itt*tt**ttltt‘t‘**tii*tﬁi*ittﬁt*ﬁitttitttitttttttttttittt‘l

SRTEST:

ASLO:

2%:

4%:

42

CMP
BEQ
MOV
INC
HALT
INC
MOV
ccC
ASL
ASL
JSR
CMP
BEQ
MOV
INC
HA_T
ASL
JSR
ASL
JSR

(R5) ,442
$

2
#153,-(R5)
-(R5S)

(R5)
#20000,R3

R3

R3
PC,a#$C12
#100000.R3
4“3

#4154 ,-(R5)
-(R5)

R3
PC.a#$CC7
R3
PC.aN$CL4

IF IN WRONG SEQUENCE GO TO HLT BELOW

PROGRAM IS IN WRONG SEQUENCE

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK FOR CC = 12
CHECK IT
CONTINUE IF OK

ASL INSTRUCTION FAILED
SHIFT

* CHECK FOR CC = 7

; SHIFY

L

“ CHECK FOR CC = 4

"*ttt*tﬁi"'t'*‘t.itt*ﬁ'Iﬁ*'ﬁt't"i‘t*tt*tttitﬁtttﬁtﬁttttttttttitttttttltttt

NEW INSTRUCTION IN THIS SEFTION IS ASR

TSTEST: 43

::t*.t'.'tttﬁt**'t*ttttﬁﬁt"ttttﬁitit*ttttittﬁttitt‘tt*ttttttttitittitﬁtt'ttt

ASRO:

1%:

2%

EASRO:

(MP
BNE
INC
MOV
CcC
ASR
ASR
CMP
BEQ
MOV
INC
HAL T
ASR
J3R
ASR
JSR
MOV
ASR
ASR
JSR
CMP
BEQ

MOV
INC

(RS) ,#43
EASRD
(RS

¥ R

R4
R4
#1,Ré4

2%
#155,-(R5)
-(R5)

Ré&4
PE,B#SCC?

R
PC,a#$CC4
g;boooz.as

R3

PC, a#$CC11
#160000,R3
AD(CO

¥ 56,-(R5)
-(R5)

BB W, 8.0 N b S,

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK [T
CONTINUE [F OK

ASR INSTRUCTION FAILED
SHIFT

CHECK FOR CC - 7

SHIFT

(HECK FOR CC &

LOAD REGISTER

SHIFTY

CHECK FOR CC = 1i
CHECK IT
CONTINUE IF Ok




)

G &
CURAAC MACY11 30A(1052) 09=0CT-78 08:59_ PAGE 46 |
CYKAAC. P11 09-0(1=78 (8:58 143 NEW INSTRUCTION IN THIS SECTION IS ASR SEQG 0045
1704 005776 00000 HAL T !

; WRONG RESULT IN R3 OR WRONG SEQUENCE
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1754

MACY 1T
P11

005720

30A(1052)
09-0(71~7

021527
001404

004737

021527
001404
012745
005245

8 08:58

000044
000157

017°5¢

017046
000002
000160

077777
017300
100000
000161
177777

017172

000045
000162

000G03

017046

09-0(T-78 08:59 PAGE 47
: T&L

H &

NEW INSTRUCTION IN THIS SECTION IS ADC

"ﬁtt'.'.i.'ti.ltt.t..t"'i'.Iltit.“ﬁ'*.tttﬁi...ttititttllt‘ttttlttttti‘tt't

NEW INSTRUCTION IN THIS SECTION IS ADC

SaTEST: 44

ADC(:

(MP
BEQ
MOV
INC
HALT
s ¥ INC
CLR
ccc
ADC
JSR
SEC
ADC
SEC
ADC
JSR
MP
BEQ
MOV
INC
HALT
4% MOV
SEC
AD{
JSR
{(MP
BEQ
MOV
INC
HALT
(%: MOV
SEC
ADC
JSR

(RS5) ,#44

2$
#157,-(R5)
-(RS)

(RS)

RO

RO
PC,a#$(Cs
R0

RC
PC.a#8((0
ZZ.RO

$
#160,-(R5)
-(RS)

#77777 .RO
RO

PC,a#%CC12
#100000,RO

6%
#161,-(R%)
-(R5)

#-1,R0

RO
PC,a#$C(5

" YE A YA YA R K]

LI T NI N ]

®s W e We e N, N,

':tttttttt‘t!tttiitt'tttﬁ"‘.'ﬁ.tt'.titittttttt'ﬂitttittittﬂtittttttttﬁtil!it

[F IN WRONG SEQUENCE GO TO HLT BELOW

PROGRAM [S I[N WRONG SEQUENCE

CLEAR THE REGISTER
CLEAR FLAGS

ADD € BIT = 0
CHECK FOR CC - 4

C=1

ADD C BIT=i

c=1

AGAIN

(HECK FOR CC O
CHECK IT
CONTINUE IF OK

ADC INSTRUCTION FAILED

%0?0 LARGEST POSITVE NUMBER
ADD ¢ BIT-1

CHECK FOR CC - 12

CHECK IT

FAILED

ADC INSTRUCTION FAILED
LOAD =i

=1

ADD € BIT=1

CHECK FOR CC - 5

"tt*ttttttti*i!titﬁ**ti‘i**ﬁt**ﬁ*Qttﬁtttiti**ttttttttti*tiittttittt'itttit‘t

NEW INSTRUCTION IN THIS SECTION IS SBC

;:*tt*iﬁt*!lQt'tit**tt*t*tt'!t**t’tiit*i*tt*t*t**tittitt*ttt&tit'ttt‘ttttttti

S*TEST: 45

SBCO:
C
BEQ
MOV
INC
HALT

1%: INC
MOV
(CC
SB(
JSR

(RS) ,A445
1%

#1u2,= RS
~(RS)

(RS)
#3,R1

R
PC,a#$((C

; IF IN WRONG SEQUENCE GO TO HLT

e Be Se N,

TEST IS IN WRONG SEQUENCE

LOAD REGISTER
CLEAR FLAGS
SUBTRACT ( BIT=0
(HECK FOR (C - 0

SEQ 0046




(vkAA(
CVKAA(

1761
1767
1763
1764
1765
1766
1767
1768
1769
1770
1771
1772
1773
1774
1775
1776
1277
1778

779
1780
1781
1782
1783
1784
1785
1786
1787
1788
1789
1790

MACY11 30A(1052)

P

1
1
1
1
1
1
1

SEEEEEE
FINSFRE

006130
006132
006134
006140
006144
006146
006152
006154
006156
006160
006162
006166
006170
006172
006176
006202
006204
006210
006212
006214
006220
006222
006224

I &

09-0CT-78 08:59 PAGE 48

09-0(T-78 08:58

022701
001404
012745
005245

000000
00026

000003
200163

217046
000601

000754

017°5C
01725¢
177777
000165
100000

"710¢

T45

’%:

3%:

A

NEW INSTRUCTION IN THIS

CMP #3,P1

BEQ 2%

MOV #163,-(RS)
INC -(R5)

HALT

SEC

SB(C R1

SEC

SBC R1

JSR PC,a#8CCO
MP #1,R1

BEQ 3%

MOV #164,-(R5)
INC -(R5)

HALT

SEC

SRC R1

JSR PC,a#8(C4
SEC

SB(C

R1
JSR PC,a7$CC1"
CMP #-1,R1

BEC 4%

MOV #165,-(RS)
INC ~(R5)

HALT

MOV #100000.,R1
SEC

SB{ R1

JSR P(,a#8((2

SECTION IS SBC

; CHECK IT
s CONTINUE IF OK

; S@% INSTRUCTION FAILED

T s
: %U?TRACT ¢ 8IT=1

: CHECK FOR CC = 0
; CHECK IT
; CONTINUE IF OK

; geg INSTRUCTION FAILED
* SUBTRACT C BIT=1
: E”ﬁCK FOR CC = &
* SUBTRACT C BIT = 1
* CHECK FOR CC = 11
: CHECK IT

* CONTINUE IF F OK

. SBC INSTRUCTION FAILED
 LOAD R1

* SUBTRACT ( BIT
" CHECK FOR CC =

=1
Z

SEQ 0047
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022702
001404
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000000

021527
001031
005215

2)
8
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00V0&E

017172

000766

000047

125125

017236
052652

000170

000377

017150
177400

09-0(T-78 08:59 PAGE 49
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J &
NEW INSTRUCTION IN THIS SECTION IS SXT

SEQ 0048

"tﬁtttttttttt*tttttﬁﬁ'*".tttt*itti'iiﬁﬁﬁ.ﬁttl.titIttttttttttﬁttitttiltttitt

L«TEST: 46

NEW INSTRUCTION IN THIS SECTION IS SXT

:;ttttt*tt*titi*tittttttiﬁ!t*tt.itt'itiit.it'ttﬁtQt.tttﬁttittttttltﬁt..ttt.tt

SXT(Q:
tMP
BNE
1%: INC
CLR
SCC
(LNZ
SXT
JSR
TST
BEQ
MOV
INC
HALT
2%: SENVC
SXT
JSR
CMP
BEQ
ESXTO:
MOV
INC
HALT

(R5) ,#46
gsxTd
(RS)

R2

R2
PC,a#8CC5
R2

2%
#166,-(R5)
-(RS)

R2
PC,an$((1"
#-1,R2
SWABR(Q

#167,-(R5)
-(R5)

e Wy Np N,

LIPS I P O N

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
CLEAR REGISTER

SIGN EXTEND

CHECK FOR CC = 5

REG., 2 SHOULD STILL BE O
CONTINUE IF OK

SXT INSTRUCTION FAILED
SET N, vV & C BITS

SIGN EXTEND

CHECK FOR CC = 11

REG. 2 SHOULD NOW HAVE =1
CONTINUE IF OK

: WRONG RESULT IN R2 OR WRONG SEQUENCE

"**ttttti*‘iti*t*t*tﬁtt"tﬁi‘ﬁttt*ttti*tttt*tt**ii*ititttt‘itﬁ*iﬁitttiittttt

NEW INSTRUCTION IN THIS SECTION IS SWAB

:;tittttii*ttttﬁﬁi‘t*tttttittﬁt*itktﬁ‘it*titttt**itt*ttt*ﬁ‘tit'i**titﬁttﬁttii

SeTEST: 47

SWARQ:
(MP
BNE
INC
MOV
SCC
CLN
SWAB
JSR
CMP
BEQ
MOV
INC
HALT

1%: MOV
SCC
(4
SWAB
JSR
{MP
BEQ

FSWARQ:

(RS) ,#47
E SWAB(

(R5)
#125125,R3

R3
PC,aWsCC10
?22652.R3

#170,-(R5)
-(R5?

4377 K*

R3

T
#1776400,R3
xc”0

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
: LOAD BIT PATTERN INTO REGISTER

B %. B8,

SWAP BYTES OF REGISTER
CHECK FOR CC = 10
CHECK IT

CONTINUE IF OK

SWAB INSTRUCTION FAILED

; CHE(K FOR CC = 4




K &
( vKAAC MACYIT 30A(1052) (09-0(T-78 08:?2? PAGE 50

¢ /KAAC.P1? 09~0(1-78 08:58 NEW INSTRUCTION [N THIS SECTION IS SwWAB SEQ 0049
B47 006406 072745 000171 MOV #171 ,-(RS)
1863 Q06412 005245 INC -(RS)
1849 006474 500000 HALT : WRONG RESULT IN R3 OR WRONG SEQUENCE




" JKAAL

MACYT1 30A¢1052)

C/xAAC P

SNSSRERRRRERESR

1874

1905

006522

09-0(7-78 08:59 PAGE 5!
150 NEW INSTRUCTION IN THIS SECTION IS XOR SEQ 0050

09-0(1~78 08:58

000277
074204
004737
022704
001404

012745
005245
000C00

000172

000051

021421

017046
04304°7

000173

156357

017256
134736

003174

L &

"ttﬁ".ttltlttttttititilttttttﬁ‘t“'ﬁ.‘ltt.litit'lQttttttititt'titttttlttii.

S«TEST: SO

NEW INSTRUCTION IN THIS SECTION IS XOR

;;Qﬁtt!ﬁ.tt.ttttﬁﬁttﬁ*.tti.iiititikiitﬁ‘iﬁttﬁiilitﬁﬁﬁ&tt!ttltt‘tttttt'ttt"Qt

XOR0 :
(MP
BNE
INC
MOV
MOV
5(C

EXOR0:

HALT

(RS) ,#50
%sggé : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
#-1,R4 ; LOAD REGISTERS
#-1,R3 :
R4 ,R3 : SHOULD PRODUCE Q'S IN REG. 3
PC, a#8C(CS . CHECK FOR CC =5
#77777 R3
R4 ,RO : PLACE A -1 IN RO
: SET v & C BITS
RO,R3
PC.,a#$CC11 : CHECK FOR CC = M
R#25252,R2 : LOAD REGISTERS
#52525,R4 :
RZ R4 : SHOULD PRODUCE ALL 1°'S IN REG. 4
PC,a#$CC1T : CHECK FOR (L = 1
#-1,R4 : CHECK IT
ADDOQ : CONTINUE IF OK
#172,-(R%)
-(R5)

: WRONG RESULT IN R4 OR WRONG SEQUEN(CE

"ttttttttttt**t*tt*tt*t*ti***i*kttttiﬁiltitti****t’ﬁﬁ*ilt‘t'tttttttttttt"t'

C*TEST: 51

NEW INSTRUCTION IN TH]S SECTION IS ADD

;:titt***‘tttit*tttt**t*ﬁ"t*!i**iit**ﬁttﬁtﬁ*itiittﬁ**tt**ttttti'ttiititttt't

ADDQ:

BNE
INC
MOV
ADD
JSR
(MP
BEQ
MOV
INC

HALT

% MOV
ADD
JSR
CMP
BEQ
MOV
INC

(RS) ,#51

53296 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
#21421,R1 . LOAD REGISTERS
RT.RT * ADD
PCa#sCC0 * CHECK FOR CC = 0
#45042 R . CHECK IT
1% * CONTINUE IF OK
#173,-(RS)
-(RS)

. ADD INSTRUCTION FAILED
#-21421,R0 * LOAD REGISTERS
RO,RC ; ADD
PC.a#$CC1" * CHECK FOR CC - 11
#-43042.R0 . CHECK IT
2% * FONTINUE IS OF
874, =(R5)
- (R5S
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0421
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M 4
NEW INSTRUCTION IN THIS

HALT
2%: MOV #100000,R2
ADD R2.R2

MOV #-21421,R1

ADD R4 ,R1
BEQ 3%
MOV #175,-(RS)
INC -(RS)
HALT
3%: NEG R&
MOV #21421 ,R1
ADD R1,R4
BEQ SUBO
£ADD0:
MOV 2176,-(RS)
INC -{R5)
HALT

SECTION IS ADD

; ADD INSTRUCTION FAILED

: LOAD REGISTERS

; ADD SHOULD RESULTY AS 0'S
sCHECK FOR (C = 7

; LOAD REGISTERS

* ADD SHOULD RESULT AS 0°S
* CONTINUE IF OK
. ADD INSTRUCTION FAILED

 SWITCH SOURCE AND DESTINATION

SHOULD RESULT AS 0'S
; CONTINUE IF OK

: WRONG RESULT IN R1 OR WRONG SEQUENCE

SEQ 0051
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1970
1971
1972
1973
1974
1975
1976
977
1978
197G
TQ8(

007034

007040
007040
007044
007046
007050
00705¢
007056
007056

JO7064

09-0(T~78 08:58

QOO 8080
PN NO NN = —
NNNOONI NSV
OO =OQHHON
WROWNO NN~y

160203

000052
000177

02142°
156357

017236
134736
000200

021421

000201
177777
077777

017320
100000
000202

177777
017150

000053

177777

017046

09~0CT-78 08:59 PAGE
: 152

53

N &

NEW INSTRUCTION IN THIS SECTION IS SUB

"tﬁtittﬁitttt‘*Qlttﬁttti'ti*ﬁﬁﬁ*lﬁt.ﬁIlittiittttt-itltittttﬂnttttttttttttttt

NEW INSTRUCTION IN THIS SECTION ]S SUB

TwTEST: 52

:;ttttittttittﬁ*‘*‘Qtttt'tttitttiﬁﬁ*&tttiiiittttt*tttttttttttitttttttttﬁitt'w

SUBO :

2%:

4%

6%:

£%:

rme
BEQ
MOV
INC
HALT
INC
MOV
MOV
SUB
JSR
(MP
BEQ
MOV
INC
HALT
MOV
MOV
SU8
BEQ
MOV
INC
HALT
MOV
MOV
SUB
JSR
CMP
BEQ
MOV
INC
HALT
MOV
SUB
JSR

(RS) 452

2%
#177,-(R5)
-(RS)

(R5)
421421 ,R2
#=21421,R3
R2,R3

PC,#$(C10
#-43042 R3

3
#200,=(R5)
-(R5)

#21421,R3
R2,R4
R4 ,R3

6%
#201,-(R5)
-(RS)

#-1,R3
877777 R
rR3,R2
PC,aN8C(13
#100000.R?2

8%
#2002 ,-(RS)
=(R5)

#-1,R4
R3,Ré
PC.a#8CCs

.,

IF IN WRONG SEQUENCE GO TO HLT BELOW

PROGRAM [S IN WRONG SEQUENCE
LOAD REGISTERS

RESULT SHOULD=~43042
CHECK FOR CC = 10
CHECK [T

CONTINUE IF OK

SUB INSTRUCTION FAILED
LOAD REGISTER
NOW R4 = #21421

; RESULT SHOULD=0

S %o By W,y

SUB NSTRUCTION FAILED

LOAD REGISTERS

LOAD REGISTERS

RESULT SHOULD BE_100000 AND OVERFLOW
CHE(K FOR CC - 13

CHECK IT

CONTINUE IF OK

; SUB INSTRUCTION FAILED

; CHECK FOR CC = 4

"tttl*ti*t*tttl*lit*ttt*itt"titittﬁiﬁt**!Qitit*titiitttﬁ*ttﬁ!'tit'itttit*tt

SRTEST: 53

PSW:

1%:

MP
BNE
INC
MOV
CLR
MTPS
.WORD
JSR
MF PS
. WORD

NEW INSTRUTTIONS IN THARE SECTION 1S MTPS & MFPS

:;titiit*t*i**t**i*itttttitRttﬁtt**i*ttttt*ittt&*tttlttiittittittttttttt'tttt

(RS) ,#53
EPSW

(R)
#177777,R1
RO

RO
106400, . .(
PC. 8L (0
106700. ..

SEQ 0052

IF IN WRONG SEQUENCE THEN GO TO HLT AT THE END OF THE

SET PSW TC 0

CHECK FOR (C - C
MOVE PSw TO R1




CVeAA(
CVKAAC

981
1982
1983
1984
1985
1986
198/
1988
1989

1991
1992
1993

1ws
1%
1%7
¥} <

MACY11 30A(1052)

PN

007066
007070
207074
007076
007100
007104
007110
007110
007112
007116
007116
007120
007124
007130
00732
00737
LA
s

09-0( 17

001404
012745
005245

000000
004737
012700

106400
004737

106701
004737
022701
007404

01745
DUV

000203

017150
000377

09-0(71-78 08:59_ PAGE
8 08:58 153

2%:

£EPCy-

54

B 5

NEW INSTRUCTIONS IN THARE

8EQ
MOV
INC

HALT

JSR
MOV

MTPS
.WORD

JSR

MFPS
.WORD

JSR
(MP
BEG

Vo,
NS
~HA

L4

2%
#203,-(R5)
-(RS)

SECTION IS MTPS & MFPS SEQ 0053

; CONTINUE IF BIT 8 OF PSW WAS EXTENDED IN R1

; MTPS OR MFPS INSTRUCTION FAILFD

“s ®

PC,aN$CC4
#377 R0

RO
106400 . .C
gg.a#scc17
106700!..C
PC,ar$CC ;
81727757 .R1 .
MODEO

#2204 ,-(RS)
-(RS)

CHECK FOR CC = 4
SET PSW TO 357 SINCE MTPS DOES NOT SET T BI7

: CHECK FOR CC - 17

MOVE PSW TO R1

CHECK FOR CC = 17 [C BIT SHOULD NOT BE EFFECTED BY MFP
CHECK TO SEE IF BIT 8 OF PSW WAS EXTENDED THRU R1

MTPS OR MFPS INSTRUCTION FAILED OR WRONG SEQUENCE
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CVRAAC P11 0= T=78 08:58 LSI=11 INSTRUCTIONS NOT MODE O SEQ 0054

999

200" . 1S1-17 INSTRUCTIONS NOT MODE 0

200° : bbb

2002

2003

2004 ::ttttttﬁttttttttttittttttttttttﬁttttttttttﬁtﬁtttttttt--tq‘tttttttttﬁn‘ttlttt
200% s+TEST: 54 CHECK MODES O & 1 USING THE MOVB AND MOV INSTRUCTION®
2006 ;:tttttittttttttiﬁtttttttt*ttﬁtttttttttt*tttttitttttttttti‘tttttttttitttttttt
2007

2008 00714/ MODEOQ:

2009 007142 021527 0OC0054 (MP (R5) 454

2010 007146 001063 BAhL EMODEQ - IF IN WRONG SEQUENCE GO TO HLT AT TKE END OF THE TEST
2011 007150 005215 ) IC (R5)

2012 007152 112700 000252 V3 #252 ,R0O : LOAD RFGISTERS

2013 007156 110001 MOvB RO,R1 ;

2014 007160 110102 MOVB R1,R2 ;

2015 007162 122762 000252 cMeR #252,R2 : CHECK IT

2016 007166 001404 BEQ 1% : Ok, CONTINUE

2017 007170 012745 000205 MOV #205,~(R5?

2018 007174 (005245 INC -(RS)

2019 007176 000000 HALT : MOV INSTRUCTION FAILED IN MODE O

2020 007200 012700 125252 1%: MOV #125252.RC : LOAD REGISTERS

202° 007204 010001 MOV RO,R1 ;

2022 007206 010102 MOV R1,R2 ;

2023 007210 022702 125252 (MP #125252 ,R2 ; CHECK T

2024 007214 0014064 BEQ MODE 1 ; Ok, CONT!NUE

2025 007216 012745 000206 MOV #206,-(RS)

2026 007222 005245 INC ~(R5)

3855 007224 000000 HALT : MOV INSTRUCTION FAILED IN MODE O

2029 007226 012700 000136 MODE1: MOV #TEMP RO : LOAD ADDRESSES INTO REGS.

2030 007232 012701 000140 MOV HTEMPT R ;

2031 007236 012702 000142 MOV #TEMPZ R? ;

2032 007242 005067 170674 CLR TEMP? : START (CLEAN

2033 007246 112710 000125 MOVEB #125, (RO® ; LOAD THE LOCATIONS

2034 007252 111011 MOVB (RO, (R1) : TEMP -==> TEMPI

2035 007254 111112 MO VB (R1),(R2) : TEMPT ===> TEMP?

2036 (007256 122767 000125 170654 CMPB #125,TEMP?2 ; CHECK IT

2037 007264 001404 BEQ 1% : 0K, CONTINUE

2038 007266 012745 000207 MOV #207,-(R5)

2039 007272 005245 INC -(RS)

204C 0072764 Q00000 HALT : MOV INSTRUCTION FAILED IN MODE 1

2061 007276 012710 0525°¢ 1¢: MOV 852525, (RC) : LOAD THE LOCATIONS

2042 007302 011011 MOV (RO),(R1) : TEMP ===> TEMP]

0643 007306 011112 MOV (R1),(R2) : TEMP1 ===> TEMP?

2044 007306 022767 052525 170626 cMP #52525,TEMP2  : CHECK [T

2065 007314 001404 BEG MODE 2 ; 0K, CONTINUE

066 007316 EMODEO:

2047 007316 012745 000210 MOV #2:0,-(RS®

2048 007322 005245 INC =-(R5)

204G 7324 000000 HALT : MOV INSTRUCTION FAILED IN MODE 1

2050 : OR WRONG SEQUENCE

20%°

2052

20%3

20“. '.'Ql‘"“‘.i'tt'ttt*.tt.'titi'tﬁt‘ttﬁtt't‘t."it..ﬁt.Q"‘t‘ll...lﬂ‘t"'t'......
L]
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007420
007422
007424
007430
007432
007436
007440
007444
007446
007452
007454
007454
007460
007462

30A(1052)

09-0(1-78 08:58
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NSO O NO N

NO§ =IO NONNNNOW

N =2 AN = NANJAWATINONO U = =
noro

o823 2o2 2532233
S
NN N —

~
o

007404

000000

005741
005022
012740
612620
011067
012121
024227
001003
005767
001404

012745
005245
G000

000055

000136
000140
00142

000252

170546

00025¢
170530

00211

125252
170500
125252
170664

06022

09-0(7-78 08:5? PAGE

TS5
;eTEST:

MODE?2:

%

2%:

EMODE 2 :

D 5

SEQ 0055

56

CHECK MODE 2 USING THE MOVB A'.D MOV INSTRUCTIONS

55 CHECK MODE 2 USING THE MOVB AND MOV INSTRUCTIONS
:.-ttt'lttttttltt*ttttttttttttttﬁtﬁtttititttttttitttttttttctttttttttt.ttt!tttt

MP (RS) ,455

?:% Egggf? : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

MOV #TEMP RO : LOAD ADDRESSES

MOV #TEMPT R :

MOV #TEMP2 R2

{.RB (R2)+ : START CLEAN

MOVR #252,(R0O) : LOAD THE LOCATIONS

MOVR (RO)+,(R1}+ : TEMP -==> TEMPI

INCB R1 : MAKE [T EVEN

MOVR (R1),TEMP - MORE 0'S INTO TEMP

INCB RO : MAKE IT EVEN

MOVB {RO)+,(R1)+ : TEMP1 —==> TEMP?

CMPR -(R2) ,#252 ; CHECK I7

B8NE 1% : FAILED

TSTR TEMP ; CHECK IT

BEQ 2% ; 0K, CONTINUE

MOV #211,=(RS)

INC -{R5)

HAL T : INSTRUCTIONS FAILED IN MODE 2

TST -(R1)

CLR (R2) + : START CLEAN

MOV #125252,-(R0O)  ; LOAD LOCAT]JONS

MOV (RO)Y+,(RO) ¢+ : TEMP =-=> TEMPI

MOV (RO) . TEMP : 0 ==—=> TEMP

MOV (R1)+ (R1)+ ; 125252 ===> TEMP?

CMP ={R2) 4125252 ; CHECK IT

BNE EMODE 2 : FAILED

TST TEMP ; CHEWK 7

BEQ MODE 3 : 0K, CONTINUE

MOV #212,=(RS)

INC -(RS)

HALT - INSTRUCTIONS FAILED IN MQODE 2

" OR WRONG SEGUENCE
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000056

000136

170370
000125
170352

000213

170340
052525
000126
000130
170310
052525

170272

0002° 4

Q00057

170244
00013%6
000140
0Ca0142

09-0(7~78 08:59 PAGE 57
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170424
170420
170414

" 7037¢

175364

170326

70304

E 5

CHECK MODE 3 USING THE MOVB AND MOV INSTRUCTIONS

"t*tﬁtﬁittitttttt*tttt*'witiit**iiti**ttﬁﬁtt‘*ttﬁtttttittiittiitttttt.t!.t"

CHECK MODE 3 USING THE MOVB AND MOV [NSTRUCTJONS

::ttt*tttttt*ﬁtt*****t*tﬁ*'*‘tiit*t*tttt*ttﬁﬁt‘tttittttttitttttt.'ttﬁttttttQt

LRTEST: S6

MODE 3:
CMP
BNE
INC
MOV
MOV
MOV
MOV
MOV
(LRB
MOvVR
MOVB
MOVR
MOv8
CMPR
BNE
TSTR
BEQ

MOV
INC
HALT
2%: (LR
MOV
MOV
MOV
MOV
MOV
MOV
CMP
BNE
TST
BEQ

MOV
INC
HALT

%

EMODE 3:

(R5) ,456
EMODE 3

(RS)
#TEMP,ADR
#TEMP1,ADR1
N#TEMP2 ,ADR?
#ADR ,RO

#ADR1 R
TEMP?
#125,TEMP
A(RO)+,2(R1)+
a(R1)+,TEMP
(R +,a(RO)+
#125,TEMP2

1%

TEMP

2%

#213,-(RS)
-{R5)

TEMP2

852525, TEMP
#ADR RO
#ADR1,R1
a(RO) + ,@(RO)+
a(R0O) +, TEMP
a(R1)+,a(R1)+
#52525, TEMP2
EMODE 3

TEMP

MODE 4

#214 ,-(R5)
-(RS

[P EYE TR TR RN X X

(R A R T EAYE R N N R R N

IF IN WRONG SEQUENCE GO TO HLT ABOVE
LOAD ADDRESSES

LOAD ADDRESSES OF ADDRESSES
START CLEAN

TEMF =-==> TEMP1

TEMP? --=> TEMP

TEMP1 =-==> TEMPZ
CHECK IT

FAILED

CHECK IT

0K, CONTIMNUE

INSTRUCTIONS FAILED IN MODE 3
START CLEAN

LOAD | OCATIONS

LOAD ADDRESSES OF ADDRESSES

TEMP =-==> TEMP1

TEMP2 =-=-> TEMP

TEMP] ===> TEMP?
CHECK IT

FAILED

CHECK 1T

0K, CONTINUE

INSTRUCTIONS FAILED IN MODE 3

--ttttttttttttttttitttﬁttttttt!ttﬂtttttttttttttt’atttttttttttt.tttttrttnttttt

(RECK MODE &4 USING THE MOVB AND MOV INSTRUC™IONS

:;tittiﬁﬁ*ﬁ*itit*t*t*ﬁt*t*ttii'tlil**‘ktﬁ**ttt*tiitttttitt.“"t.'t'.'t'tt.“

LYTEST: §7

MODE 4 :
CMP
BNE
INC
CLRB
MO/
MOV
MOV

(R5) 457
EMODE &
(RS)

TEMP
#TEWP RO
# MP1,R]
BRTEMP? R/

LIS I L I

SEQ 0056

[f IN WRONG SEOQUENCE GO TO »LT AT Tef END OF THE TEST

START CLEAN
. OAD ADDRESSES
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2199

007706
007710
007714
007716
007722

010074

S

ey Qe G Gy Qusr-Gur Paur Ghur Gy
plelelelelalelelele)
Jurur S e Gy G GuurGir Gunr G
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005202
021267
001404
012745
005245
000000
112742
005207
005202
114241
005200
005202
114042
105200
021067
001404
012745
005265

001404

012745
005245
000000
005667
012700
012701
012702
005722
021267
001404
012745
005245
000000
012742
005721
005722
014241
005720
005722
014042
005720
005721
014140
022767

012745
005245

09-0CT1~-78 08:58

170227
000215

000252

170143
000276

00025¢
170134

000217

170112
000136
000140
000142
170076

000220

125252

125252
170020

000221

170136

170022

09-0CT~-78 08: 527 PAGE 58

1¢:

2%:

3%:

L%:

5%:

EMODE S :

F 5

CHECK MODE &4 USING THE MOVB AND MOV INSTRUCTIONS

INC
CMP
BEQ
MOV
INC
HALT
MOVB
INC
INC
MOvB
INC
INC
MOvVB
INCB
CMP
BEQ
MOV
INC
HALT
INCB
MOVR
CMPS
BNE
TSTR
BEQ

MOV
INC
HALT
CLR
Mov
MOV
MOV
TST
CMP
BEQ

R2
(RZ) TEMPZ2+1

#215 -(R5)
-(R5)

#252,~(R2)
R1

RZ
-(R2) ,=(R1)
RO

R
-(R0O) ,=(R2)
RO
(20).TEMP+1

4
#216,-(R5)
-(R5)

R1

-(R1) ,={(R0)
#252,TEMP
3%

TEMPZ

14 3

#217 ,~{R5)
-{R5,)

TEMP

#TEMP RO
#TEMP1 R
RTEMPZ2 R?2
(R2)+
(22).TEMP2*2

p]
#220,-(R5)
-(R5)

#125252.-(R2)
(RT)+

(R2)+
-(R2),~(R1)
(RO)+

(R2)+

~(R0O’ ,=(R2)
(RO)+

(R1) +

-(R1) ,-(RO)
#125252, TEMP
EMODE 4

TEMP?

MODE S

#221,=(R
=(R5)

TEYETETETE IR B W e e By We N,

T ETEYETEIRE

[ PR A T TS T TS PR T IR L TR NI I R ]

; ADJUST THE POINTER

INSTRUCTIONS FAILED
LOAD TEMP?
ADJUST THE POINTERS

TEMP2 --=> TEMPI
ADJUST THE POINTERS

TEMP ==-=> TEMP?
ADJUST THE POINTERS

INSTRUCTIONS FAILED

TEMP1 =-=-> TEMP
CHECK IT

FAILED

CHECK IT

0K, CONTINUE

INSTRUCTIONS FAILED
START (LEAN
LOAD ADDRESSES

ADJUST THE POINTER

INSTRUCTIONS FAILED
LOAD TEMP?
ADJUST THE POINTERS

TEMP2 ---> TEMPI
ADJUST POINTERS

TEMP -==> TEMP?
ADJUST THE POINTERS

TEMP1 =--=> TEMP
CHECY 17

FAILED

CHECK [T

Ok, (ONTINUE

IN MODE 4

IN MODE 4

IN MODE 4

IN MODE 4

SEQ 0057
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2208 010132 (0CCUN
2203

59

G 5

CHECK MODE 4 USING THE MOVB AND MOV INSTRUCTIONS

HALT

L

: INSTRUCTIONS FAILED IN MODE 4

. OR WRONG SEQUENCE

SEQ 0058
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CVKAAC.P11  09-0( =78 08:58 760 CHECK MODE 5 USING THE MOVB AND MOV INSTRUCTIONS SEQ 0059
2210 ;;ttttttttttttttttttﬁttttittittttttttttttitttttttttttttttiﬁttttﬁttttttttttttt
5211 ;«TEST: 60 CHECK MODE S USING THE MOVB AND MOV [NSTRUCTIONS
2212 ;;ttttttttt-t-tt-*ttttttttt-q-t«ttttttttttttttttnttatttutttttqttt-att--qtt--n
591% )

2216 010734 MOLE>S:

2215 01013& (21527 000u6C CMP (RS) ,#60

2216 010140 001105 BNE EMODES : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2217 010142 005215 INC (RS)

2218 010164 105067 167766 CLRB TEMP : START (LEAN

2219 010150 012767 200136 167750 MOV #TEMP ADR : LOAD ADDRESSES

2220 010156 012767 000140 167744 MOV #TEMP1 ,ADR1 ;

2221 (010164 012767 000142 167740 MOV #TEMP2 _ADR? :

2222 010172 012700 000126 MOV #ADR RO > LOAD ADDRESSES OF ADDRESSES
2223 010176 012701 000130 MOV #ADR1,R1 :

2224 010202 012702 000132 MOV #ADRZ ,R?2 :

2225 01020¢ 005722 TST (R2) + . ADJUST THE POINTER
2226 010210 112752 000125 MOVB #125,a-(R2) : LOAD TEMPZ

2227 010216 022722 CMP (R1)+,(R2)+ : ADJUST THE POINTERS
2228 010216 115251 MOVB o~ (R2),a-(R1) : TEMP2 --=> TEMP
2229 010220 022022 CMP (RO)+,(R2)+ : ADJUST THE POINTERS
2230 010222 115052 MOVB a-(RD) ,a=-(R2) : TEMP ===> TEMP?
2231 010226 022022 CMP (RO)+,(R2)+ : ADJUST THE POINTERS
2232 010226 125052 CMPH a-(R0) ,a=-(R2) JOHECK IT

2233 010230 001404 BEQ 1%

223, 010232 012745 000222 MOV #222,-(RS)

2235 010236 005245 INC -(RS)

223 010240 000000 HALT

2237 010242 022120 “$: CMP (R1)+,(RO)+ : ADJUST THE POINTERS
2238 010244 115150 MOVB a=(R1) ,a~(R0O) ; TEMP1 =-=-=> TEMP
2239 010246 122767 000125 167662 CMPR #125,TEMP ; CHECK |T

2240 0102% 001003 BNE 2% ; FAILED

2241 010256 105767 167660 TSTR TEMP?2 ; CHECK IT

2242 010262 001404 BEG 3% : 0K, CONTINUE

2243 010264 2%:

2244 010264 012745 000223 MOV #223,-(R5)

22645 010270 005245 INC -(R5)

2246 010272 000000 HALT : INSTRUCTIONS FAILED IN MODE 5
2267 C10274 Q05067 167636 3%: (LR TEMP ; START CLEAN

2248 010300 012700 000126 MOV #ADR RO ; LOAD ADDRESSES OF ADDRESSES
5549 010304 012701 000130 MOV #ADR1.RI :

2250 010310 Q12702 000132 MOV #ADR2 ,R? :

2251 010314 Q05722 TST (R2)+ ; ADJUST THE POINTEF
2252 010316 012752 05252¢ MOV #52525,a~(R2) ; LOAD TEMP?

2253 010322 022122 CMP (R1)+,(R2)+ : ADJUST THE PQINTERS
2254 010324 015257 MOV a-(R2) ,a=(R1) : TEMP2 =--=> TEMPI
2255 010326 022022 CMP (RO)+,(R2)+ : ADJUST THE POINTERS
2256 010330 015052 MOV -(R0O) ,a=(R2) : TEMP -==> TEMP?
2257 010332 0220217 {mpe (RO)+,(R1)+ ; ADJUST THE POINTERS
2258 010334 015150 MOV a-R1,,a=(R0O) : TEMP1 =-=~> TEMP
2259 010336 022767 (052525 167572 {MP #52525,TEMP s CHECY IT

2260 010344 001003 BNE EMODES : FAILED

2261 010346 005767 167570 TST TEMP? ; CHECK 17

2262 010352 001404 BEQ MODE6 ; 0K, CONTINUE

5%65 010354 , EMODESS :

2264 010354 012745 000226 MOV #2264 ,-(R5)

2265 ('0%0 005245 INC -(RS)
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MACY'1 30A(1052) 09=-0(T-78 08:59 PAGE 6]
L1 09-0(1-78 08:58 160 CHECK MODE S USINC THE MOVB AND MOV INSTRUCTIONS SEQ O0El

010362 (COCCO0 HALT ; INSTRUCTIONS FAILED IN MODE 5
; OR WRONG SEQUENCE

"‘ttﬁttttﬁ*'tlt!t*ﬁttt*ti*titt‘ttt*tttttttttitt!ttt*tﬁttttttittitttttlttltit

:wTEST: 61 CHECK MODE & USING THE MOVB AND MOV INSTRUCTIONS
:;tttttttttttttitit***ttttttttt'itlttttttttttt*ttttttttt*tiittttttttttttttttt
010364 MODE6:
010366 021527 20CLL* CMP (RS, #61
010370 0C1G55 BNE EMODE6 : IF IN WRONG SEQUENCF GO TO HLT AT THE END OF THE TESY
010372 005215 INC (RS}
010374 Q05067 167542 (LR TEMP2 : START (CLEAN
010400 012700 00013¢€ MOV ATEMP,RO : LOAD ADDRESSES
010404 012701 00014¢ MOV #TEMPT R :
010410 012702 000742 MOV HTEMP?2 R2 ;
010414 112760 000252 000000 MOVRB #252,0(R0O) : LDAD TEMP (LOW BYTE)
010422 112760 000252 000001 MOVB  #252.1(R0O) * LOAD TEMP (HIGH BYTE)
010630 022767 125252 167500 CMP 2125252, TEMP  : CHECK IT
010436 001012 BNE 1% * FAILED
010440 116062 000001 000000 MOVB  1(RO},0(RD) * TEMP(H) ---=> TEMP2(L)
0106646 116160 000002 000005 MOVB  2(R1).5(R0) *OTEMP2(L) -—-> TEMP2(H)
010454 022767 125252 167460 CMP 8125252, TEMP2 - CHECK IT
010462 00716064 BEQ 2% * 0K, CONTINUE
010464 1%:
0104664 012745 000225 MOV #225,-(RS)
010470 005245 INC -(R5)
010472 000000 HALT : INSTRUCTIONS FAILED IN MODE 6
010474 005067 167440 2% : CLR TEMP1 * START CLEAN
010500 012760 052525 000500 MOV #52525,0(RD) * LOAD TEMP
010506 016260 177774 000002 MOV -4 (R2) .2 (RO) P TEMP -=-> TEMP]
010514 022767 052525 167416 CMP #52525 . TEMP * CHECK IT
010522 001404 BEQ MODE7 : 0K, CONTINUE
010524 EMODEC:
010524 012745 000226 MOV #226,-(R5)
0105230 005245 INC -(R5)
010532 (000000 HAL T : INSTRUCTIONS FAILED IN MODE 6

. OR WRONG SEQUENCE
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(VKAAC  MACY'1 30A(1052) 09-0CT~78 08:?22 PAGE 62

(VRAAC.P11  09=0('~78 08:58 (HECK MODE 7 USING THE MOVB AND MOV INSTRUCTIONS SEQ 006
830‘ ".'tt!'tttttttﬁtﬁlttt‘ittttttt*ttl’t.l’ﬁ.'iittitt‘tﬁitttt.tiQ.‘itiiitittitﬁ.tit.
2305 TATEST: 62 CHECK MODE 7 USING THE MOVB AND MOV INSTRUCTIONS
23% ":ttttttttttttttt*tttttt*"t'itt*titt!itﬁtﬁﬁi‘ttiiiittiititﬁﬁtﬁttt‘!lt'tttt.t‘
2307
2308 01053 MODE 7 :

2306 010536 021527 000062 CMP (RS) , 462

2210 010540 001052 BNE EMODE 7 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2311 0°0542 005215 INC (R5)

2312 010544 005067 167370 CLR TEMP : START CLEAN

2313 010550 012767 ~20136 167350 MOV #TEMP, ADR * LOAD ADDRESSES

9314 010556 012767 000140 167344 MOV #TEMPT,ADR1 :

2315 010564 012767 000142 167340 MOV #TEMP2 , ADR2 ;

2316 010572 012700 000126 MOV #ADR RO * LOAD ADDRESSES OF ADDRESSES
2317 010576 012701 000130 MOV #ADR1,R1 :

2318 010602 012702 €Lo132 MOV #ADR2,R2 ;

5319 010606 112770 000252 000000 MOVB  #252,80(RQ) * LOAD TEMP

2320 010616 177270 177776 0Q0N002 MOVB  @-4(R2) ,@2(RO) : TEMP —==> TEMP

2321 010622 122767 000252 1€7310 CMPB  #252,TEMP1 : CHECK I7

2322 010630 001404 BEQ 1$ : OK, CONTINUE

2323 010632 012745 000227 MOV #227 ,~(R5)

2324 010636 005245 INC ~ (RS}

2325 010640 000000 HAL T : MODE 7 IS FAILING

2326 010642 012770 125252 000000 1%: MOy #125252,30(R0) : LOAD TEMP

2327 010650 017270 177774 000002 MOV a-4(R2'.82(RO) : TEMP —=<> TEMPI

2328 010656 022767 125252 167254 CMP #125252.TEMPT  : CHECK IT

2399 010664 001404 BEQ TSTRI : OK, CONTINUE

2330 010666 EMODE 7:

2331 010666 012745 000230 MOV #230,~ (RS}

2332 010672 005245 INC (RS}

2333 010674 000C00 HAL T : INSTRUCTIONS FAILED I\ MODE 7
3%, > OR WRONG SEQUEN'E
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CYRAAC.H 11 09-0r 7=78 08:58 (HECK BYTE INSTRUCTIONS, NOT DESTINATION MODE 0] SEQ 0062
2335
%%%? H CHECK BYTE INSTRUCTIONS, NOT DESTINATION MODE 0
2338
2339
230
231.1 ;;ttttiittttt*ttttttttttttttt***t*ttlﬁ*ttittttttttlttttttttttttttttttttttttt -
232 ;«TEST: 63 NEW INSTRUCTIONS USED IN THIS SECTION ARE TSTB, (LRB, MOvB
23"3 .'.'tttttttttttttt**t*tttttﬁttt!ttttttttttttttttttttttttttttttttltﬁtttttttttttt
234
235 010676 TSTRY:
236 010676 021527 000063 CMP (RS) 463
23%7 010702 001042 BNE ETSTRBI : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF TESTY
2348 010704 005215 28 : INC (R5)
23,9 010706 012700 000136 MOV #TEMP,RO . LOAD ADDRESSES
3350 010712 012701 000°40 MOV #TEMPT,R? :
53§17 010716 000277 SCC
2352 010720 105010 CLRB  (RO) : CLEAR THE LOCATION
2353 010722 004737 017150 JSR PC.aasCCs * CHECK FOR CC - 4
2354 010726 105710 TSTR (RO) . CHECK IT
2355 010730 004737 017150 JSR PC,aN$CC4 * CHECK FOR CC = 4
2356 010734 1127211 000377 MOVB  #377.(R1) * LOAD THE LOCATION
2357 010740 004737 017236 JSR PC,a#$CC10 " CHECK FOR CC = 10
2358 010744 1305711 TSTR (R1) ; CHECK IT
2359 (010746 004737 017236 JSR C,aN$CC10 * CHECK FOR CC = 10
2360 010752 010002 MOV RO ,R2 : R2 IS NOW POINTING TO LOCATION TEMP
231 010754 112762 000200 070000 move  #200.0(R2) * PLACE #200 IN LOCATION TEMP
2362 010762 112241 MOvVR (RZ)+,=-(R1) : MOVE #200 TO LOCATION TEMP+1
2363 010764 Q26127 177777 100200 cMP -1(R1) ,#100200 :; CHECK THE DATA IN LOCATION TEMP
5364 010772 001404 BEQ 4$
235 010774 012745 00023° MOV #231,-(R5)
2366 011000 005245 INC -(RS)
237 011002 000000 HALT : MOVB INSTRUCTION FAILED
23%8 011006 020102 (% CMP R1,R2 : CHECK THE REGISTERS FOR PROPER VALUE
2366 011006 001404 BEQ CMPR1
2370 011010 ETSTR":
2371 011010 012745 000232 MOV #232,=(R5)
5272 (11014 005245 INC -R5)
2232 C1101€¢ (Q0000C HALT : MOVR INSTRUCTION FAILED OR WRONG SEQUENCE
55?%
:?‘r
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(VRAAC.P11T  06=-0" =78 0B:S8 T64 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MPB, BISB SEQ 0063
2377 :;tttttttttt-tttttttttttttttttttttttttttttttl'tttttttttttttt'tttttttttttitttt
2378 ;«TEST: 64 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MPB, BISB
2379 ;;ttitttttttttttttttttttttttttttttttttttttttttttttﬁtttitﬁttttttt'ttttttttt'ﬁt
2380
2381 011020 CMPR1:

2382 011020 021527 000064 (MP (RS) 464

2383 011026 001032 BNE ECMPRI . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2384 011026 005215 1%: INC (R5)

2385 011030 012701 000142 MOV #TEMPZ R

2386 011034 012702 900136 MOV #TEMP ,R2 : LOAD ADDRESS

2387 011040 012711 0C0077 MOV #77,(R1) : PLACE 77 IN LOCATION TEMP?

2388 011044 1127064 000277 MOVB  #377,R4 * R4 SHOULD CONTAIN #177777

2389 011050 150412 BISB R4, (R2) ; LOAD LOCATION

2390 011052 004737 017236 JSR PC,a#8CC10 : CHECK FOR (C = 10

2391 011056 120412 (MPB R4, (R2) ; CHECK COMPARE

2392 011060 001404 BEQ 2% ; CONTINUE IF OK

2393 011062 012745 000237 MOV 4#233,-(RS)

2394 011066 005245 INC ~(R5)

2395 011070 000000 HALT : BISB OR CMPB INSTRUCTION FAILED
2396 011072 12111°2 ’%: {MPS (R1),(R?2) ; CHECK IT AGAIN

2397 211074 100004 BPL 3% ; CONTINUE [F OK

2398 011076 012745 000234 MOV #234 ,~(RS,

2399 011102 005245 INC -(R5)

26400 011104 000000 HALT : CMPB INSTRUCTION FAJLED [WRONG CC]
2601 011106 121211 3% (MPB (R2),{(RT) ; ONCE MORE

2602 011110 100404 BMI BI(R1 ; CONTINUE IF OK

2603 011112 ECMPRI :

2606 011112 012745 060235 MOV #235,-(RS)

2605 011116 005245 INC -(R5)

2406 011120 000C00 HALT

2407

2408

2409

2410 ;;ttttttttttttttt*ttittt"tit*!ttttttﬂﬁttitt*ttttt'tttttttttitttttttt*ttttttt
261" ;*TEST: 65 NEW INSTRUCTJONS USED IN THIS SECTION ARE BI(B, £178
2ble ::ttttttttttttt*t*ttttltttittti*ﬁwtiQtthttt*ttttttttttttttttttttttttttttttttt
2613

2614 Q11122 RI(R1:

2415 011122 021527 000065 (R5) ,#65

2616 011126 001404 sEQ 2% : IF IN WRONG SEQUENCE GO TC HLT BELOW
2417 011130 012745 000236 MOV #236,-(RS)

2618 (11136 005245 INC - (RS)

2619 011136  (00G000 HALT : PROGRAM IS IN WRONG SEQUENCE

2,20 011140 005215 2%: INC (RS)

2621 011'42 0127203 000136 MOV #TEMP,R3 ; LOAD ADDRESS

2622 011146 112713 000377 MOVB #377,(R3) ; LOAD LOCATION

242% 011152 012700 000140 MOV RTEMP1 RO -PLACE THE ADDRESS OF LOCATION TEMP1 IN RO
2626 011156 010001 MOV RO R1 JAND R1

2625 011160 112721 0060252 MOVR #2.2,\R1)+ ; PLACE #252 IN TEMPY

2626 011164 00027 SCC

2627 017166 146013 0Q000CO BICR 0(RD),(R3) : CLEAR EVERY OTHER BIT

2628 (017172 004737 017066 JSR PC,a#8CC1 ; CHECK FOR (7 - 1

D629 V1176 136113 177777 BITR =1(R1), (R ; CHECK [T

243C 011202 001404 ) BEQ 43 * CONTINUE I+ OK

263" (011204 012745 00(2%7 MOV #22%7 ,=(R%)

2632 V2 005245 INC -(R5)
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CyRAA( P11 09-0C 1-78 08:58 165 NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(B, BITE SEQ 00+ .
2633 011212 000000 HAL T : BICB OR BITB INSTRUCTION FAILED
263, 011216 732713 000125 4%: BITB  #125,(R3) : CHECK IT
2635 Q1122C 0064737 917066 ISR PC.aNSCCT * CHECK FOR CC = 1
543 011224 154113 BISB  -(R1),(R3) 1 SET THE BITS THAT WERE CLEARED
2637 011226 1004064 am] 6% * TONTINUE IF OK
2638 011230 012745 00024C MOV #2460, = (R5)
2639 01123 005265 INC -(RS)
2640 011236 000 HAL T ; BITB OR BISB INSTRUCTION FAILED
2661 011240 012746 00G177 £%: MOV #177.-(SP) : STORE #177 ON THE STA(K
2642 011244 142613 BICB  (SP)+,(R3) " CLEAR ALL THE BITS EXCEPT SIGN BIT
2643 011246 004737 017256 JSR PC,aa$CC11 * CHECK FOR CC = 11
2666 011252 13271%  000%77 BITR  #377,(R3) © CHECK IT
2445 011256 004737 017256 JSR PC,a#$CC11 : CHECK FOR CC = N
2666 011262 010300 MOV R3,.R0 : PLACE THE ADDRESS OF LOCATION TEMP IN RO
26447 011264 012710 000140 MOv RTEMPT, (RO) ; PLACE THE ADDRESS OF LOCATION TEMP! IN TEMP
2648 011270 012730 000377 MOV #377 ,2(R0O)+ : WRITE A 377 IN LOCATION TEMP1
2649 011274 000263 SEVC S SET v & C BITS
5450 011276 145070 00000G BICB  a-(RO).a(RD) " BIT CLEAR THE (ONTENTS
2451 : OF TEMP1 TO THE CONTENTS OF TEMP1
2452 011302 004737 017172 JSR PC,aN$((5 * CHECK FOR CC = 5
2453 011306 022027 000140 cMP (RO)+,#TEMPT © MAKE SURE THAT (R0) IS POINTING TO LOCATION TEMPI
2454 011312 001404 BEQ 8%
2455 Q11314 012745 000241 MOV #261,-(RS)
2456 011320 005245 INC -(RS)
2457 011322 000000 HAL T - BICB OR CMP INSTRUCTION FAILED IN THE SPECIFIC MODE
2658 011324 005750 8%: TsST a=(R0O) : TEST LOLATION TEMPIT
2456 011326 001404 ) BEQ 108
2460 011330 012745 000262 MOV #2462 ,=(RS)
2461 011334 005245 INC -(R5)
2662 011336 000600 B HAL T : BICB INSTRUCTION FAJLED
2463 011340 000257 0% cec
2464 011342 410°0 i BI(B (RO) , (RO : CLEAR THE LOCATION TEMP
2665 011344 C04737 07750 ISR PC,INSCC4 * CHECK FOR (C = 4




N 5
{. AAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 66

[y AAC P11 09~0( T=78 08:58 166 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DECB SEQ 0065
2[’66 .-:ttttittttttttttttttttttttiﬁitttttttitttttttl'tttt.ttttttttttttttl.tttttt.itt
5467 LATEST: 66 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DE(B
2(.68 ::tttttttittttttiitttttttttttttﬂtttttt**ttttttttttttittttitttttttttt'ttttttii
2669
2670 011350 INCB1:

2671 011350 021527 000066 CMP (RS) , 466

472 011356 001067 BNE E INCR1 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2673 011356 005215 1%: INC (RS)

2674 011360 0127064 000° 36 MOV #TEMP,RS . LOAD ADDRESS

2675 011364 112714 100177 MOVB  #177.(R&4) * TEMP LCCATION=177

2676 011370 006261 SEC

2477 011372 105214 INCB  (R&) . ADD ONES INTO LOCATION

2478 011374 006737 017320 JSR PC,a¥$CC13 * CHECK FOR CC = 13

2679 011600 012714 000374 MOV 2376, (R&)

2480 011406 012700 017256 MOV #$CC11.R0 . MAKE RO POINT TO CHECKING ROUTINE FOR CC = 17
2481 011410 105226 INCR  (R&)+ .

2682 011412 004720 JSR C, (RO) + * CHECK FOR CC = 11

2483 011414 105764 ISTR =(R4) " DECREMENT R&4 BY 1

2484 011416 005766 TST -(SP) © AND SP BY 2

2685 011420 010426 MOV RG. (SP) + * P_ACE THE ADDRESS GF TEMP ON THE STA(X
2486 011422 00024° cLC : CLEAR C BIT

2687 011424 105256 INCB  @=(SP) * INCREMENT THE CONTENTS OF LOCATION TEMP
2488 011426 004737 017150 JSR PC,a#$(C4 " CHECK FOR CC = &

2489 011432 12363 CMPR a(SP)+,a(R4)+ : RESTORE STACK POINTER

26490 011434 000261 SEC - SET C BIT

2491 011436 105264 177777 INCB  =1(R&4)

24692 011442 004737 017066 JSR PC,aNsC(? . CHECK FOR (C = 1

5493 011446 124427 000007 (MPR =(R&) .41 * CHECK IT

2494 011452 001404 BEG 2% * CONTINUE IF OK

2495 011454 012745 000243 MOV #243,-(RS)

2496 0116460 005245 INC -(R5)

2497 011462 000000 HAL T : INCB INSTRUCTION FAILED

2498 011464 000261 2% : SEC

2499 011466 105314 DECB (R4} - SUBTRACT ONES FROM LOCATION

2500 011470 004737 017172 JSR PC,a¥$CC5 * CHE(K FOR CL = 5

3507 011474 105324 DECB  (R&4)+

2502 011476 004740 JSR PC.,-(RO) : CHEFK FOR CC = 11

2503 (11500 112764 000200 177777 MOvB  #200,-1(R&)

2506 011506 105344 DECB  =(R&) :

2505 011510 004760 177650 JSR PC,$CC3-$CCT11(ROY; CHECK FOR CC = 3

2506 011514 105364 000000 DECB  O(R4) :

2507 011520 004737 017066 JSR PC,aN$CC] * CHECK FOR CC = 1

5508 011504 126427 000000 00017 (MPB  O(R/),#17¢

2509 011532 001404 BEQ COMB1

2510 011534 EINCRT:

2511 011534 012745 000244 MOV 8244 ,~(RS)

59512 011540 005245 INC - (RS}

qggz 011842 000000 HAL T _ DE.B INSTRUCTION FAILED OR SEQUENCE ERROR
614
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CVKAAL MACY11 30A(1052) 09-0(T-78 08:?26 PAGE 67

C 'KAAC . P11 09-0( =78 08:58 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DE(B SEQ 0066
2522
252§ ;;ttttttttttttttttttttttiﬁtttttttttttﬁttttttttttttttt'ﬁtﬁtittttttttltittttttt
2524 :eTEST: 67 NEW INSTRUCTION IN THIS SECTION IS (OMB
2525 :;-tnatttatttttttttttttwqttttttttttttttttttt--tttttttttttttt:-tta-ttttttatttt
2526
2527 011544 (OMR1:
2528 011544 021527 000067 CMP (RS) ,#67
2529 01155G 001404 BEQ 1% : IF IN WRONG SEQUENCF GO TO HLT
2530 011552 012745 000245 MOV #245,-(RS)
2531 011956 005245 INC -(R5)
2532 011560 000000 HALT : TEST 1S IN WRONG SEQUENCE
2533 011562 005215 1¢: INC (RS)
253% 011564 012703 000136 MOV #TEMP R3S : LOAD ADDRESS
2535 011570 012704 000140 MOV #TEMPT,R4
253 011574 012714 (00025¢ MOV 8252, (R&)
2537 011600 112413 MOVB (RGV+, (R3) : LOAD EVERY QOTHER BIT
2538 J11602 000277 SCC
2539 011604 105113 comB (R3) : 1'S COMPLEMENT
2540 011606 004737 017066 JSR PC,a#sC(C : CHECK FOR C =1
2541 011612 122713 000125 CMPR #125,(R3) : CHECK IT
2542 011616 001404 BEQ 2% : CONTINUE IF OK
254% 011620 012745 000246 MOV #246,- (RS,
2544 011624 005245 INC -( "))
2545 011626 000000 HALT : COMB INSTRUCTION FAILED
2546 011630 000277 2%: SC(
2547 011632 105113 comMB (R3) ; COMPLEMENT BA(K
2548 011634 004737 017256 JSR PC,a#8CCM : CHECK FOR CC M
2549 011640 010400 MOV R4 ,R0O
2550 011642 126013 177777 (MPB -1(RO), (R : CHECK [T
2551 011646 (001404 BEQ 3% : CONTINUE IF OK
2552 011650 012745 000247 MOV #247 ,-(RS)
2553 011654 005245 INC -(RS)
2554 011656 000000 HALT : COMB INSTRUCTION FAILED
2559 011660 112724 000377 2%: MOVR #3777 ,(R4)+
255 011664 114413 MOVR -(R4) , (R3) : PLALE #377 IN (R3)
2557 011666 000277 Scr
2558 (11670 105113 COMB (R3)
2859 (1672 004737 (07172 JSR PC,a#8( (5 : (HELK FOR CC - S
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MACY11 304(1052) 09=-0(T-78 08:59 PAGE 68
P11 09~0r1-78 08:58 170 NEW INSTRUCTION IN THIS SECTION IS NEGB SEQ 0067

"itttttltti!.tttttttt'ﬁ".ﬁ"..ttiiitttIQQtttti'iitﬂit!tttﬁtttttt“ttttttttt

TeTEST: 70 NEW INSTRUCTION IN THIS SECTION IS NEGB

;:tttttttttttt'.'lttttiittttt.ttii.t‘i.'ittit'tﬁtt.ﬁﬁlttitilttt"ttttiﬁti'ﬁii

011676 NEGET :

011676 (21527 00QL7C CMP (RS) ,#70

011702 001027 BNE ENEGS1 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

011704 005215 1¢: INC (RS)

011706 012700 000136 MOV #TEMP RO : LOAD ADDRESS

911712 112710 00007 move  #1, (R0 * LOAD THE LOCATION

011716 105410 NEGR (RO) © 2'S COMPLEMENT

011720 004737 017256 JSR PC,a#$CC11 * CHECK FOR CC - 1

011724 122710 000377 CMPR 4377, (RD) . CHECK IT

011730 001404 BEQ 2% * CONTINUE IF OK

011732 C12745 000250 MOV #250,~(RS)

011736 005245 INC -(RS)

011740 0000C0 HAL T : NEGB INSTRUCTION CAILED

011742 012710 000200 2% : MOV #200., (RO)

011746 105410 NEGR (RD) : 2'S COMPLEMENT

011750 004737 017320 JSR PC.a#$(C13 * CHECK FOR CC 13

011754 122710 000200 cMPs #200, (RO © CHECK IT

011760 001404 8EQ ROLAB1 * CONTINUE IF OK

011762 ENEGB1:

011762 012745 000257 MOV #251,-(RS)

011766 005245 INC -(RS)

011770 000000 HAL T : WRONG RESUL™ AT TEMP OR WRONG SEQUENCE
;:‘tt*itttttttttttttttt"tttttttttt*ttttltttttttttttttttttitﬁtttttttttt'ttttt
CWTEST: 71 NEW INSTRUCTION IN THIS SECTION IS ROLB
;:ttttttitﬁtttiititttttttttttttttitttitttttttttitttttitﬁttttttttttttti‘lttttt

011772 ROLB1T:

011772 021527 000071 cMP (RS) , 471

011776 001030 BNE EROLR1 . IF IN WRONG SEQUENCE GO TO HLT ABOVE

012000 005215 INC (R5)

012002 012701 000140 MOV #TEMPT,R) : LOAD ADDRESS

012006 112711 000040 MOVE  #40,(RD) © LOAD LOCATION

012012 000257 cCe * CLEAR FLAGS

012014 106111 ROIB (R1) L SHIFT

12016 106111 ROLB (R1) .

012020 004737 017300 JSR P, a#8CC12 " CHECK FOR (C 2

012024 122711 000200 s 4200, (RD * CHECK IT

012030 001404 BEQ 1% : CONTINUE IF OK

012032 012745 000252 MOV #252,-(RS)

012036 005245 INC - (RS}

012040 000000 HAL T . ROLB INSTRUCTION FAILED

012042 10611} 1% ROLB (R") © SHIFT

012064 006737 017274 JSR PC,ad80C7 © CHECY FOR (C = 7

012050 106111 ROLB (R1) L SHIFT

012052 122711 000001 (MPB #1, (R © CHECK 7

012056 001404 BFQ RORB1 : CONTINUE IF Ok

012060 EROLB1T:

012060 012745 000253 MOV #253,=(RS)

110064 0052445 INC - (K5}

_ i
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CWKAAC.PT (7=-78 0B8:58 7 NEW INSTRUCTION IN THIS SECTION IS ROLB SEQ 0068
2616 012066 (GO0 HA_T : WRONG RESULT AT TEMP1 OR WRONG SEQUENCE
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2632 012124
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2636 012132
2635 012134
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2637 012142
2638 012144
2639 012150
2640 012154
26461 012156
2642 012156
26463 012162
2646 012164
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2655 012174
2656 012200
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70
172 NEW INSTRUCTION IN THIS SECTION IS RORB

SEQ 0069

"ttttﬁt"ﬁt'iitﬁtiﬁ**lﬁ'ﬁtitt't'titittttﬁ‘*l‘tittit*titttttitﬁt.tttittittt..

NEW INSTRUCTION [N THIS SECTION IS RCRB

SRTEST: 72

L

':tittttttt*‘ifiﬁiltt*tﬁ.*‘i‘ttitit*ittﬁtﬁttttt.li‘ttttﬁtttttttttttt.t‘ttittt

RORRB1 :
(MP (RS) 472
?:E ?29?81 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
MOV #TEMP1 ,R2 : LOAD ADDRESS
MOVB  #4, (R2) > LOAD LCCATION
(cc > CLEAR FLAGS
RORB (R2) . SHIFT
RORB (R2) ;
(MPB  #1,(R2) L CHECK !T
BEQ 1% © CONTINUE IF OK
MOV #254 ,-(RS)
INC -(RS)
HALT : RORB INSTRUCTION FAILED
1¢: RCRB (R2) : SHIFT
JSR PC.ad$CC7 " CHECK FOR CC 7
SORB  (R2) L SHIFT
JSR PC,a#$C(C12 * CHECK FOR CC = 12
s #200, (R L CHECK IT
8EQ ASLB1 * CONTINUE IF OK
ERORRB1 :
MOV #255.,-(RS)
INC ~(RS)
HAL T . WRONG RESULT AT TEMP1 OR WRONG SEQUEN(CE

"Qt*tttttt*ttttt*ﬁﬁtt‘*tittt*it*tﬁtﬁt**tttttllttt**itt'tititttitttt**tit*ttt

NEW INSTRUCTION IN THIS SECTION IS ASLB

:;tttkt*tﬁ***t*lttt*tttit'ttt**tﬁit*t*tttt**k*tttttttt‘tti*ttttttﬁttttltt'itt

LeTEST: 73

ASLB1:

P (RS) 473

B8E 2 Py : IF IN WRONG SEQUENCE GO TO HLT BELOW

MOV #256,~(R5)

INC ~(RS)

HALT . PROGRAM IS IN WRONG SEQUENCE
2% : INC (RS)

MOV ATEMP1 R3 : LOAD ADDRESS

MOVB  #40,(R3) © LOAD LOCATION

°CC * CLEAR FLAGS

ASL R (R3) L SHIFT

ASLR (R3) :

JSR FC o812 * CHECK FOR CC = *2

MR #2850, (R3) * CHECK 17

BEQ 48 * (ONTINUE IF OK

MOV #257,-(R5)

INC -(RS)

HAL T ; ASLS INSTRUCTION FAILED
u$: ASLB (RD) © SHIFT

ISR B ans(7 * CHECK FOR (C = 7

AS| B (R%) T SHIFT
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2673 07225¢ {06737 (17150 JSR PC,a#$((4 ; CHECK FOR CC = 4
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174

G 6
NEW INSTRUCTION IN THIS SECTION IS ASRB

SEQ 2071

--tttttttttttttttttttttttttttttt*ttttttttttttttttttﬁttttttttttttttttttttttttt

NEW INSTRUCTION IN THIS SECTION IS ASRB

:;*ttttt*tt*tt*t‘ﬁ‘ﬁ*t!ii*t*i*t*****ﬁt*ttiit*tt*tttttiltttiittittttittitil.'t

S«TEST:
ASRB1 :

1%:

EASRB1:

74

{MP
BNE
INC
MOV
MOV
MOVRB
ccc
ASRB
ASRB
CMPR
BEQ
MOV
INC
HALT
ASRB
JSR
ASRR
JSR
MOVB
ASRB
ASRB
JSR
(MPR
BEQ

MOV
INC
HALT

(R5) ,#74
EASRR1
(RS)
#TEMP1 R4
H#TEMPZ ,R3
#4, (R4

(R4)
(R4)
#1,(R4)

2%
#260,-(RS)
=(RS)

(R&4)
PC,a48CC/
(R4)
PC,a#$CC4
#202, (R3)
(R3)

(R3)
PC,a#8C(71
#340, (R3,
AD(CR?

#261,-(R5)
-(RS)

YR YRR R N X

Wy We g By BB,y N, v, L3

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
LOAD ADDRESSES

LOAD LOCATION
CLEAR FLAGS
SHIFT

CHECK IT
CONTINUE IF OK

ASRB INSTRUCTION FAILED
SHIFT

CHECK FOR (C - 7

SHIFT

CHECK FOR CC - &

LOAD LOCATION

SHIFT

CHECK FOR CC - N
(HECK IT
CONTINUE IF COK

: WRONG RESULT AT TEMP2 OR WRONG SEQUENCE

"Qtttttttttttttttttt'ttttttttttittt&!ttwtttttttttﬁtitttttt&t.ttttitwtttttttt

NEW INSTRUCTION [N THIS SECTION IS AD(B

::ttitttt*.tt..t'.t.ittt't"!'ﬁl.t‘t't*tttiiit.ttttt.ivttttiiiii‘tti.tt*'.t.t

E:TEST:

AD(B1:

’%:

75

CMP
BEQ
MOV
INC
HALT
INC
MOV
CLRB
CCC
AD(B

SEC

(R5) 475

2%
#262,=(R5)
-(RS)

(R5)
#TEMP2 RO
(RG)

(RO)
PC.aN8((4

{RQ)
(RO

; IF IN WRONG SEQUENCE GO TO HLT BELOW

LX]

FROGRAM IS IN WRONG SEQUENCE

LOAD ADDRESS

(LEAR THE LOCATION
CLEAR FLAGS

/DD C BIT = 0
fH%CK FOR (C = 4

C
AD? Carr=
AGAIN




“vKAA(  MACYY1 30A(1052)
{ YKAAC.P11 09-0(T1-78
2730 012446 004737
2731 012452 122710
2732 012456 001404
2733 012460 012745
7% 012464 005245
2735 032666 000000
2736 0126470 112710
2737 012474 000261
2738 012476 105510
2739 012500 004737
27640 012504 122710
2741 012510 001404
2742 012512 012745
2763 012516 005245
2764 012520 000000
2745 012522 112710
27646 012526 000261
2747 012530 105510
2748 012532 004737

08:58

017046
000002
000263
000177
217300
000200
000244

000377

{d17‘| ];

09-0(1-78 08:59 PAGE
: 175

A ¥

%

73
NEW INSTRUCTION IN THIS

JSR
CMPB
BEQ
MOv
INC
HALT
MOVR
SEC
AD(CB
JSR
{MPB
BEQ
MOV
INC
HALT
MOVRB
SE(
AD(B
SR

H 6

PC,a#$CC0
#2.(R0O)

4%
#263,-(RS)
=-{(R5S)

#177.(R0O)
(RO)
PC,aN$CC12
#200, (RO

6%
#264 ,~(R5)
-(RS)

#377,(R0O)

(RO)
PC,aas$Cl5

SECTION IS AD(CB

LI T T I R R N

(HECK FOR (C = O
CHECK [T
CONTINUE IF OK

ADCB INSTRUCTION FAILED
%O?D LARGEST POSITVE BYTE
ADD C BIT="

CHECK FOR CC = 12

CHECK [T

CONTINUE IF OK

; ADCB INSTRUCTION FAILED

-0AD -1
c-1
ADD C B

IT=1
(HECK FOR CC = 5

SEQ 0077
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~yCAAC  MACY11 30A(1052) 09-0CT-78 08:59 PAGE 74
TyRAA( P11 09-0(7-78 08:58 176 NEW INSTRUCTION IN THIS SECTION IS SB(B SEC 0073
2749 ;:tttttttttItttttttttttttttttttttlttttttttttttttttttttttt-t-t-anwtnttttttnt..
2757 ;*TEST: 76 NEW INSTRUCTION IN THIS SECTION IS SB(B
2751 ::ttttttttttt!itttttttttttttttttttt*ttttttttttttﬁttttﬁttttnttiwtt'ttttitt-ttt
2752
275% 012536 SB(B1:
2756 01253 021527 000076 (MP (RS) , 476
2755 01254 001404 BEQ 1% : IF IN WRONG SEQUENCE GO TO HLT
2756 012544 012745 Q00265 MOV #265,-(R5)
2757 012550 005245 INC -(RS)
2758 012552 000000 HAL T ; TEST IS IN WRONG SFQUENCE
2759 012554 005215 1%: INC (R5)
2760 01%556 012701 000142 MOV HTEMP?2 R1 ; LOAD ADDRESS
2761 012562 112711 000003 MOVB #3.(R1) ; LOAD LOCATION
2762 012566 000257 LoC ; CLEAR FLAGS
2763 012570 105611 SBCR (R1) ; SUBTRACT C BIT=0
2764 012572 004737 017046 JSR PC.a#$CC0O ; CHECK FOR CC = 0
2765 012576 122711 000003 CMPB 43, (R13 ; CHECK IT
2766 012602 001404 BEQ 2% ; CONTINUE IF OK
2767 012604 012745 000266 MOV #246,-(RS)
2768 012610 005245 INC -(RS)
2769 012612 000000 HALT ; SBCR INSTRUCTiON FAILED
2770 012614 000261 2%: SEC ;=1
2771 012616 105611 SB(R (R1) . SUBTRACT C BIT=1
2772 012620 0002n1 SEC ;1
2773 0126¢2 105611 SB(R (R1) :
2776 012624 004737 Q17046 JSR PC,a#8(CO ; CHECK FOR CC =0
2775 012630 122711 000001 (MPB #1,(R1) ; CHECK IT
2776 012634 001404 BEQ 3% ; CONTINUE IF OK
2777 012636 012745 000267 MOV #267,-(R5)
2778 012642 005245 INC -(RS)
2779 012644 000000 HALT ; SBCB INSTRUCTION FAILED
2780 012646 000261 3%: SEC ; (=1
2781 012650 105611 SB(R (R1) ; SUBTRACT (C BIT=1
2782 012652 004737 017150 JSR PC,a#8(C4 ; CHECK FOR (C - &4
2783 012656 000261 SEC ; C=1
2784 012660 105611 SB(B (R1) : SUBTRACT C BIT -1
2785 012662 004737 017256 JSR PC,ans(C1 ; CHECK FOR CC = 11
2786 012666 122711 000377 (MPB  #377,(R7) : CHECK IT
3787 012672 001404 BEQ 43 : CONTINUE IF OK
2’88 012674 012745 000270 My #270,-(R5)
2789 012700 005245 INC ~(R5}
279C  €12702 000000 HAL T ; SB(B INSTRUCTION FAILED
2.9 Q012704 112711 000200 L$: MGVA #200, (R1) . LOAD R1
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r /RAAC. P11 09-0( 1-78 08:58 176 NEW INSTRUCTION IN THIS SECTION IS SB(B SEQ 0074

2792 012710 000261 SEC ;€=
279% (12712 70561 SB(B  (R1) : SUBTRACT € BIT

=1
279 N12714  OGe737 ™M7106 JSR PC.a#$C(2 ; CHECK FOR (C = 2
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CVKAAC P11 09-0(1-78 08:58 CHECK WORD INSTRUCTIONS, NOT DESTINATION MODE O SEQ QU/7°
2795
2794
%;3; ; CHECK WORD INSTRUCTIONS, NOT DESTINATION MODE O
2799
2800
2801
2802
2803
28G4 ;;ittattttttt*ttt*ttt*ttttttttttttttttitttttttttttttttttttitttttt'ttttttttttt
2805 c*TEST: 77 NEW INSTRUCTIONS USED IN THIS SECTION ARE TST, (LR, MOV
2806 ;;Qttttttttttt*ttttt*tttttttttt*tttttﬁtttttttttittttﬁtttttttttttittttttttttﬁt
2807
2808 012720 TST1:
2809 012720 021527 000077 (MP (RS) 477
2810 012724 001404 BEQ 1% ; IF IN WRONG SEQUENCE GO TO HLT
2811 012726 012745 000271 MOV #271,-(R5)
2812 012732 005245 INC -(RS5)
2813 012734 000000 HALT ; TEST IS IN A WRONG SEQUENCE
2814 012736 005215 1%: INC (R5)
2815 012740 012701 000136 MOV N#TEMP R1 ; LOAD ADDRESSES
2816 012744 012700 000140 MOV #TEMP1 RO :
2817 012750 000277 SCC
2818 012752 005010 CLR (RO) ; CLEAR THE LOCATION
2819 012754 004737 017150 JSR P, a#8CC4 ; CHECK FOR CC = 4
2820 012760 005720 TST (RO) + s CHECK IT
2821 012762 004737 017150 JSR PC,aN$(C4 ; CHECK FOR (C = 4
2822 012766 010040 MOV RO,=(R0)
2823 012770 012730 177777 MOV 8177777 ,a(R0)+
2824 012774 017C11 177776 MOV a=2(R0), (R1) ; LOAD THE LOCATION
2825 0°3000 004737 017236 JSR PC,a#8$CC10 ; CHECK FOR (C = 10
2826 013004 005711 R TS1 (R1) ; CHECK [T
Sggg 013006 004737 017236 JSR PC.a48CC10 ; CHECK #OR (C = 10
2829
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CVKAAC.P11 09-0(T-78 08:58 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS SEQ 0076
2831 ::tttttttttttliltttttttttttttitkttttittttttttttt'tttttntttttttttt-!tttttt'ttt
283/ ;«TEST: 100 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS
2833 :;ttttttttttttttttttttttttttttttttttttttitttttttitttttttttttttQtttttttttttttt
2834
283" 013012 CMP1:

283 013012 021527 000100 CMP (RS) ,#100
2837 013016 001113 BNE ECMPT : IF IN WRONG SEQUENCE GO TO HLT AT THE END Of THE EST
2838 013020 0C5215 1$: INC (R5)
2839 013022 012702 000140 MOV #TEMP1 R2 : LOAD ADDRESS
280 013026 012700 200136 MOV #TEMP RO : PLACE THE ADDRESS OF TEMP [N RO
2841 013032 012720 177777 MOV #177777.(R0)+ : PLACE #177777 IN LOCATION TEMP AND INC. RO BY ¢
2842 013036 054012 BIS -(R0), (R2) ; LOAD LOCATION
2843 013040 0C%/737 017236 JSR PC,a#8C(C10 ; CHECK FOR CC = 10
2844 013044 022227 177777 (MP (R2)+.,#177777 : CHECK COMPARE
2845 013050 001404 BEQ 2% ; CONTINUE [F OK
2846 013052 012745 000272 MOV #272,-(RS)
2847 013056 005245 INC -(RS)
2848 013060 000000 HALT ; CMP OR B]S INSTRUCTION FAILED
2849 013062 020227 000142 2%: cMP RZ.ATEMP1+2 . (HECK R2 TO CONTAIN ADDRESS OF TEMP1+2
2850 013066 001404 BEQ 3%
2851 013070 012745 000273 MOV #273,~-(RS®
2852 013074 005245 INC -(R5)
2853 013076 CO0000 HALT ; NO AUTO INCREMENT
2854 013100 022742 000077 3%: (MP #77,-(R2) ; CHECK IT AGAIN
2855 013104 004737 017066 JSR PC,a#8CC1 ; CHECK FOR (C =71
2856 013110 022722 077777 CMP H77777.(R2)+
2857 013114 004737 017320 JSR PC,ao8CC13 : CHECK FOR CC = 13
2858 013120 024227 077777 CMP ~(R2) A77777 ; ONCE MORE
2859 013124 004737 017236 JSR PC,a#$CC10 : CHECK FOR CC = 10
2860 013130 012767 052525 165G04 MOV 452525, TEMP? : SET EVERY OTHER BIT IN TEMP?
2861 013136 012767 000142 164774 MOV HTEMPZ , TEMPT : PLACE THE ADDRESS OF TEMPZ IN LOCATION TEMP1
2862 013144 012704 000126 MOV #ADR R4
2863 013150 012714 000130 MOV #ADR1 , (R4) : PLACE THE ADDRESS OF ADR1 IN ADR POINTED BY Ré
2864 013154 012734 125252 MOV #1252§2.3(R4)+ : PLACE THE #125252 IN LOCATION ADR1
2865 013160 057432 177776 BIS a-2(R4) ,a(R2)+ ; SET EVERY OTHER BIT AT LOCATION TEMP?
2 : AND INCREMENT RZ BY 2
2867 013164 010200 MOV RZ2.R0O : PLACE ADDRESS OF TEMPZ2 IN RO
2868 C13166 025027 177777 (MP a-(R0O) ,#177777 ; TEMP?2 SHOULD CONTAIN ALL 1°S
2869 013172 001404 BEQ [ 3
2870 013174 012745 000274 MoV #2764 ,~(RS)
2871 013200 005245 INC -(R5)
2872 (13202 000000 HALT : CMP OR BIS INSTUCTIONS FAILED IN MODES OTHER THAN O
ng3 013206 020227 000142 L% (MpP R2.#TEMP1+?2 . ?2ESH?ghg1C8NTAIN THE ADDRESS FOR TEMP?
t . «Le. +
2875 013210 001404 BEQ 5%
2876 013212 012745 000275 MOV #275,~(RS)
2877 013216 005245 INC -(R5?
2878 013220 000000 HALT ; MODE 5 IS FAILING
2879 (013222 005040 5%: (LR -(RQ) : PLACE A O IN LOCATION TEWP
2880 013224 010067 164712 MOV RO, TEMP/? . PLACE ADDRESS OF TEMP IN LOCATION TEMP?
2881 013230 022020 CMP (RQ)+, (RQ)+ * BUMP RO BY &
2882 (013232 055070 00000¢ _ BIS a~={(R0) ,a2 (RO) : PLACE THE CONTENTS OF LOCATION TEMP2 AT TEMP
2883 (013236 022767 000136 164677 CMP #TEMP,TEMP : LOCATION TEMP SHOULD CONTAIN ITS OwN ADDRESS
BB, (13244 001404 BEC BIC1
2885 (013246 FiMP1;

288o (3246 072745 000276 MOV #276,-(RS)
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1100

PAGE 78
NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS

INC
HALT

M 6

-(R%)

: CMP OR BIS INSTRUCTIONS FAILED OR WRONG
: SEQUENCE COUNTER

"ttttttttﬁItitit*tt*tttt*it*tlttt*ttttit*iﬁtt*tttttttttilitﬁtt'ttﬁtttttttitt

LATEST: 101

BIC1:

1%:

3%:

BNE
INC
MOV
MOV
MOV
MOV
MOV
MOV
MOV
SCC
BiC
JSR
BIT
BEQ
MoV
INC
HALT
BIT
JSR
BIS
BMI
MOV
INC
HALT
MOV
MoV
BIC
JSR
CMpP
BEQ
MOV
INC
HALT
MOV
SEVC
BIC
JSR
BIT
JSR
MOV
MOV
BIC
(MP
BEG

NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, BIT

::tttt*ﬁtttt*itt*ttttt*t*t*i‘ttit**tt*t***iﬁttttttﬁittttﬁtttttt"tttti'tttttt

(RS) , 4101
eRIC]

(R5)

#TEMP ,R3
#177777.(R3)
#ADR R4
#ADRT, (R4)
(R3),a(R&) +
#TEMP1 RO
#125252, (RD)

(RC) +, (R3)
PC,a#8CC]
-(R0), (R3)
1%
#27¢,-(RS)
-(R5)

#52525, (R3)
PC,a48((1
0(R0), (R)

2%
#300,-(R%)
=(R5)

#77777,(R0O)+
RO.R2
-2(R2), (R3)
PC,a#8CC11
RO, #TEMP1+2

3%
#301,-(RS)
-(R5)

RC, (RO)+

a—-(R®) RO
PC,a#8(C5
a-2(R4) , (R3)

R
1
#125252,-(SP)
a=2(R&) , (R3)+
0(sP) ,~(R3
(A7) + 4525

L3

S
3
)
25

Ve B, %, 0, N,

Ve MaBe W0y, N, N,

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD ADDRESS

LOAD LOCATION

PLACE THE ADDRESS OF ADR IN R4

PLACE THE ADDRESS OF ADR1 IN_ADR
LOAD LOCATION ADR1 WITH #177777
P_ACE THE ADDRESS OF TEMP1 IN RO

SET EVERY OTHER B8IT AT LOCATION TEMP1

CLEAR EVERY OTHER BIT
CHECK FOR (C = 1
(HECK IT

ConTlinue IF OK

BIC OR BIT INSTRUCTION FAILED
CHECK IT

CHE(K FOR CC = 1

SET THE BITS THAT WERE CLEARED
CONTINUE IF OK

BIT OR BIS INSTRUCTION FAILED
SET ALL THE BITS AT LOCATION TEMP1 EXCEPT SIGN BIT

TRY CLEARING THE OTHER BITS
CHECK FOR CC - 1
RO SKOULD CONTAIN THE ADDRELS OF TEMP1+?2

FLACE THE ADDRES OF LQCATIiON TEMPZ IN TEMP?
SET v & C BITS

CLEAR RO

CHECK FOR CC - 5

CHECX IT

CHECK FOR CC = 11

SET EVERY QTHER BIT ON THE STACK

SET ALL THE BITS AT LOCATION TEMP

CLEAR EVERY OTHER BIT AT LOCATION "EMP

TEMP SHOULD CONTAIN & 52925

SEQ 0077
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MACY'1 30A(1052) 09-0C(T-78 08:59 PAGE 79
P 09-0C7-78 (08:58 7107 NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(, BIT SEQ 0078
013472 012745 000302 MOV #302,.-(RS)
013476 005245 INC -(RS)
01350C 0Q0000C HALT : BIC FAILED [N MODE 6
013502 012700 00044 4% MOV #TEMP2+2 RO . PLACE THE ADDRESS OF TEMP2+2 IN RO
013506 010340 MOV R3,=-(R0) ; PLACE THE ADDRESS OF TEMP1 [N TEMP?
013510 014330 MOV ~-(R3),3(R0O)+ ; MOVE # 52525 IN LOCATION TEMPI
013512 000262 SEV( : SET v E&CBITIS
0135146 035026 BIT a=(R0O), (SP)+ © BIT TEST TEMPY WITH STACK AND RESTORE STA(K POINTER
013516 004737 017172 JSR PC,a#$((S : CHECK FOR CC = S
013522 020627 0450 CMP SP_#START . MAKE SURE THAT THE SP IS OK
013526 001404 BEQ INCT
013530 . FRICT:
01353C 012745 50307 MOV #303,~-(R5)
013536 505245 INC =(RS)
01353 000000 HAL T : STA(CK POINTER FOULED UP OR SEQUEN(E FWROR
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r KAA( P 09~0( 1=-78 08:58 1102 NEW INSTRUCTIONS USED IN THIS SECTION ARE INC, DEC SEQ 007
2958 ::ttttttltttﬁtt.tttttttttttt!tttttitittttttttttttttttttttttttttttttt.tttt-ttt
2953 seTEST: 102 NEW INSTRUCTIONS USED IN THIS SECTION ARE INC, DEX
2960 ;:ttttttttttittttt*ttﬁtt'ttttttttttﬁﬁﬁtitﬁttttttttttItttttttltttt‘ttttiﬂhtti.
2961
2962 013540 INCT:

2963 013540 (021527 000102 CMP (RS) ,#102

2964 013544 0014604 BEQ 2% : IF IN WRONG SEQUENCE GU TO HLT BELOW
2965 01%546 012745 000304 MOV #304 ,- (RS,

2966 013552 005245 INC ={RS)

2967 013554 Q00000 HALT : PROGRAM [S IN WRONG SEQUENCE
2968 013556 005215 2%: INC (RS)

2969 01;560 012704 000140 MOV RTEMP1 R4 . LOAD ADDRESS

2970 013564 012714 077777 MOV 877777, (R&) : TEMPY = 77777

2971 013570 000261 SEC

2972 013572 005214 INC (R4) : ADD ONES INTO LOCATION

297% 013574 004737 017320 JSR PC,a#8CC13 ; CHECK FOR CC = 13

2974 013600 012714 177776 MOV 8177776, (R4)

2975 013604 012700 000136 MOV #TEMP RO + RO IS POINTING TO LOCATION TEMP
2976 013610 012710 217256 MOV A$CC1T, (ROD . PLACE THE ADDRESS OF SUBROUTINE TO CHECK CC - 11
2977 : IN LOCATION TEMP

2978 013614 005214 INC (R&) :

2979 013616 004730 JSR PC.,a(R0O)+ : CHECK FOR CC = N

2980 013620 005214 INC (R&) ;

2981 013622 004737 017172 JSR PC,a#%CC5S : CHECK FOR ({ = 5

2982 013626 005214 INC (R4)

2983 (013630 004737 017066 JSR PC,a#$C(1 : CHECK FOFR CC =1

2984 (013634 026427 000000 070001 CMP 0(R4) M1 ; CHECK IT

JUBC 013642 001404 BEQ 4% > CONTINUE [F OK

2986 013644 012745 00305 MOV #305,-(RS)

2987 013650 Q05245 INC =(R5)

2988 013652 000000 HALT ; INC INSTRUCTION FAILED

2989 013654 000261 4% SEC

2990 013656 005314 DEC (R4) : SUBTRACT ONES FROM LOCATION
2991 013660 004737 017172 JSR PC.,348CCE ; CHECK FOR CC = 5

2992 013664 005314 DEC (R4)

2993 013666 004770 177776 JSR PC,a~2(R0O) : CHECK FOR CC = 1

2994 013672 012714 100000 MOV #100000, (R4)

2995 013676 005314 DEC (R&) ;

2996 013700 004737 017126 JSR PC,a#8C(3 : CHECK FOR €C - 3

2997 013704 005314 DEC (R4) :

2998 013706 004737 017066 JSR PC,a#8C() : CHECK FOR CC =1

2000

3001

2007 ;;tttttttttttttttttt!t'ttttttittttt*ﬁtltttttttttttttt*tttltttt‘tittttttttttit
3003 ;«TEST: 103 NEW INSTRUCTION IN THIS SECTION IS COM

2004 ::ttttttttttltttttiitttttttttttttt-ititttﬁttttt!ttitit*i**tttttitiitttititttt
2005

3006 013712 COM1:

3007 013712 021527 0001C3 (MP (RS5) ,#103

3008 013716 001604 BEQ 1% s IF IN WRONG SEQUENCE GO YO HLT
3009 013720 012745 000306 MOV 27206,=(RS)

3010 013724 005245 INC =(R5)

3011 013726 OOOQOO HALT : TEST IS IN WRONG SEQUENCE

3012 013730 0052°S5 '%: INC (n%)

301 0173 012703 000740 MOV #TEMP R3 ; LOAD ADDRESS




c 7
(VKAAL MACY'!1 30A(1052) 09-0(T~78 08:5?03PAGE 81

r AAC.P11 09-0CT-78 08:58 1 NEW INSTRUCTION IN THIS SECTION IS COM SEQ 008U
3014 013736 012713 125252 MOV 8125252, (R3) : LOAD EVERY OTHER BIT
3015 0137472 000277 SCC
2016 013744 005163 200000 com 0(R3) : 1'S COMPLEMENT
3017 013750 004737 017066 JSR PC,a#sCC) * CHECK FOR CC = 1
018 013756 022713 052525 CMP #52525, (R3) * CHECK IT
3019 013760 001404 BEQ 2$ * CONTINUE IF OK
3020 013762 012745 000307 MOV #307,-(RS)

3021 013766 005245 INC -(RS)

1052 013770 000000 HAL T : COM INSTRUCTION FAILED
3033 013772 000277 2%: SCC

3024 013774 005123 {OM (R3)+ : COMPLEMENT BACK

3025 013776 004737 017256 JSR PC.a#$CC 11 © CHECK FOR CC = 11

3026 014002 022743 125252 CMP 8135250 -(R3) . CHECK IT

3027 014006 001404 ) BEQ 3$ * CONTINUE IF Ok

3028 014010 012745 00G310 MOV #310,~(RS)

3029 014014 005245 INC -(RS)

3030 014016 000000 HAL T : COM INSTRUCTION FALED
3031 014020 010300 7% MOV RS,,RO : RO IS NOW POINTING TO LOCATION TEMP1
3032 014022 012710 177777 MOV 2157777, (RO)

3033 014026 000277 SCC

3034 014030 005110 COM (RO)

3035 014032 004737 017172 JSR PC.,aN$CC5 . (HECK FOR CC - 5
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283
orno
NONONIN 2 =

2000
o Qs Gourd

026214
001404

012745
005245
000000

021527
001032
005215
012701
012711
000257
006121
006141
004737
022711
001404
012745
005245
000000
006161
004737
0101¢2

17

006
022711
007406

0001064
000140
000007
100000

017256
177777

000311
000000
017320
200000

000312

000105

000142
020000

017300
100000

000313

000000
017214

aNo001

09-0CT7-78 08:59 PAGE 82
1 NEW INSTRUCTION IN THIS SECTION IS NEG

00000

1104

D 7

SEQ 0087

"ti*ttiittﬁ*t*ﬁiﬁtiiﬁt*'ittit*t*ti‘iitittttttttttttt!ttﬁtltttﬁtttttttttt.".

NEW INSTRUCTION IN THIS SECTION IS NEG

;:titttﬁ‘itititt*ﬁ*ttt*t*‘iiitttittﬁt*iiﬁﬁ'tttttttitttttttt!tltt!i'ttti.tttﬁt

S*TEST: 104

NEG1:

cMP

BNE
1%: INC
MOV
MOV
MOV
MOV
NEG
JSR
CMP
BEQ
MOV
INC
HALT
MOV
NEG
JSR
CMP
BEQ
ENEG1:

MOV

INC

HALT

2%:

(RS) , 2104
ENEG]

(RS)
#TEMP1 R4

#1. (R4S +

R4 .R2
#100000,0(R2)
-(R&4)
PC,aN8CC11
#177777.(R4) +

2%
4311,-(RS)
-(RS)

0(R4) ,-(R4)
(R4)
PC,a#$CC13
0(R2}),(R4)
ROL1

#312,~(RS)
~-(R5)

LI I W N

« g Ny By B,

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD ADDRESS
; LOAD THE LOCATION

2'S COMPLEMENT
CHECK FOR CC - 11
CHECK IT
CONTINUE IF OK

NEG INSTRUCTION FAILED

TEMP1 CONTAINS THE LARGEST NEGATIVE NUMBER
2'S COMPLEMENT

CHECK FOR (C = 13

CHECK [T

CONTINUE If OK

WRONG RESULT IN TEMP2 OR WRONG SEQUENCE

-‘Qtﬁ*ititttt**k**t**t**titt*t*t*itt**tt*tttttt*tttttttt**ﬁttttttitttttit*tt‘

NEW INSTRUCTION IN THIS SECTION IS ROL

::t*tt*t*tlttt*ltt*t**ttit*tt*ttttﬁtt*ﬁ*tt*ﬁ*ﬁi*t*t*iQtttttttiﬁti*t*tititt!tt

TeTEST: 105

ROLT:

'$: ROL

(R5) 4105
EROL1

(R5)
#TEMPZ RY
#20000, (R1)

(R1)+

-(R1)
PC,a#$0C12
glboooo.(n1)

#313,-(R5)
-(RS)

0(R1)
PC,aNs((7
R1,RZ
(R2)

8 (RT)
ROR1

[P E R FEYEFE R T Y

LI W WL S N

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD ADDRESS
LOAD LOCATION
CLEAR FLAGS
SHIFT

CHECK FOR CC - 12
CHECK 1T
CONTINUE IF OK

RG. INSTRUCTION FAJLED

SHIFT

CHECK FOR CC = 7 )
R2 IS NOW POINTING TC LOCATION TEMP:
SHIFT

CHECK T

CONTINUE [F Ok
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ryKAAC MACY'1 30A(1052) 09=0CT=78 08:59 PAGE 83
CYKAAC P11 09-0(1-78 08:58 7105 NEW INSTRUCTION [N THIS SECTION IS ROL SEQ 0082

3092 016423 EROLY:

3093 01623% 012745 000314 MOV #314 ,~(RS)

3096 Q1424C 005265 INC -(RS)

3095 Ll4g4s Q30000 HALT : WRONG RESULT AT TEMP?2 OR WRONG SEQUENCE
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CVKAAC . P11 09~-0( 7-78 08:58 7106 NEW INSTRUCTION IN THIS SECTION IS ROR SEQ 0083

W96 ::-ttttttttttttttttttatttttttﬁﬁtttttttttttttttttttanttttttttttttt-ntqnttttttt
3097 :«TEST: 106 NEW INSTRUCTION IN THIS SECTION IS ROR

008 ;;tQtttttttttttttttttttttttttit!tttttttttittttttlttﬁttwtttttttttttﬁtttﬁtttttt
3099

3100 014244 ROR1:

3101 016244 021527 00010€ cMP (RS) ,#106

3102 014250 001030 BNE EROR1 : 1F IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
3103 014252 005215 INC (R5)

3104 0142546 012702 000142 MOV #TEMP2 R2 ; LOAD ADDRESS

3105 014260 012712 200004 MOV #4,(R2) ; LOAD LCCATION

3106 014264 000257 {CC ; CLEAR FLAGS

3107 014266 006012 ROR (R2) : SHIFT

3108 014270 006012 ROR (R2) :

3109 014272 022712 000001 {MP #1,(R2) ; CHECK IT

3110 014276 001404 BEQ 1% ; CONTINUE IF OK

3111 014300 012745 000375 MOV #315,-(R5)

3112 014304 005245 INC -(RS)

3113 014306 000000 HALT ; ROR INSTRUCTION FAILED

3114 014310 006012 1%: ROR (R2) ; SHIFT

2115 014312 004737 017214 JSR PC,a#$CC7 ; CHECK FOR (C - 7

3116 014316 006012 ROR (R2) . SHIFT

3117 016320 004737 017300 JSR PC,a#8(C12 ; CHECK FOR (C - 12

3118 014326 022712 100000 tMp #100000,(R2)  : CHECK IT

3119 014330 001404 BEQ ASL1 . CONTINUE 1F OK

3120 014332 EROR1:

3121 014332 012745 000316 MoV #316,-(R5)

3122 014336 005245 INC -(R5)

%%%2 014340 000000 HALT : WRONG RESULT AT TEMPZ OR WRONG SEQUENCE
3125

3126

3127 ;:t***tttttttttt**t**ttt**ttttttattttttttttltttlﬁtttttttt*tﬂtttttttittttt*ttt
3128 ;*TEST: 107 NEW INSTRUCTION IN THIS SECTION IS ASL

2129 ;;tittitttttt**tttttttttttttttttttttttt*tttttttttttttttttttttttttttttttt’tﬁti
3130

3131 014342 ASL1:

3132 Q16342 021527 000107 (MP (R5) 4707

3133 (14346 001404 BEQ 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW
3134 014350 012745 000317 MOV #317,-(R5)

3135 Q14354 005245 INC ~-(R5)

3136 014356 000000 HALT : PROGRAM IS IN WRONG SEQUENCE

3137 014360 005215 2$: INC (RS)

3138 016362 012703 000142 MOV HTEMP?2 R3 ; LOAD ADDRESS

23139 014366 012713 020000 MOV #20000, (R3) ; LOAD LOCATION

3140 014372 000257 (CC . CLEAR FLAGS

2141 014374 006313 ASL (R3) ; SHIFT

3142 014376 006313 ASL (R3) :

2143 014400 004737 017300 JSR chadscc12 ; CHECK FOR (CC - 12

3144 014404 022713 100000 CMP #1G0000, (R3) ; CHECK [T

3145 (014410 001404 BEQ 4% ; CONTINUE IF OK

3146 016412 012745 000320 MoV #320,-(RS)

3147 014416 (05245 INC -(R5)

3148 01+«20 000000 HALT ; ASL INSTRUCTION FAILED

2149 014422 006313 6%: ASL (R3) ; SHIFT

3150 0144246 Q04737 077274 JSR FC a#8((7 ; CHECK FOR CC = 7

2157 01443C 006313 ASI (R%) : SHIFT
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CvkAAC,. P11 09-0(1-78 08:58 1107 NEW INSTRUCTION IN THIS SECTION IS ASL SEQ U08-

3152 0'6L32 006737 017150 JSR PC,aw$(C4 ; CHECK FOR (C &4
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000110

000142
200136
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000001
G0032°

017214
017150
100602

017256
160000

000322

000111
000323

000136

017150
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H 7
NEW INSTRUCTION IN THIS SECTION IS ASR

SEQ 0085

--tntttttttttttttttttttttttttttttttttttttttttttﬁtttttttittttttﬁttttttttt'tttt

NEW INSTRUCTION [N THIS SECTION IS ASR

SATEST: 110

":*i'l‘tttt*ttt"tt.ttitttl’l‘.ti'tﬁﬁ!'..‘tﬁttt.iitti‘ttﬁtlt.tit‘titttttﬁttli-ttt

ASR1:

1s:

2%:

FASRT:

CMP
BNE
INC
MOV
MOV
MOV
cCC
ASR
ASR
CMP
BEC
MoV
INC
HALT
ASR
JSR
ASR
JSR
MOV
ASR
ASR
JSR
(MP
BEQ

MOV
INC
HALT

(R5) ,#110
EASR1
(RS)
NTEMP2 R4
#TEMP _R3
#6, (RG)

(R&)
(R&)
#1,(R&)

2%
4321,-(RS)
-(RS)

(R&)
PC.RYSCC7
(RG)
PC,aNs(Cb
#100002. (R3)
(R3)

(R3)
PC.aNsCC M1
#160000, (R%)
ADC 1

#322,-(RS)
=(R5)

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
LOAD ADDRESSES

LOAD LOCATION
CLEAR FLAGS
SHIFT

CHEC IT
CONTsNUE IF OK

ASR INSTRUCTION FAILED
SHIFT

CHECK FOR (C = 7

SHIFT

C(HECK FOR CC = 4

LOAD LOCATION

SHIFY

(HECK FOP (C - 1T

(HECK [T
CONTINCE IF OK

WRONSG RESULT IN TEMF OR WRONG SEQUENCE

. 'tttﬁtﬁ"""itilﬁ"*Qt‘Q'Q.tt'.t'ttﬁ'ﬁ“I‘Q.'I‘ttt‘ti.t't"'....‘t.tttti"i.

SxTEST: 111

ADC1:

2%:

(MP
BEQ
MoV
INC
HALT
INC
MOV
CLR
CCC
ADC
JSR
SEC
ADC
SEC
AD(

NEW INSTRUCTION IN "HIS SECTION IS AD(

:"t*'ttttttittttit'ﬁ'iﬁtti‘it’iﬁ'.!i!*tl.itt'tittﬁitt" I 23222 2L REALA RS LR RS A

(RS) 4111

2%
#323,-(R5)
~(R5)

(RS)

#TEMP RO
(RC)

(RO)
PC,a#$C(4

(RO)
(RO)

IF IN WRONG SEQUENCE GO TO WLT BELOW

; FROGRAM IS IN WRONG SEQUENCE

LICSL T TP IO IS I I B

LOAD ADDRESS

CLEAR THE LOCATION
(LEAR FLAGS

ADD C BIT = 0
CHECK FOR (C &

C 5
app ¢ BIT=?
(=1

* AGAIN




MACY'1 30A(1052)

P11

014622
014626
014632
014634
014640
0146472
014644
014650
014652
014654
014660
014664
014666
0146672
0164674
014676
014702
014704
014706

09-0(T-78 08:58

017046
000002
V00324
077777
217300
1¢0C00
000325
177777

017" 72

09-0(T1-78 08:59 PAGE
11

(%:

‘)s:

1 7
87
NEW INSTRUCTION IN THIS

JSR PC.a#8(CC0
CMP #2, (RO)

BEQ 4%

MOV #324 .~ (R5)
INC ~(RS)

HALT

MOV 877777, (R0O)
SEC

ADC (RO)

JSR PC,a#$CC12
({MP #100000, (RO)

BEQ 6%

MOV #325,-(R5)
INC =(R5)

HALT

MOV a=1,(RO)
SEC

ADC (RO)

JSR PC.a#$C(5

SECTION IS ADC

CHECK FOR CC = 0
CHECK IT
CONTINUE IF OK

: ADC INSTRUCTION FAILED
: %011\0 LARGEST POSITVE NUMBER
* ADD C BIT=1

CHECK FOR CC = 12
CHECK IT
CONTINUE IF OK

ADC INSTRUCTION AILED
LOAD -1
-1

ADD C BIT=1
(HECK FOR CC = 5

SEQ 00&-
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021527
001026

000112
000326

000134
000003

01704¢€
0000C3
000327

017046
0000C1

000330

017150
017256
177777
000337
100000

017106

000113

09-0(7-78 08:5?

T
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J 7

88
NEW INSTRUCTION IN THIS SECTION IS SBC

"..i'ttt.ttl'*'ﬁﬂtit'tiitittﬁt...ﬁﬁttﬁtittitﬁ&.tIQ.tt*iﬁittttttttitt.iittt't

NEW INSTRUCTION IN THIS SECTION IS SB(

SRTEST: 112

;:tt..tttttttttﬁtt“tt'tt'*t‘ttitittlt‘ttttﬁi.‘iiitt*ttt.ﬁ‘lttt'ttittt'Qtttt!

SBC1:

L ¥

2%:

i%:

4L%:

cMP
8EQ
MOV
INC
HALT
INC
MOV
MOV
LC
SB(
2SR
{mMpP
BEQ
MOV
INC
HALT
SEC
SRC
SEC
SR({
JSR
(MP
BEQ
MOV
INC
HALT
SEC
SB(C
JSR
SEC
SB(C
JSR
(mP
BEQ
MOV
INC
HALT
MOV
SEC
SR(
JSR

(R5) #2112
1$
#326,~(R%)
~(RS)

(RS)
#TEMP R1
#3.(R1)

(R1)
PC.a#$(C0
43,(R1)

’$
4327 ,-(RS)
-(R5)

(R1)

(R1)
PC,aa8C(0
#1,(RD)

3%
#330,-(RS)
-(R5)

(R1)
PC,348((c

(R1)
PC,aa8CC1
#-1,(R1)

43
#331,-(RS)
-(RS)

2100000, (RD)

(R1)
PC,aN8C(2

LR IR YR TR PR TP

By Ve b, v, a8, s,

[ PR FPETFE TR IR ER TR RN

PR E YR YL

IF IN WRONG SEQUENCE GO TO HLT

TEST IS IN WRONG SFQUENCE

LOAD ADDRESS
LOAD LOCATION
CLEAR FLAGS
SUBTRACT C BIT=0
CHECK FOR CC = 0
CHECK IT
CONTINUE IF OK

S?% INSTRUCTION FAILED

(=
EU?TRACT ¢ BIT=1

(HECK FOR CC = 0
CHECK IT

8 INSTRUCTION FAILED
SUBTRACT ¢ BIT=1
EHECK FOR CC - 4
SUBTRACT € BIT =
CHECK FOR CC = 11
CHECK IT

CONTINUE IF OK

1

SBC INSTRUCTION FAILED
LOAD R1

SUBTRACT € BIT = 1
CHECK FOR CC = 2

'-tttttttit*tﬁl*lt*t‘tiiit*iﬁt*i*ﬂ*ttiQitiiItﬁﬁﬁ't‘ttttttitttt"*‘ﬁ.‘*'t'itti

NEW INSTRUCTION IN THIS SECTION 1S SXT

TeTEST: 113

SxT1:

CMP
ANF

(n) 113
ESXT

-:ttttttt'.t'tﬂt’iiittitt‘Itﬁi‘tttiiﬁtttQt*t‘t!t"tit*it‘t?...tiiitt'itt."‘.

SEQG QU8

. TF Il WRONG SEQUENCE GO TO HLT AT THE END OF TME TESY
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" (1 7-78 08:59 _PAGE 89
.P??cv OgQSCTQ;g)OB?gEOC 1113 NEW INSTRUCTION IN THIS SECTION IS SXT SEQ 0088

005215 1%: INC (RS)
MOV #TEMP1 ,R2 ; LOAD ADDRESS
86%695 000140 CLR (R2) : CLEAR LOCATJONS

! S
(S A Bl IR
1217 J =
(0)815;135 orrze ST (R2) * LOCATION SHOULD STILL BE O
001404 BEQ 2% : CONTINUE IF OK

012745 )003%32 MOV #332,-(R5)

WRONON) —d — —

lelalelalalelelolalelelslolalelolelaldiele)
— e el ) e D el ol ——d ) e b o i el —d e — —d ek
(VAW RV LW IV FU TV TW O T TV LU LW U LW LV SV, LWL TV LV, IV,
— e d e d e el el i D e D e ) wd i e ) —d e b
3N R
rOCRO SO SNNVO OO0 NoO N

o

o

wn

N

e

N

INC -(RS)
000000 HALT : SX7T INSTRUCTION FAILED
4 000273 s ¥ SENVC : SET N, V& CBITS
42 006712 3XT (R2) : SIGN EXTEND
4 004737 017256 JSR PC,a#8(C11 : CHECK FOR CC = M
50 Q22712 77777 CMP #-1,(R2) : LOCATION SHOULD NEW HAVE -1
5 001404 BED SWAR1 : CONTINUE IF OK
5 ESuTt:
56 012745 00033%3 MOv #3233, -(R5)
62 005245 INC -(R5)
6 000000 MA[ T ; WRONG RESULT IN TEMP1 OR WRONG SEQUENCE
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(W KAAL MACY1T 30A(1052) 09-0C"-78 08:59 PAGE 90
(YKAAC.P11 09~0( r=78 0B:58 1114 NEW INSTRUCTIOON IN THIS SECTION ]S SWAB SEQ 0089

3305 :;'tt'ttltﬁttttttttl ttttttttttt.t!tittttitlttittttttttttt'ttttttttilttt‘tittt
304 ;eTEST: 114 NEW INSTRUCTIOON IN THIS SECTION IS SWAS

3307 ::t'--ttttttttttttttttt"tttttttti*t‘llttttt*tttttttttttttt.tltltttt.tﬁtttt.i
1308

3309 015166 SwAH" :

3310 015166 021527 00U114 CMP (RS) #4114

3311 015172 001034 BNE ESWAR1 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
3212 015176 005215 INC (R5)

3313 015176 012703 000142 MOV NTEMP?2 R3 : LOAD ADDRESS

3314 015202 012713 125125 MOV #125125, (R3) * LOAD BIT PATTERN INTO LOCATION

3315 015206 000277 5CC

3316 015210 000250 CLN

2217 015212 000313 SwAR (R3) ;. SWAP BYTES Of LOCATIONS

3318 015214 004737 01723 JSR PC,a#sCC10 " CHECK FOR (C = 10

3319 015220 022713 052652 CMP #52652. (R3) © CHECK 1T

3320 015224 007404 BEQ 1% * CONTINUE IF OK

3351 015226 012745 000334 MOV #334,-(R5)

3322 015232 005245 INC -(RS)

3323 01523% 000000 HALT : SWAB INSTRULTION FAILED

3334, 015236 (12713 000377 1$: MOV #377,(R3)

3356 (0150242 000277 SCC

3336 015244 000244 Lz

3357 015246 000363 000000 SWAB  O(R®)

3228 (015252 004737 017150 JSR PC,aN$((4 : (HECK FOR ({ = &

3329 (015256 022713 177400 CMP #1772400, (R3)

3330 015262 0014064 BEQ XOR1

3331 015264 ESWAR1:

3332 015264 012745 000335 MOV #335,~(RS)

33T 015270 005245 INC -(R5)

%g%g 015272 000C00 HALT ; WRONG RESULT ]N: TEMP?2 OR WRONG SEQUENCE
3336

3337

3338 ;;Qttttﬁ.tttttttttt'tttlttttttt*tttttlttttttttttttﬁtttitttttttttttttttttttttt
3339 S*TEST: 115 NEw INSTRUCTION IN THIS SECTION IS XOR

33‘.0 ::’t'tttttttr'tttitttit'iwt'tttiiitittiltt&ttttﬁttttti*ttttttitit!itttttltttt
3341

332 015074 XOF™ :

333 015274 021527 0001°5 cMP (RS) ,#115

3344 015300 001041 BNE EXOR1 - IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
3345 015302 005215 ING (RS)

32UE 015306 012706 1727777 MOV #-1,R4 : LOAD LOCATIONS

33,7 015310 012767 177777 162622 MOV #-1,TEMP1 ;

38 015316 000277 SCC

339 015320 074467 162614 XOR R4, TEMP1 ; SHOULD PRODUCE 0°'S IN TEMPI

3350 015326 004737 017172 JSR PC.aN$C(5 * CHECK FOR (C - S

3351 015330 012767 077777 162602 MOV #77777.TEMP1

3352 015336 012700 000140 Y, #TEMP1 RO . PLACE THE ADDRESS OF YEMP1 IN RC

33 015342 000263 SEV( T SET v & C BITS

3354, 015344 000264 Lz

3365 015346 074410 XOR R4, (RO)

3386 015350 004737 017256 JSR PC.aNs(C1" . CHECK FOR CC = 11

33657 015354 (12701 125252 MOV #125252 R : LOAD LOCATIONS

7368 015360 012720 052525 MOV #52525, (RO) + :

2350 (15364 277 SCC

3. 0153k& 074140 XOR &i,=(R0) ; SHOULD PRODUCE ALL 1'S IN TEMP®




M7

T KAA( HACV'H 30A(105 ) 09-0CT -78 08: 59 PAGE 9
CIAAC.PTT  09=0 08:58 715 "OENBL INSTRUCTION IN THIS SECTION IS XOR SEQ 0090
3361 015370 004737 017256 JSR  PC,aascC ; CHECK FOR CC =
3%, 015374 022737 177777 000140 e a=T aTEMPT > CHECK IT
3363 015402 001404 8EQ appi ; CONTINUE IF OK
3364 015406 EXOR1:
3365 015404 12745 000336 Moy #336,-(RS)
3366 (15670 005243 INC  =(RS}
3367 Q1547 000000 HALT : WRONG RESULT IN TEMP1 OR WRONG SEQUENCE
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MACY11 30A(1052) 09-0CT-78 08:59 PAGE 92
P11 C9-0(T~78 08:58 116 NEW INSTRUCTION IN THIS SECTION IS ADD SEQ 0091

"t*ttttt‘tttittit***it""‘tt*ﬁttiiﬁt*ﬁ!ﬁ‘Qt.tttitittttittttitttttttttﬁtttt'

S*TEST: 116 NEW INSTRUCTION IN THIS SECTION IS ADD

;:ttﬁttttttt*i*ttt*tttt*tittttit*iititﬁttﬁﬁtit‘ittt*titttttt&tt.tttttittttttt

015414 ADD1:

015416 021527 000116 CMP (RS) ,#116

015420 001133 BNE EADD1 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

015422 005215 INC (R5)

015424 012700 000142 MOV #TEMP2,RO . LOAD ADDRESSES

015430 012701 200136 MOV #TEMP R1 y

015434 012767 0216421 162500 MOV #21621,TEMP2  ; LOAD LOCATIONS

015442 0110M MOV (RO}, (R1) :

015444 061011 ADD (RO) . (R1) * ADD

015446 004737 017044 JSR PC,a#$CCo " CHECK FOR CC O

015452 022767 043042 ~62456 cMP #63042, TEMP © CHECK IT

015460 001406 BEQ 1% * CONTINUE IF OK

015462 012745 000337 MOV #337,-(R5)

015466 005245 INC ~(RS)

015470 000000 HALT : ADD INSTRUCTION FAILED

015472 005010 1%: CLR (RO) * C_EAR LOCATION TEMP?

0154764 060020 ADD RO, (RO) + * PLACE THE ADDRESS OF TEMP2 IN LOCATION TEMP2

015476 024027 000142 CMP ~(RO) ,ATEMP2  : CHECK IT

015502 001404 BEQ 2%

015506 012745 000340 MOV #340,=(RS)

015510 005245 INC -(R5)

015512 000000 HALT . ADD INSTRUCTION FAILED IN MODE 2

015514 012767 156357 162420 2%: MOV #-21421,TEMP2 - LOAD LOCATIONS

015522 012011 MOV (RO)+, (R1) :

0155.4 064011 ADD -(RO) . (R1) . ADD

015526 004737 017256 JSR PC.a$CC11 * CHECK FOR CC -~ M

015532 022767 134736 162376 CMP #-43042 TEMP - CHE(K IT

015540 001404 BEQ 3% SCONTINUE IF OK

015542 0127645 000341 MOV #341,-(R5)

015546 005245 INC - (RS}

015550 000000 HALT : ADD INSTRUCTION FAILED

015552 012767 100000 162362 3%: MOV #100000, TEMP2 > LOAD LOCATIONS

015560 011061 000000 MOV (RO) ,0(R1) :

015564 066011 000000 ADD 0(RO) , (R1) * ADD SHOULD RESULT AS 0'S

015570 004737 017214 JSR PC,anscc? * CHECK FOR CC-7

015574 012767 021421 162336 MOV 221421, TEMF? * LOAD LOCATION TEMP1

015602 012760 000140 000N00 MOV ATEMP1.0(RU) * PLACE THE ADDRESS OF LOCATION TEMP1 [N TEMP?

015610 012711 156357 MOV #-21421, (RD) * LOAD LOCATION TEMP

015614 010004 MOV RO,R4 * MAKE R4 POINT TO LOCATION TEMP?

015616 067411 000000 ADD a0(R&) , (R1) " ADD SHOULD RESULT AS 0'S

015622 0046737 017172 JSR PC,ausl(5 * CHECK FOR CC=5

015626 005430 NEG a(ROY+ * NEGATE THE CONTENTS OF TEMP1

015630 012746 021421 MOV #21421,~(SP) " PLACE # 21421 ON THE STACK

015634 065066 000000 ADD a-(R0) .G {SP) * ADD, SHOULD=0'S

015640 004737 (17172 JSR PC,a#$CCS * CHECK FOR CC=5

015644 005726 ST (SP)+ * CHECY THE STACK TO CONTAIN 0, ALSO
* RESTORE THE STACK POINTER

015646 001404 BEG X

015650 012745 00032 MOV #342,-(RS)

015654 005245 INC -(RY)

015656 000000 . HAL T : ADD INSTRUCTION FAILED IN MODE 5

015660 012767 '3'777  e0.% 4% MOV #137777 TEMP?
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[ VKAAC P11 09-0C'~78 08:58 NEW INSTRUCTION IN THIS SECTION IS ADD Stu OUY,
024 015666 062767 137777 162246 ADD 2137777, TEMP2
225 015674 004737 017126 JSR PC.a#$C(C3 . CHECK (C=3
w26 015700 022767 177776 162234 (MP a77776.TEMP2
3,07 015706 00767« BEQ SuB1
328 015710 EADD1:
%29 015710 0127645 000343 MOV #343,-(RS)
%30 015714 005265 INC -(R5)
332%12 015714 000000 HALT : WRONG RESULT AT TEMP OR WRONG SEQUENTE
3433
3,3,
3435 :"tttﬁ*tt‘tt*titt*ttﬁt*titiiittttttt’tt*tt*lttt!tttlttt'tttttttﬁttttttttttt.t
UL TRTEST: 117 NEW INSTRUCTION IN THIS SECTION IS SUB
3{.37 .'"ttttttitt*ttt*it*tttt*t*t*ttiitititttittttitttittttttﬁttttttttttitttttttttl
3,38
3,39 015720 SUBT:
3,40 015720 021527 00017 CMP (RC) #4117
241 015724 001300 BNE ESURT . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
342 015726 005215 INC (RS)
3443 015730 012702 000136 MOV ATEMP,R2 : LOAD ADDRESSES
344 015736 01270% 000140 MOV STEMP1,R3 ;
45 015740 012767 021421 162170 MOV 221621, TEMP * LOAD LOCATIONS
ULe 015746 072767 156357 162164 MOV #-21427 TEMP1
247 015754 161213 SUB (R2) . (R%) 1 RESULT SHOULD=-43042
3448 015756 0046737 017236 JSR PC,a#$CC10 * CHECK FOR CC = 10
3449 015762 022767 134736 162150 CMP #~43042 . TEMP1  : CHECK IT
350 015770 001404 BEQ 1% SCONTINUE IF OK
3,61 015772 012745 000344 MOV #344,,-(R5)
3,52 015776 005245 INC -(RS)
3,53 016000 000C00 ) HALT : SUB INSTRUCTION FAILED
2454 016002 012767 021421 162130 1%: MOV #21421, TEMP1 * LOAD LOCATION
2,55 016010 161213 SUR (R2), (R3 * RESULT SHOULD=0
356 016012 001404 BEQ 2%
3457 016014 012745 000345 MOV #34L5 ,~(RS)
3,58 016020 005245 INC -(RS)
34,59 016022 000000 HAL T ; SUB INSTRUCTION FAILED
%60 016024 012767 177777 162106 2%: MOV #-1,TEMP] © LOAD LOCATIONS
61 016020 012767 077777 162076 MOV N77777 . TEMP : LOAD _OCATIONS
362 016040 161312 SUR (R3), (R2) * RESULT SHOULD GIVE 100000 AND OVERFLOW
363 016042 004737 017320 JSR PC,a#$CC13 * CHECK FOR CC = 13
LUbs 016046 022767 100000 162062 CMP 2100000, TEMP  : CHECK IT
34,65 016054 001404 BEQ 3¢ © CONTINUE IF OK
66 016056 012745 000346 MOV #346,=(RS)
367 016062 005245 INC -(RS)
3,68 016064 000000 HAL T : SUB INSTRUCTION FAILED
360 016066 012712 177777 3% MOV #-1,(R2)
3,70 016072 161312 SUB (R3}, (R2)
3,71 016074 004737 017150 JSR PC a#8((4 . CHECK FOR CC - &
3,72 016100 012767 077777 162030 MOV ¥77777 1EMP
%73 016106 162767 077777 162022 SUR N77777.TEMP
3,74 016114 004737 017150 JSR PC,aN8( (4 . (HECK FOR (=6
%75 016120 005767 162012 ST TEMP
3476 016126 001606 BEQ SOB . TEMF SHOULD BE O
3477 016126 FSUR":
378 016126 012745 0003%7 MOV ¥ 7,=-(RS)
278 016132 005245 IN( -(R5)
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CVKAAC P11 09=0( 1=78 08:58 1117 NEW INSTRUCTION IN THIS SECTION ]S SuB SEQ 0093

%80 01613 JOCT0 HALT ; SUB INSTRUCTION FAILED OR SEQUENCE ERROR




PIN) = b — b b nd = ek —3
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N

MACY11 30A
09~0

(1052) 09-0CT-78 08:59_ PAGE 95
“1-78 08:58 7120

D 8
NEW INSTRUCTION IN THIS SECTION IS SOB

- 'tttttﬁttit*tttttttt.tiii‘t!t**ﬁﬁtﬁ‘tl’ﬁ.tlttiittttttlﬁtﬁitlt-l‘iitltittttttt

NEW INSTRUCTION IN THIS SECTION IS S08

SATEST: 120

L]

-'-t'tttttitttt*tti*ttlﬁ‘ttiiittt**tﬁ!Qtﬁ‘.ttittitttttttttttit.tt..ittitt'tl‘t.

SEQ 0094

AR AN N LA LA
AUV
BARUNKLS

01 SOB:
01 021527 00012C {MP (R5) ,#120
01 001042 BNE ESOB - IF IN WRONG SEQUENCE GO TO HMLT AT THE END OF THE TEST
01 005215 INC (RS5)
01 012700 000072 MOV #10. ,R0O : LOAD REGISTERS
01 005001 CLR R1 ;
01 005201 1%: INC R1 ; KEEP COUNT
01 020127 000012 (mpP R1,#10
01 003404 BLE 2%
01 012745 000350 MOV #350,-(R5)
01 005245 INC -(RS)
01 00000y HALT : SOB INSTRUCTION FAILED
01 000277 % SCC
01 0770" 2 SOB RO,1$% : SUB. 1 FROM REG. 0, GO BACK TO 1%
01 004757 017340 JSR PC,a#8C(17 : CHECK FOR CC = 17
01 005700 TST RO : REG. 0 =0 ?
01 001404 BEQ 3% : NO, FAILED
01 012745 000351 MOV #351,-(R5)
01 005245 INC -(RS)
01 000000 HALT ; SOB INSTRUCTION FAILED
01 022701 000012 3%: (MP #10. R1 : DID IT GO THRU 10 TIMES ?
01 001404 BEQ 4% : CONTINUE IF OK
o1 012745 000352 MOV #352,-(RS)
01 005245 INC -(RS)
000000 HALT : SOB INSTRUCTION FAILEC
012704 000010 4%: 01 #10,R4 - PLACE #10 IN R4
077401 5%: SOB R4 ,5% - >TAY HERE UNTILL R¢ O
016244 005704 TST R4
016246 001404 BEQ PSWNO ; CONTINUE IF OK
016250 ESOR:
016250 012745 000353 MoV #353,-(R5)
016254 Q05245 INC -(RS)
016256 000000 HALT : SOB FAILED OR WRONG SEQUENCE
:.'****ﬁ.*.'.‘*""**t*ﬁ****“*‘l’**lﬁ********ﬁ**"**“"*"**ﬁ*ttﬁ*ﬁt‘i'tt.‘iﬁﬁi
;*TEST: 121 NEW INSTRUCTIONS IN THIS SECTION ARE MTPS & MFPS
.'"""!"t'.i*'ﬁ*t*.ﬁﬁ.**'*t."ﬁ*ﬁ**ﬁ‘****"’***t**i*‘*tﬁtti*iﬁ'tt“'tti'*ti'i'ﬁ‘
016260 PSWNO:
016260 021527 000121 (MpP (R5) #7121
016264 001042 BNE EPSWNO : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
016266 005215 - INC (RJ)
016270 012700 000175 MOV #TEMP ,RC : OUT THE ADDRESS OF TEMP IN RO
016276 012707 00014C MOV #TEMP1 R1 : PJT THE ADDRESS OF TEMP! [N R1
016300 01271 177777 MCv 8177777, (R1) : TEMP1 = 177777
016304 005010 CLR (RQ) :TEMP -0
016306 MTPS (RQ) : PSWw =0
016306 1064’0 LORD  104400...C
016310 004737 (017046 ISk PC,ans( (0 ; (HE(K FOR (T - G
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P11 09-0C "=78 08:58 7121 NEW INSTRUCTIONS IN THIS SECTION ARE MTPS § MFPS SEQ 0095
016314 MFPS  (R1) : MOVE PSW TO TEMPI
016314 106711 _WORD  106700!..C
016316 004737 117150 JSR PC.,aN$CCé : CHECK FOR (C = 4
016322 022711 1774600 (mP n??l.oo,(m) s CHECK TEMP1 TO MAKE SURE THAT ONLY
1 THE L OWER BYTE WAS AFFECTED BY MFPS
016326 001404 BEQ 1%
016330 012745 000356 MOV #354,-(RS)
016334 005245 INC -(RS)
016336 000000 HALT : MTPS OR MFPS INSTRUCTION FAILED
016340 005011 i$: CLR (R1)
016342 MIPS 4377 - SET PSW = 357 SINCE T BIT CAN NOT BE SET BY MIPS
016342 106427 JWORD  106400...C
016346 006737 017340 JSR PC,aNSCC17 : CHECK FOR CC = 17
016352 MFPS  TEMPI * MOVE PSW TO TEMPI
016352 106767 _WORD  106700...C
016356 004737 01725¢ 2SR PC,a¥8CC11 . CHECK FOR CC = 11 [C BIT SHOULD NOT BF EFFECTED BY MFP
016362 022767 000357 ~61550 CMP 2357 TEMP1
016370 001404 BEQ BTWRD
016372 EPSWNO :
016372 012745 000355 MOV #355.-(RS)
016376 005245 INC -(RS5)
016400 000000 HAL T . MFPS INSTRUCTION FAILED IN MODE 6

® OR SEQUENCE ERROWR




MACY'1 30A(1052)
09-0(T-78 08:58

09-0

CT-78 08:59__PACE 9
1122

7

F 8
BYTE INSTRUCTIONS REQUIRING WORD INST. TO CHECK

"ttﬁ*‘t‘ﬁtttt*tttttﬁﬁti‘ttitltttttttﬁt‘tit.ttttitttitttiiti.tttitittttttt..t

BYTE INSTRUCTIONS REQUIRING WORD INST. TO CHECK

SRTEST: 122

SEQ 0096

&2

REBER S

— el e e
W= 0O

;:tttttttttttitt*ttttt't'iittt!!ttttttttttt‘ttttttttttiﬁtt'ltttttttttttttttt.
016402 RTWRD :
016402 021527 000122 cMP (RS) #4122
016406 001124 BNE EBTWRD . IF IN WRONG SEQUNCE GO TO HALT AT THE END OF THE TEST
016610 005215 INC (RS)
016412 005000 CLR RO
016414 000277 SCC
C16416 112700 000200 MOVB  #200.RO : ESLEAHgy?éGHEST BIT OF THE
016422 006727 017256 JSR PC,a#sCC11 " CHECK FOR CC=11
016426 022700 177600 CMP #177600,R0 © CHECK FOR SIGN EXTENSION IN RO
016452 001404 BEQ 1$
01643& 012745 000356 MOV #356,~(R5S)
016440 005245 INC -(RS)
016442 000000 HA_T . SIGN WAS NOT EXTENDED IN RO
016444 000277 1%: SCC
016446 012700 177777 MOV #177777 RO
016452 112760 000000 MOVR  #0,RD ;CLEAR THE LOWER BYTE OF RO.
016456 004737 017172 JSR PC.a#$CCS " CHECK FOR CC=S
01 005700 TST RO * CHECK RO FOR SIGN EXTENTION
01 001404 BEQ 2%
0 012745 000357 MOV #357.-(R5)
01 005245 INC -(RS)
01 000000 HAL T . SIGN W~ NOT EXTENDED IN RO.
01 012704 000142 2% : MOV #TEMP2 R4 > R4 1S POINTING TO TEMP?
(0] 012714 000377 MoV #377.,(R4) ; PLACE #377 IN LOCATION TEMP?
01 012706 00044€ MOV #START=2,R6
01 116426 000000 MOVB  O(R4),(R6)+ : PUSH # 377 ON STACK
01 022706 000450 cMP #START ,Ré
01 001404 BEQ £33
01 012745 000360 MOV #360,~(RS)
005245 INC -(RS)
000000 HAL T . R6 DID NOT GET INCREMENTED
© BY 2 BY A BYTE INSTRUCTION
124627 000377 3. (MPR  -(RG) X377 * CHECK LOCATION START=2 TO
* CONTAIN PROPER DATA
001404 BEQ 4%
012745 000361 MOV #3261, ~(R5)
005245 INC -(RS)
000000 HALT : BYTE INSTRUCTION IS FAILING WITH R6
022706 000446 4%: CMP #START=2,R6 * CHECK THAT R6 WAS DECREMENTED
P BY 2 BY A BYTE INSTRUCTION
016556 001404 _ BEQ 5%
016560 012745 000362 MOV #362,-(R5)
016564 005245 INC -(RS)
016566 000000 HAL T - R4 WAS NOT DECREMENTED
016570 016467 007000 161340 5%: MOV 0(R4) , TEMP * SET THE LOWER BYTE OF LOCATION TEMP
016576 005726 ST (RE) + * RESTORE STACK POINTER
016600 000277 SCc
016602 114667 161331 MOVR  =(SP), TEMPs+" . SET THE HIGHER BYTE OF LOCATION TEMP
016606 004737 017256 JSR PC A8 (1] * CHE(K FOR ((=11
016612 022767 177777 16136 cMP 857777 TEMP * (HECK TEMP FOR THE (ORRECT VALUE
01662¢C 001404 BE 4%




MACY'1 30A(1052)
09-CC7-78

L1

012745
005245

012745
005245
00000C

08:58
000363

161300
161273

01725¢
1727400

000344

161260

09-0(1-78 08:59 PAGE
: 1122

6%:

EBTWRD:

98

G 8

BYTE :NSTRUCTIONS REQUIRING WORD [NST. TO CHECK

MOV
INC
HALT
(LR
CLC
comMB
JSR
(MP
BEQ

MOV
INC
HALT

#36%,~(RS)
-(R5)

TEMP

TEMP+1 - WRITE 1°'S I
PC,a#$CC11 CHECK FOR C
#177400, TEMP

NEXT

#364 ,~(R5)
-(R5)

: TEMP FOULED UP

? x?E HIGHER BYTE OF TEMP

; WRONG VALUE IN TEMP OR WRONG SEQUE'.CE

SEQ 0097
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END OF PASS ROUTINE

(yKAAD P11

3629
363)

09=0r1-78 08:58

&
W
LAY =

016670 .
016670 021527 200123
016674 001404

016676 012745 000365
016702 005245
016704 000000
016706 005267 161
016712 126727 161

016720 001011
016722 000004 000152
016726 013700 000042
016732 001404
016734 004710
016736 000240
016740 000240
016742 000240
3654 (016746 005067 161732
3655 016750 000167 161474

FREE LB
ERR

WWINWA

172
166 000001

BN =000 N

G E S

01679 012737 Q16764 0000246
3664 016762 000000

3h6 16764 012706 000650

367 016770 012737 016754 000024
3668 (6776 000006 00C°€6

e (17002 000760

NEXT:

2%:

GFT4L2:
$ENDAD :

DOAGN:

;:tttt.tttttkti*tttﬁ*tit'ttittt'tﬁﬁﬁ*lﬁﬁ.*itittii**t*tttttiﬁiiittitttttitttit

LSBTTL

PWRDN :

PWRUP :

(MP
BEQ
MOV
INC
HALT
INC
CMPR

BNE
.TYPE
MOV
BEQ
JSR
NOP
NOP
NOP
CLR

ENC OF PASS

[ S 322228 R 8

(R5),m253

2%
#365,~(R5)
-(R5)

$PASS
$PASS ., 41

DOAGN
,ENDPAS
a4 RO
DOAGN
PC, (RO)

$TESIN
START

POWER FAIL ROUTINE

MOV
HALT

MOV
MOV
.TYPE
BR

#PWRUP , a#24

HSTART ,SP
#PWRDN , 2#24
POWER
DOAGN

IF IN WRONG SEQUENCE GO TO HLT BELOW

PROGRAM IS IN WRONG SEQUENCE

ALLOW THE TYPE OUT OF END OF
PASS EVERY 377 PASSES

TYPE END OF PASS MESSAGE

: PREPARE 70 START FROM TEST O
: START TEST OVER AT BEGINNING

SEO 0098

; GO 10 POWER UP ROUTINE AFTER THE POWER C(OMES BA(K




( yAAC
(' URAAC

3671
3672
3673
2674
3675
2676
3677
3678
3679
3680
3681
2682
3683

3685
3687
3689

BEERE

MACY'T 30A(1052)

P11

017040
017044

09-0(T-78 08:59 PAGE 100
POWER FAIL ROUTINE

08-0(7~78 C8:58

062776
000006

00004C 000117
. 00000

161114
161115

000002

SBTTL

TYPE:

°%:

3%:

4%:

TYPE ROUTINE

BIT8
BNE
MOV

TST8
BEQ

TSTH
BPL
MOVR
BR

ADD
RT®

#60 , aNSENVM
4%
d(SP) ,R3

(R3)
4%

alPS

3%
(R3)+,aTH3
1%

42, (SP)

: HAS THE CONSOLE OUTPUTS BEEN SUPPRESSED?
; IF SO THEN GO TO 4%
: GET ADDRESS OF MESSAGE

: END OF MESSAGE
; YES, GO WRAP IT UP

; READY FOR NEXT CHARA(TER ?
; NO, WAIT

: LOAD AND TYPE THE CHARACTER
; YES, GET THE NEXT THARA(CTER

; ADJUST THE RETURN PC
; RETURN

SEQ 0099




MACY11 30A(1052)
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ROUTINES TO CHECK CONDITION CODES

PN 09-0(T=-78 08:58

017046
N17050
017052
017054

slelolelelelele
Qe Sl G S Y
=~
o
~
o~

SNITNNN TN NN Y
b e —d

P S -
L5 2NN NN
¥ o4a%1e Yo WalySlamle s

146
150

SINTNNNNNTNY NN NN NN

_a—.—l-h-l—-a—-i—i—l — ) e ) e el —t — —— J A A e e R R
— ) il ) il et —d
OO N
OO0

O0QOOOOOC OOCOOOOOO OO0OCODOOCO

—
~
F o

200

SN SINNYN N
~
o

il it el ) weml) =l ——d —d
N

00000000

<4
.
—

NN3402
100407
103004

012745
005245
000000
000207

00340¢
100401
103404

012745
005245
000000
0002C?

100402
101401
102404

012745
005245
000000
000207

100403
001402
102001
103404

012745
005245
000000
000207

100403
001002
102401
103004

012745
005245
000000
000207

103404

012745
005245
000000
000207

000366

000367

200370

000371

000372

00037~

$CCO:

1%:

2%:
$CCT:

1%:

L,$:
$CC2:

1%:

e ¥
$CC3:

1%:

’%:

$CC4:

$:

$CC5:

1%:

(AW
o
e

BLE
BM]
BCC

MOV
INC
HALT
RTS

BLE
BM]
BCS

MOV
INC
HALT
RTS

6LOS
BVS

MOV
INC
HALT
RTS

BMI
8EQ
8v(
BCS

MOV
INC
HALT
RTS

BM]
BNE
BVS
BC(

MOV
INC
HAL Y
RTS

BM]
BNE
BVS
B(S

MOV
INC
HALT
RTS

J 8

1%
1%
2%

#366,-(RS)
-(R5)

PC
1%
1%
2%

#2367 ,-(R5)
-(RS)

2
N
19
2%

#370,-(RS)
-(RS)

PC

#371,=-(R5)
=(R%)

p

[ S
VA

2%

#372,-(RS)
-(RS)

PC

#373,-(RS)
-(R5)

P(

;WRONG CC, IT SHOULD HAVE BEEN

SWRONG Cf, IT SHOULD HAVE BEEN

JWRONG C(, T SHOULD HAVE BEEN

JWRONG CC, IT SHOULD HAVE BEEN

JWRONG CC, [T SHOULD wAVE BEEN

;WRONG CC, IT SHOULD HAVE BEEN - 0

"

S€EQ 0100
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H
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ROUTINES TO (HECK CONDJTION CODES

09-0.7-78 08:58

100403
001002
102001
103404

012745
005245
000000
000207

100002
101401
102004

012745
005245
000000
000207

100003
001402
102401
103404

012745
005245
000000
000207

00002
101401
102404

012745
J05245
0000G0
000207

100002
0034901
103404

012745

000374

000375

000376

000377

000400

200407

$CC7:

1%:

2%:

$C710:

1¢:

s ¥

$C(1T:

1¢:

2%:

$(C12:

’%:

$CC13:

1¢:

2%:

$CC17:

BM]
BNE
Bv(
B8CS

MOV
INC
HALT
RTS

BPL
8LOS
Bv(

MOV
INC
HAL T
RTS

BPL
BEC
BVS
BCS

MOV
INC
HALT
RTS

8PL
BLOS
BvVS

MOV
INC
HALT
RTS

BPL
BLE
BCS

MOV
INC
HAL T
RTS

BPL
BNE
8v(
B(CS

MOV
INC

K 8

b i
L 1L

2%

#374,-(R5)
-(RS)

PC
1%
1%
2%

#375,-(R5)
-(RS)

PC
1%
1%
1%
2%

#376,=(RS)
-{R5)

P(
1%
1%
g 3

#377,-(R5)
-(R5!}

PC
1%
1%
2%

#400,-'RS)
-(RS)

PC

#301,-(RS)
=(R5)

;WRONG CC, 1T SHOULD HAVE BEEN

WRONG CC, IT SHOUL" tAVE BEEN

JWRONG (C,

JWRONC («,

[T SHOULD HAVE BEEN

[T SHOULD HAVE BEEN

;WRONG CC, IT SHOULD HAVE BEEN = 7

10

1

12

13

SEQ 0101




« WKAAL MA Y1 SOA“OSZ)
ryKAAC P

B2 (01735¢
30T (17%.
1804

B0 L

. 00U

©IToC?

09-0(T1-78

09~0l =78 08:5

-]

L 8
08:59 PAGE 103
SEQ 0102

ROUTINES TO C(HE(K CONDITION (ODES

HALT :WRONG CC, 1T >HOULD HAVE BEEN 17

’%: RTS P(
JENI
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CYRAAL.P11 09-0r '~78 08:58 CROSS REFERENCE TABLE -- USER SYMBOLS

ABASE - Q00000 339

ACDWY = 00000C 339

ACDWZ = 00000C 335

ACPUOP= Q0000C 336 354
ADCBO 004124 1293 13024
ADCBT 012400 702 2714k
ADCC 005720 1700 1709
AD(C 014554 3181 71638
ADDWO = Q0000C 339

ADDW1 = 000000 279

ADDW10= 000000 729

ADDW1 1= 000000 329

ADDW12= Q00000 320

ADDW13= 0000C0O 239

ADDW14= 000000 336

ADDW15= 00000C 739

ADDWZ = 0QQQ0CO 339

ADDW3 - (000000 339

ADDWS = Q00000 239

ADDWS = 000 339

ADDWE = Q0Q000 239

ADDW? = 000000 239

ADDWS = Q00000 339

ADDWS = 000000 339

ADDO 006524 1875 1837#
ADD1 015414 3363 33724
ADEVCT- 000000 729 345
ADEWM = 000000 735

ADR 000126 2864 387 2104 2107 2124 2219 2222 2248 2313« 2316 2862 2903
ADR1 000130 3884 289 2105+ 2108 2125 2220 2223 2249 2314 2317 2863 2904
ADR?Z 000132 3904 391 210€x 2227+ 2224 2250 2315« 2318
AENV 000000 339 350
AENVWM = 000000 339 351 -
AFATAL= 000000 339 242
AMADRT 000000 339

AMADRZ2= (000000 3139

AMADR 3- Q00000 339

AMADR4= 000000 339

AMAMS1 000000 339

AMAMS 2= 000000 336

AMAMS 3= 000000 736

AMAMSS 000000 339

AMSGAD= 000000 339 34>
AMSGL G- 000000 329 248
AMSGTY 000000 239 34"
AMTYP1 000000 229

AMTYP2- 000000 339

AMTYP3= 000000 336

AMTYP4&= Q00000 339

APASS = 000000 539 344
APRIOR- 000000 730

ASLBO 003726 1236 1245#
ASLBT 012166 2640 26524
ASLO 00552¢ 1643 16528
ASL 1 014342 3*16 2131
ASRBO 004016 27
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CVKAAC.P11  03-0CT~78 08:58 CROSS REFERENCE TABLE -- USER SYMBOLS SE0 0104
ASKB! 012262 26784

ASRO 005617 1678

ASRT 014436 31574

ASWREG= 000000 339

ATESTN= 000000 339 33

AUNTT - 000000 330 346

AUSWR = 000000 339 353

AVECT1- 000000 339

AVECT2= 000000 339 )
BI'80 003060 1048 10574

BICBT 011122 2602 2h14#

BICO 004630 16466 14554

BICT 013256 288, 28974

BRANCH 001110 614 6224

BIWRD 016402 3554 35644

(BIT 000660 516 523M

(CO 000532 48 451 W52 453 454 456 457 458 459 460 461 662  LohN
cel 000576 477 480 4B 482  4B3  4B&  4BS  4B6 488w
cco 000646 499 503 % 505 506 507 508 509 510 512«
¢c3 000714 525 830 531 532 533 53, 535 5374

(¢4 000764 548 554 555 556 557 558 550 560  Seo#
(c5 001076 co8 602 604 606 608 610w

CC6 001032 575 578 579 580 581 583 584 585 586  588#
CLNZ - 000254 3204 1801 3288

(MPBO 002720 1017#

(MPB1 011020 2369 23814

(MPO 004536 14084

(MP1 013012 28354

COMBO 003336 11200

coMB1 011544 2509 25274

(OM0 005132 15358

coMi 013712 30064

DOAGN 016744 3666 3649 36544 3669

DUMMY 000134 oo 393 885 886

EADDO 006664 1885 19214

EADDT 015710 337, 34084

EASRBO 004114 1273 12944

EASRBT 012370 2680  2703#

EASRO 005710 1680 ‘7014

EASR1 014544 3159 21824

EBICO 004764 1457 14874

EBICT 013530 2899 2954

EBTWRD 016660 3566 36254

ECMPBO 003050 1019 10494

ECMPBT 011112 2383 24034

ECMPO 004620 1430 146474

ECMPT 013246 2837 28854

EINCB] 011534 2472 25104

EMODEO 007316 2010 20464

EMODE 007454 2060 2088 20914

EMODE3S 007646 2102 2130 2133

EMODEL 010124 2146 2202 2205

cMODES 010354 3216 2060 2263

EMODES 010526 2076 22994

EMODE 7 010666 2310 3304

ENDCCO (00540 463 L68e
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rURAAC.PIT  09-0(T=78 08:58 (ROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0105
ENUCCT 000606 4,87 4924
ENDCC2 000656 511 5164
ENDCCS 001106 609 6144
ENDJPT 001276 652 6764
ENDJPY 001502 088 7324
ENDJPS 001712 742 7864
ENDJP7 002112 797 835#
ENDJSR 002526 845 9514
ENDPAS 000152 403 3647
ENEGBO 003532 1166 11814
ENEGBT 011762 2566 25824
ENEGD 005326 1572  1587#
ENEGT 014132 3040 30604
EPSW 007132 1970 1995#
EPSWNO 016372 3528 35554
EREGS 002634 962 982#
EROLBO 003624 1191 12084
EROLBT 012060 2595 2613
EROLO 005420 1597 16144
EROLT 014234 3073 30924
ERORBO 003716 1220 1237
ERORBT 012156 2623 26414
ERORO 005512 1627  1644A
ERORT 014332 3102 31204
ERRNM 000402 3308 465 4684 489 4928 513 5164 538 5414 563 5664 589 592#

939 9424 946 9454 952 9554 983 9864 14 10004 1026 10294 1032
10354 1037 106404 1043 10464 1050 10534 1060 10634 1071 10744 1078 1081#
1095 10984 1112 11154 1132 11354 1142 11454 1150 11534 1173 11764 1182
11854 1200 12034 1209 1212# 1228 12314 1238 126414 1248 12514 1259 12624
1281 12864 1295 1298% 1305 13084 1320 13234 1329 12324 1346 1349 1356
13594 1366 13654 1377 13804 1399 16402# 1415 14184 1437 14600 1442 16454
1448 16518 1467 14708 1474 147784 1488 14912 1501 1504# 1518 15214 1538
156414 1548 1551 1556 15594 1579 15824 1588 15914 1606 1609¢ 1615 16184
1635 16384 1645 16484 1655 6584 1666 1669% 1688 16914 1702 17054 1712
17154 1727 17304 1736 1739 1753 17564 1763 17664 1773 17764 1784 17874
1806 18094 1815 18184 1836 18394 1847 18504 1877 18804 1896 18994 1904
19074 1914 19174 1922 19254 1932 19354 1942 19454 1949 19524 1958 19614
1982 19854 1996 19994 2017 20204 2025 20284 2038 20618 2047 20504 2077
20804 2092 20954 2119 21228 2134 21378 2155 21584 2168 21714 2178 21814
2188 21914 2206 22094 2234 22378 2244 22478 2264 22674 2291 2294 2300
23034 2323 23264 2331 2334m 2365 2368% 2371 23748 2393 23964 2398 24014
2404 24074 2417 26208 2431 2434m 2438 26414 2455 26588 2460 24634 2495
264984 2511 25148 2530 25334 2543 25668 2552 25554 2574 25774 2583 25864
2605 26084 2614 26178 2632 26354 2642 26454 2655 26584 667 2670# 690
26934 2704 27078 2717 27208 2733 27368 2742 27454 2756 2759 2767 27704
2777 27804 2788 27914 2811 2814 2846 28494 2851 28544 2870 28734  2B76
2879 2886 2889 2913 20164 2920 29238 2929 29328 2943 29464 2955 2958#
2965 2968% 2986 2989 209 30124 3020 3023%* 3028 30314 3052 30554 061
30644 3083 30864 3093 20964 5111 216 3120 326 313 31378 346 31459#
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CYKAAC.P11 09-0(1-78 08:58 (ROSS REFERENCE TABLE -- USER SYMBOLS SEQ Q10¢

3169 31724 3183 31864 3196 31994 3212 32154 3221 32244 3235 32388 3246
32094 3256 32594 3267 32704 3293 32964 3302 33054 331 33240 3332 33354
3365 3330 3384 33874 3391 33044 3400 36,034 3420 3ac34 3429 363208 3457
3L544 3457 34604 34066 34694 3478 36814 3494 34978 3502 35054 3507 35104
3515 35184 3543 35464 3556 35594 3575 35784 3584 35874 3593 35964 3600
36034 3606 36094 3616 36194 3626 36294 3640 36434 3694 36974 3703 37064
3712 37154 3722 37254 3732 37354 3742 37454 3753 37560 3762 376540 3772

37754 3781 37844 3790 37934 3800 38034

£S08 016250 3487 35144
ESuB1 016126 2441 3,774
ESWABO 006406 1827 18464
ESWAB1 (015264 7311 33314
ESXTO 006306 1797 18144
ESXTI 015156 3283 3301
grsTBl 011010 2347 23704
EXORO 006514 185¢€ 18764
EXORT 015404 3344 33644
GET42 016726 5648

INCBO 003200 1092#

INCBT 011350 24704

INCO 004774 1486 14984
INCT 013540 295% 29624
JMP 001202 645 €50#
JMP2 001306 674 6864
JMP3 001412 710 768
JMP4 001512 729 7408
JMPS 001610 760 7664
JMP4 001722 784 7954
JMP/ 002024 814 8204
JSRM 002264 8¢ 8844
JSRTST 002122 832 8434
MARKZ? 000150 4024 887
MODEQO 007142 1964 2008#
MODE 1 007226 2024 20294
MODEZ2 007326 2045 20584
MODE3 007464 2090 2100
MmubDES«  D0/7656 2" 32 2lal
MODE 5 010134 2204 2214k
MODE6 010364 2262 CoT4LR
MODE/  01053% 2298 2308+
NBIT 000544 L68 4754
NEGBO 0034572 11644

NEGB1 011676 25hLN

NEGO 005246 1570#

NE G1 014036 30404

NE XT 016670 3624 36374
NOBIT Q00466 437 L4540
NOP1 = 000260 3314 455
NOTCC 001042 587 5964
POWER 000166 406N 3668
PSW 007040 1970#

PSWNO 016260 3513 35264
PWRDN (016754 423 26638 6L
PWRUP 016764 3663 36664
REGS 002539 924 960N
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CVKAAC.P11  09-0CT~78 0B:S8 ¢ROSS REFERENCE TABLE =~ USER SYMBOLS SEQ 0107
ROLBO 003542 1180 11894

ROLB1 011777 2581 2593

ROLO 005336 586 15954

ROL1 014142 3059 3071

RORBO 003634 1207 12184

RORB1T 012070 2612 26214

RORO 005430 1613 16254

RORY 014244 3091 31004

SBCBO 004256 13430

SBCBY 012536 27534

SBCO 006052 17504

SBC1 0147192 22208

SENVC = 000273 333 1809 3296

SEVC - 000263 T3¢ 1418 C4B2  1B6S 2449 2933 2949 3353

S8 016136 3476 34854

START 000450 428  434M 847 BS4 868 908 923 2952 3589 3591 3603 3655 3666
SUB0 006674 1920 19294

sBl 015720 o7 3,3

SWABO 006316 1813 18254

SwAB1 015166 3300 3304

SXTO 006230 1795#

SxT1 015074 22814

TEMP 000136 3940 395 716+ 717+« 718 729+ 7% 820 827 832+ 833 94+ 979

981 1460 2029 2062 2069+ 2074 2085+« 2089 2104 2110« 2112« 2'16 2123
2127« 2131 2148+ 2149 2166 2173 2181~ 2182 2201 2218+ 2219 2239 2247+
2259 2279 2284 2313 2349 2386 2421 2474 2534 2568 2815 2840 2883
2901 2975 3162 3200 3239 3377 3382 3398 3443 3645 3461+ 3464 34670
3473% 3475 3530 3609+« 3612« 3614 3619« 3621« 3623
TEMPY 000140 3964 397 766+ 767 768+ 777 782+ 783 784+ 2030 2063 2105 2150
2183 2220 2280 2294x 2297 2312« 2314 2321 2328 235(C 2623 2647 2653
2535 2597 2625 2659 2682 2816 2839 2849 2861~ 2873 2906 2927 2969
3013 3044 3285 3347« 3349+ 3351« 3352 3362 3407« 3408 3444 3446 3L9
3454 3460+ 3531 3551+ 3553

TEMPZ2 000142 3984 399 2031 2032+ 2036 2044 2064 2106 2109« 2114 2122 2129 2151
2153 2175 2184 2186 2203 2221 2241 2261 2278+ 228 2288 2315 238%
2683 2721 2760 2860 2861 2880 2946 3075 3104 338 31¢€1 3313 3376

3378« 3389 3304+ 3403% 3423  3424v 3426 2587

P8 000146 4014 3684+
TPS 000144 4004 3682
TSTBO 002644 980 9944
Ts181 010676 2329 23454
TST0 0044 34 13964

TSTY 012720 28084

TYPE 017004 412 36754

474
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$CC1Y 017256 1023 1082 '084 1105 1119 1147 1170 129° 1374 1478 1481 1611 1525

1553 1576 1698 1781 1811 1868 1873 1901 1992 2443 2445 2480 505
2548 2571 2700 2785 2926 2937 2976 3025 3049 3179 3264 3298 356
3361 }397 3552 3572 3613 362% 37674

$CC12 01730 7797 123, 1256 1326 1603 16 1663 1733 2602 2638 2664 2739 3080
3117 3143 3218 3777

$CC33  01732C 1102 1178 1508 1586 1955 2478 2579 2857 2973 3057 3463  3786s

$¢C17 017340 1989 3499 3549 37954

$CT2 017106 1383 1790 2794 3273 37084

$CC3 017196 1125 1528 2505 2996 3425  3717#

$:C4  01715C 1065 1065 G265 287 1312 1371 1405 1407 1672 16% 1719 1778 184%
1963 1985 2353 2%55 2465  QuBB 2673 2696 2725 2782 2819 2821 312

_ 3175 3204 3261  I328 3471 3474 3539 37274

$CC5 017172 $107 1317 1156 1335 7420 1486 1513 1523 1562 1742 1803 1862 2652
2500 2530 2rk8 5935 2961 2981 2991 3035 3227 3290 3350 312 3416

$CC7 017214 1204 1232 1263 1285 ‘610 1639 1670 1692 1909 2609 2636 2671  26%
5087 3115 3150 73 3406 3748

$CPUOP 000126 3544

SOEVCT 000106 3454

SENDAD 016734 302 36504

SENV 000176 3504

SENVM 000117 3314 3675

SETABL 000116 398 424

SETEND 000126 3614 384

SFATAL 000100 3428

$HD = 000003 282 283

SHIBTS 000126 378

SMAIL 000076 308 380 36 426

SMBADR 000130 3804

SMSGAD 000112 3678

$MSGLG 000114 3484

SMSGTY 000076 3,10

$PASS 000104 To40 3663« 3644

$PASTM 000134 3828

$svPC = 001000 3000 305

$SwR = 160000 282 283

$SWREG 000120 3508

$TESTN 000102 334 435 903 977 3654+

$IN = 000124 2820 334 Lh2 447 L4LBE 47° 476 47784 493 498 4994 515 524
5258 542 S47 54BN 569 574 575# 592 597 598 618 623 624N
646 BS] 6508 682 687 688 736 741 7628 791 796 7978 839
844 845K 956 961 92% 990 995 9964 1013 1018 1019 1053 1058
1059 1088 1093 109%# 1125 1130 11314 1160 1165 1166 1185 1190  1191#
1314 1219 1200w 1241 1246 124ew 1267 1272 1273 1298 1303 13044 1339
Sui 1545 1392 1397 1%9Bw 1424 1429 14304 1651 1456 1457 1496 14699
13004 1537 1536 15374 1566 1571  1572¢ 1591 1596 15974 1621 1626 16274
1648 1653  1654¢ 1476 1679 16804 1705 1710 17118 1766 1751 1758 1791
1996  1707# 1821 1826  1o27# ‘850 1855 18564 1883 1888 18894 1925 1930
19314 1966 1971 19724 2004 2009 20104 2054 2059 2060 2096 2101 21024
2120 2145 2146w 2210 2215 22164 2270 2275 2276 2304 2309 2310w 234!
S306 537w 9377 038> 2383 2410 2415  2416M 2466 2471 2erow 2523 2528
SE508 5660 5565 2566 0589 2594 2595a 2617 2622 26234  Q64B 2653 2654
565, 5675 oeBO® 2710 2715 27168 2749 2754 Q7554 2804 2BO9 28104 283
583 o837 $B93 2898 o999 0958 0963 294w 3002 3007 30084 3036 3041
ace  S067 3072 3073 309 (7 1o 3127 3132 3133w 3153 3158 3159«




CvkAAC MACY11 30A(1052)
09-0C7=-78 08:58

CVKAAC,.P11
$TSTM 000132
SUNIT 000110
SUNITM 000136
SUSWR 000122
= 017362
JYPE =
% 3 T 126
A = 016352
..8 = 0163%
..C = 0000e”

09-0CT=-78 (8:
3189 3194
2343 T3L4Lm
35280 3560

IB1#

LAY

83n

I53n
290# 296

189 391w
19804 9814
£S52#

3354 3647
3684 373
19774 19804
19774 1978
7549 35514
15778 198(0w#

59 PAGE 111
31954 3228
2368 3373
3565 35664

3200 3014
193 3954
19884 19894
3668

19884 19914
19804 1981
3552

19884 19914

3233
33744
3638

3034
3974
19914

3535+
1988#

35354

F 9

T234n
3435
36394

305#
I9GH
19924

35384
1989

35384

(ROSS REFERENCE TABLE -- USER SYMBOLS

3277
3440

3194
405
35354

3548#
1991#

I548#

368
4114
353¢6n

3551»
1992

35514

35354

3305
3486

371a
L3
35364

3536

3310
3487

35384

3311#
3521

3854
19774
35494

3539

SEQ 010v

3338
3527

I187#
1978#
35514

35484
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CYxAAC, P11 09=-0(7=-78 08:58 CROSS REFERENCE TABLE == MACRO NAMES SEQ 0110
{OMMEN »
ENDLOM 1%
£RROR 313x 465 499 513 538 563 58% 611 625 630 634 638 642 657
14 &77 693 702 707 712 721 726 733 747 752 757 762 770 774
779 787 301 806 811 816 823 829 836 851 856 865 870 875 881
891 900 905 910 916 919 925 93 939 946 952 983 997 1026 1032
037 1043 1050 1060 1071 1078 1095 1112 1132 1142 1150 1173 1182 1200 1209
1278 1238 1248 1259 1281 1295 1305 1320 1329 1346 1356 1366 1377 1399 1415
1437 1442 1448 1467 1474 1488 1501 1518 1538 1548 1556 1579 1588 1606 1615
1635 “645 1655 1666 1688 1702 1712 1727 1736 1753 1763 1773 1784 1806 1815
1836 1847 1877 1896 1904 1914 1922 1932 1942 1949 1958 1982 1996 2017 2025
2038 2047 2077 2092 2119 2134 2155 2168 2178 2188 2206 2234 2244 2264 2291
2300 2323 2331 2365 2371 2393 2398 2404 2417 2431 2438 2455 2460 2495 2511
2530 2543 2552 2574 2583 2605 2614 2632 2642 2655 2667 2690 2704 2717 2733

ESCAPE 14
GE TPR] 14
GF T SWR 14

HLT 3104 L64 488 512 237 562 588 610 625 630 634 638 642 657 665

671 676 693 701 707 712 721 726 732 747 751 757 762 770 773

779 786 801 806 811 816 823 829 835 850 856 864 870 875 881

890 910 915 919 925 931 939 946 951 982 997 1026 1032 1037 1043

1049 1060 1071 1078 1095 1112 1132 1142 1150 1173 1181 1200 1208 1228 1237

1248 1259 1281 1294 1305 1320 1329 1346 1356 1366 1377 1399 1415 1437 1442

14647 1467 1474 1487 1501 1518 1538 1548 1556 1579 1587 1606 1614 1635 1644

1655 1666 1688 1701 1712 1727 1736 1753 1763 1773 1784 1806 1814 1836 1846

1876 1896 1904 1914 1921 1932 1942 1949 1958 1982 1995 2017 2025 2038 6

2076 2091 2118 2133 2155 2168 2177 2188 2205 2234 2243 2263 2 2299 2323

2330 2365 2370 2393 2398 2403 2417 2431 2438 2455 2460 2495 2510 2330 2543

3 3600
3741 3752 3761 377 3780 3789

3796

HLT) 212% 899 905

MF PS 3100 1979 1990 3537 3550

MTPS 08¢ 1976 1987 3534 2547

MuLT ¥ ;

NEWTST ir

NWTEST LT 4 442 L7 497 519 542 569 592 618 646 682 736 791 839 956
990 1013 1053 1088 1125 1160 1785 1214 1241 1267 1298 1339 1392 14624 1451
1494 31 1566 1591 1621 1648 1074 1705 1746 1791 1821 1850 1883 1925 1966
2004 2054 2096 2140 2210 2270 2304 2341 2377 2410 2466 2523 2560 2589 2617
2648 2674 2710 2749 2804 2831 2893 2958 3002 3036 3067 3096 3127 3153 3189

POP 322§. 3277 2305 3338 3368 3435 7481 3521 3560

PUSH »

REPORY 14

SEQ(HX 174 446 475 L97 523 546 573 596 622 £50 686 740 755 843 960
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994 1017 1057 1092 1129 1164 1189 1218 1245 127° 1302 1343 1396 1428 1455
1498 1535 1570 1595 1625 1652 1678 1709 1750 1795 1825 1854 1887 1929 1970
2008 2058 2100 2144 2214 2274 2308 2345 2381 2614 2470 2527 2564 2593 2621
265¢ 2678 2714 2753 2808 2835 2897 2962 3006 3040 3071 3100 nn 3157 3193
3232 3281 3309 3342 3372 3439 3485 3526 3564 3637

SEQUEN 3en L47 76 498 524 547 574 597 623 651 687 741 796 844 961
995 1018 1058 1093 1130 1165 1190 1219 1246 1272 1303 1344 1397 1429 16456
499 © 36 157 1596 1626 1653 1679 1710 1751 1796 1826 1855 1888 1930 1971
2009 ¢ 2 2107 2145 2215 2275 2309 2346 2382 2415 2471 2528 2565 2594 2622
2653 & S 2715 2754 2809 2836 2898 2963 3007 3041 3072 3101 3132 3158 3194
3233 328¢ 4310 3343 3373 3440 3486 3527 3565 3638
SETPRI 14
SE TUP 14
SK P 14
SLASH 14
STARS 1# 2724 292 298 3164 338 365 367 374 442 444 471 473 493 495
519 521 542 544 569 571 592 594 618 620 646 648 682 684 736
738 791 793 839 841 956 958 990 992 1013 1015 1053 1055 1088 1090
1125 1127 1160 1162 1185 1187 1214 1216 1241 1243 1267 1269 1298 1300 1339
1341 1392 1394 1424 1426 14651 1453 1494 1496 1531 1533 1566 1568 1591 1593
1621 1623 1648 1650 1674 1676 1705 2707 1746 1748 1791 1793 1821 1823 1850
1852 1883 1885 1925 1927 1966 1968 2004 2006 2054 2056 2096 2098 2140 2142
2210 2212 2270 2272 2304 2306 2341 2343 2377 2379 2410 2412 2466 2468 2523
2525 2560 2562 2589 2591 2617 2619 2648 2650 2674 2676 2710 2712 2749 2751
2804 2806 2837 2833 2893 2895 2958 2960 3002 3004 3036 3038 3067 3069 3096
3098 3127 3129 3153 3155 3189 3191 3228 3230 3277 3279 3305 3307 3338 3340
3368 3370 3435 3437 3481 3483 3521 3523 3560 3562 3658
SWRSU 1L
TYPBIN 14
TYPDE( 14
TYPNAM 1»
TYPNUM 1
TYPOCS 1
TYPOCT 1L
TYPTXT 1L
$C17 3074 660 696 859 894
SNWTST 315# 442 471 493 519 542 569 592 618 646 682 736 791 839 956
990 1013 1053 1088 1125 1160 1185 1214 1241 1267 1298 1339 1392 1424 1451
1494 1531 1566 1591 1621 1648 1674 1705 1746 1791 1821 1850 1883 1925 1966
2004 2054 2096 2140 2210 2270 23504 2341 2377 2410 2466 2523 2560 2589 2617
2648 674 2710 2749 2804 2831 2893 2958 3002 3036 3067 3096 3127 3153 3189
3228 3277 3305 3338 3368 3435 3481 3521 3560
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"\KAAC MACY'1 30A(1052) 09-0(T-78 08:59 PAGE 1°%
~yAAAC P11 G9=-0( T=78 08:58 (ROSS REFERENCE TABLE == MACRO NAMES SEQ (17,
LS(MTA '
.$082) 14
.$0820 K
.$D1V N
. $EOP K
.$ERRO "
.SERRT ‘a
SSMULT a
. SPOWE K
. SRAND “u
$RDDE »
$RDO( 1w
$RF AD It
.$R2A7 14
. $SAVE 4
.$582D a
.$5820 14
$3C0P N
£S12E 14
$SUPR 4
$ TRAP 10
$TYPS 1%
$1YPD 1
$7YPE i
$TYPOQ 14
. $40CA 14
.1170 ¥

. ABS. (017362 GO0

ERRORS DETECTED:

(VKAAC .BIN,CVKAA
RUN-TIME: 13 18

RUN-TIME RATID:

ORE JSED: 32k

U Y |




